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B.Com/ B.Com. (CA)/ B.Com.(CS) DEGREE 
EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examination 

First Semester 

ÁoPU Piu[PÒ 

(Common for B.Com/B.Com (Computer Application)/ 
B.Com (Corporate secretaryship)) 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

                                                       £Sv A  (10  2  = 20) 

AøÚzx ÂÚõUPÐUS® Âøh u¸P. 

1. ÁnUP •iÄ Gß£x GßÚ? 

2. J¸ ©h¼ß öÁÎz ÷uõØÓzøu £ØÔ }º AÔÁx GßÚ? 

3. P¸zxøμU Piuzvß ÷|õUP® ¯õx? 

4. Âsn¨£U Piu® – Áøμ¯Ö. 

5. ÂÍUSP: •øÚÄU Piu[PÒ. 

6. {øÚÄÖzuÀ Piuzvß £¯ßPøÍ TÖP. 

7. _ØÖU Piu[PÒ Gß£Ú ¯õøÁ? G¢öu¢u `Ì{ø»PÎÀ 
AøÁ GÊu¨£k®. 

Sub. Code 

4BCO111/4BCC111/4BCS111
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8. Â¯õ£õμ _ØÓÔUøP°ß £¯ßPøÍ u¸P. 

9. {PÌa] SÔ¨¦ u¯õ›zu¼ß ÷|õUP® ¯õx? 

10. C¯US|º Gß£õº ¯õº? 

                                       £Sv B  (5  5  = 25) 

AøÚzx ÂÚõUPÐUS® Âøh u¸P. 

11. (A) J¸ ]Ó¢u ÁoP©h¼ß •UQ¯U TÖPøÍ ÂÍUSP. 

(AÀ»x) 

 (B) ÁoPU Piu[PÎß ö£õx Aø©¨¦ £ØÔ ÂÁ›. 

12. (A) ÷©õmhõº {Ö©zvß ÷©»õÍº £uÂUS Âsn¨¤zx 
Piu® ÁøμP. 

(AÀ»x) 

 (B) Á[Q ÷©À Áøμ£ØÖz öuõøPø¯ AvP›UP ÷Ási 
Á[Q ÷©»õÍºUS Piu® GÊxP. 

13. (A) Á`À Piu[PÒ GÊx® ö£õÊx ¤ß£ØÓ ÷Ási¯ 
£i{ø»PÒ £ØÔU TÖP. 

(AÀ»x) 

 (B) ÁoP \õßÖøμPÒ ©ØÖ® uSv{ø» Â\õμønPÒ 
Gß£Ú ¯õøÁ? AÁØÔß ÷uøÁø¯U TÖP. 

14. (A) ¦v¯ PnUøP öuõh[P ÷Ási Á[Q ÷©»õÍ¸US 

Âsn¨£® ÁøμP. 

(AÀ»x) 

 (B) v¸a] PÚμõ Á[Q°À PnUS øÁzxÒÍ ¦v¯ 
ÁõiUøP¯õÍº J¸Á›ß {v {ø»ø¯ AÔ²® 
ö£õ¸mk AÁμx Á[QUS Piu® JßÖ GÊxP. 
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15. (A) {Ö©U TmhzvÀ GkUP¨£k® wº©õÚ[PÎß 
ÁøPPøÍ ÂÍU]a ö\õÀP. 

(AÀ»x) 

 (B) ¦ÒÎ Â£μ SÔ¨¤¼¸¢x AÔUøP u¯õ›US® 
•øÓPøÍ ÂÍUSP. 

                                       £Sv C  (3  10  = 30) 

GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS  Âøh u¸P. 

16. Piuzvß ÁøPPøÍ ÂÁ›UP. 

17. J¸ ¦PÌö£ØÓ {ÖÁÚzvß ÂÍ®£μ® öuõhº£õP “PoÛ 

vmhªk£Áº” £uÂUS Âsn¨£® JßÖ GÊxP. 

18. ¦xöhÀ¼°À EÒÍ E[PÍx \μUPÎ¨£Á¸US, \μUSPøÍ¨ 
ö£ØÖU öPõshøu²®, öuõøP ö\¾zv¯ Â£μ[PøÍ²® 
öu›¯¨£kzx®£i J¸ Piu® GÊxP. 

19. £g\õ¨ ÷|åÚÀ Á[Q°ß PõøμUSi QøÍ°¼¸¢x ©v¨¦ 
ªUP ÁõiUøP¯õÍ¸US AÁμx SÔzu Põ» øÁ¨¦PøÍ 
÷©¾® ¦x¨¤UP ÷Ási J¸ Piu® GÊxP. 

20. AÔUøP°ß ÁøPPøÍ ÂÍUPÄ®. AÁØøÓ u¯õ›US® 
ö£õÊx PÁÚzvÀ öPõÒÍ ÷ÁskÁÚ ¯õøÁ? 

––––––––––––––– 
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B.Com./B.Com.(CA)/B.Com.(CS)  DEGREE 
EXAMINATION, APRIL 2021 &  

Supplementary/Improvement/Arrear Examinations 

Second Semester 

A¾Á»P ÷©»õsø© 

(Common for B.Com./B.Com. (Computer 
Application)/B.Com. (Corporate Secretaryship)) 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 £Sv A  (10  2 = 20) 

AøÚzx ÂÚõUPÐUS® Âøh¯Î 

1. |ÃÚ A¾Á»Pzvß C»UPn® u¸P. 

2. ÁoUP Piu® GßÓõÀ GßÚ? 

3. Áøμ¯Ö : BøÚ¯ÖUPÒ. 

4. GÊzx ‰»® uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

5. ÷Põ¨¤ku¼ß ö£õ¸Ò u¸P. 

6. öuõhº GÊxö£õ¸Ò – Áøμ¯Ö. 

7. Po¨ö£õÔ°ß £¯ß ¯õx? 

8. A¾Á»P \õuÚ[PÒ H÷uÝ® I¢vß ö£¯º SÔ¨¤hÄ®. 

Sub. Code 
4BCO211/ 
4BCC211/ 
4BCS211 
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9. SÖ AÔUøP GßÓõÀ GßÚ? 

10. A¾Á»P AÔUøP  GßÓõÀ GßÚ? 

 £Sv B  (5  5 = 25) 

AøÚzx ÂÚõUPÐUS® Âøh¯Î. 

11. (A) £oø¯ GÎuõUSu¼ß |ßø©PÒ ¯õøÁ? 

(AÀ»x) 

 (B) A¾Á»Pzvß AßÓõh A¾ÁÀPøÍ _¸UQ u¸P. 

12. (A) Áõ´ ö©õÈzuPÁÀ ©ØÖ® GÊzx‰» uPÁÀ 
BQ¯ÁØøÓ ÷ÁÖ£kzv PõmkP. 

(AÀ»x) 

 (B) öÁÎ¨¦ÓzuPÁÀ öuõhº¤ß ÁøPPøÍ _¸UP©õP 
GÊxP. 

13. (A) |ÃÚ A¾Á»PzvÀ GÊzx¨ £o°ß 
•UQ¯zuÁzøu ÂÍUSP. 

(AÀ»x) 

 (B) £μÁ»õUP¨£mh ÷Põ¨¥k •øÓ°ß |ßø©PÒ 
¯õøÁ? 

14. (A) A¾Á»P £¯ß£õmiÀ Po¨ö£õÔ°ß AÁ]¯® 
SÔzx GÊxP. 

(AÀ»x) 

 (B) A¾Á»P \õuÚ[PÒ £ØÔ SÔ¨¦ ÁøμP. 

15. (A) AÔUøPPÎß ÁøPPøÍ ÂÁ›.   

(AÀ»x) 

 (B) H÷uÝ® I¢x ö£õx ÁoP ö\õØPøÍ ÂÁ›UP. 
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 £Sv C  (3  10 = 30) 

GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS Âøh¯Î. 

16. |ÃÚ A¾Á»P ö\¯À£õkPøÍ ÂÁ›. 

17. ø©¯¨£kzu¨£mh Ag\ÀxøÓ°ß ußø©PøÍ SÔ¨¤kP. 

18. |À» ÷Põ¨¥mk •øÓ°ß •UQ¯ A®\[PÒ ¯õøÁ ? 

19. ¦ÒÎ Â£μ® öuõSzuÎUS® C¯¢vμzvß £¯ßPÒ 
¯õøÁ ? 

20. ¤›vv¸zu¼ß £¯ßPøÍ ÂÁ›. 

  

———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations

First Semester 

Commerce 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What are the limitations of accounting? 

 PnUQ¯¼ß SøÓPÒ ¯õøÁ? 

2. How will you collect financial data? 

 G[VÚ® {va ö\´vPÒ vμmkÃº? 

3. What is error of omission? 

 Âk¤øÇ GßÓõÀ GßÚ? 

4. What is error of commission? 

 ö\´¤øÇ GßÓõÀ GßÚ? 

5. What is meant by scrap value? 

 SøÓ ©v¨¦ £ØÔ AÔÁÚ ¯õx? 

6. Why depreciation is provided? 

 Hß ÷u´©õÚ® ÁÇ[P¨£kQÓx? 

Sub. Code 
4BCO1C1 
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7. What are revenue expenditure? Illustrate. 

 •u¼Úa ö\»ÄPÒ Gß£Ú ¯õøÁ? GkzxUPõmkPÒ u¸P. 

8. What do you mean by non-profit organisation? 

 C»õ£ ÷|õUP©ØÓ {ÖÁÚ® GßÓõÀ GßÚ? 

9. Define : Average due date. 

 Áøμ¯Ö : \μõ\› uÁøn |õÒ. 

10. What is red ink interest? 

 ]P¨¦ ø© Ámi GßÓõÀ GßÚ? 

 Section B (5  5 = 25) 

Answer all the questions. 

11. (a) What is Journal? How does it differ from Ledger? 

  SÔ¨÷£k GßÓõÀ GßÚ? Ax GÆÁõÖ 
÷£÷μmi¼¸¢x ÷ÁÖ£kQßÓÚ? 

Or 

 (b) Pass journal entries for the following transactions : 

  (i) Rama started business with cash Rs. 1,00,000 

  (ii) Purchased furniture for cash Rs. 40,000 

  (iii) Paid rent Rs. 500 

  (iv) Purchased goods on credit Rs. 10,000 

  (v) Depreciation of Furniture Rs. 200. 
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  RÌUPsh |hÁiUøPPÐUPõÚ SÔ¨÷£mk¨ £vÄPÒ 
u¸P : 

  (i) μõ©õ ¹. 1,00,000 öμõUPzxhß Â¯õ£õμ® 
Bμ®¤zuõº 

  (ii) ¹. 40,000 öμõUPzvØS AøÓP»ß 
Áõ[P¨£mhÚ 

  (iii) ÁõhøP ö\¾zu¨£mhx ¹. 500 

  (iv) PhÛÀ ¹. 10,000 US \μUSPÒ Áõ[P¨£mhÚ 

  (v) AøÓP»ßPÎß ÷u´©õÚ® ¹. 200. 

12. (a) State the types of errors and explain them with 
examples. 

  ¤øÇPÎß ÁøPPøÍU TÔ, AÁØøÓ 
GkzxUPõmkPÐhß ÂÁ›. 

Or 

 (b) Write down the rectifying journal entries for the 
following errors : 

  (i) The sales returns book has been undercast by 
Rs. 5,000 

  (ii) Goods worth Rs. 1800 sold to Bharath has 
been credited to his account 

  (iii) Purchase of furniture Rs. 50,000 has been 
entered in the Purchases Account 

  (iv) Cash Rs. 2,700 received from Sekar has been 
posted to his account as Rs. 7200 

  (v) A bill received from X for Rs. 4,000 has been 
posted to Bills Payable Account. 
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  ¤ßÁ¸® PnUQ¯À ¤øÇPÐUS v¸zu¨£vÄPøÍ 
GÊxP. 

  (i) ÂØ£øÚz v¸¨£ Hk ¹. 5,000 SøÓÁõP 
Tmh¨£mkÒÍx 

  (ii) £μzvØS ÂØÓ \μUS ¹. 1,800 AÁº PnUQÀ 
ÁμÄ øÁUP¨£mkÒÍx 

  (iii) AøÓ¯oPÒ Áõ[Q¯x ¹. 50,000 öPõÒ•uÀ 
PnUQÀ £ØÖ ö\´¯¨£mkÒÍx 

  (iv) ÷\P›hª¸¢x ö£ØÓ öμõUP® ¹. 2,700 Gß£x 
¹. 7,200 GÚ AÁμx PnUQÀ GÊu¨£mkÒÍx 

  (v) X&Chª¸¢x ö£ØÓ ¹. 4,000 ©õØÖa^mk 
ö\¾zx ©õØÖa^mkU PnUQÀ £v¯¨£mkÒÍx. 

13. (a) Explain the causes of depreciation. 

  ÷u´©õÚzvß Põμnzøu ÂÍUSP. 

Or 

 (b) A machinery was purchased on 1.1.2005 for  
Rs. 40,000. The same year in June another machine 
was purchased for Rs. 15,000  and Rs. 5,000 were 
spent on its installation. On 30.6.2007 the second 
machine was sold for Rs. 15,000 prepare machine 
a/c upto 31.12.2007 by depreciating it at 10% under 
Reducing Instalment method. 

  1.1.2005 AßÖ ¹. 40,000 ØS J¸ C¯¢vμ® 
Áõ[P¨£mhx. A÷u Bsk 30 áúÛÀ ÷©¾® J¸ 
C¯¢vμ® Áõ[Q¯x. ¹. 15,000 ØS Cuß {ÖÁÚa 
ö\»Ä ¹. 5,000, 30.6.2007 AßÖ CμshõÁx 
C¯¢vμ® ¹. 15,000 ØS ÂØP¨£mhx. SøÓ¢x ö\À 
•øÓ°À 10% ÷u´©õÚ® GÊx 31.12.2007 Áøμ 
C¯¢vμU PnUS u¯õ›UP. 
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14. (a) Distinguish between Trading Account and Profit 
and Loss Account. 

  Â¯õ£õμ PnUQØS®, C»õ£ |mh PnUQØS® 
Cøh÷¯ EÒÍ ÷ÁÖ£õmiøÚU TÖP. 

Or 
 (b) Calculate the amount of stationary to be debited to 

Income and Expenditure account during 2004 : 
  (i) Amount paid for stationery during the year 

2004, as her receipts and payments account 
Rs. 1,750 

  (ii) Stock of stationery on 1.1.2004 – 150 
  (iii) Paid advance for stationery on 31.12.2004 – 

Rs. 200 
  (iv) Paid advance for stationery during Dec 2003 – 

Rs. 250 but received stationery during the 
year 2004 

  (v) Creditors for stationery on 1.1.2004 – Rs. 370 
  (vi) Stock of stationery on 31.12.2004 – Rs. 415 
  (vii) Creditors for stationery on 31.12.2004 –  

Rs. 300. 
  ¤ßÁ¸ÁÚÁØÔ¼¸¢x Á¸Áõ´ ö\»ÂÚU PnUQÀ 

2004 Põs¤UP¨£k® GÊx ö£õ¸ÐUPõÚ £ØÖ 
öuõøP PnUQkP 

  (i) Á¸Áõ´ ö\»ÂÚ PnUQß£i 2004&À 
GÊxö£õ¸ÐUS ö\¾zv¯x ¹. 1,750 

  (ii) GÊxö£õ¸Îß C¸¨¦ (1.1.2004) & ¹. 150 
  (iii) GÊxö£õ¸ÐUPõP 31.12.2004 AßÖ •ßTmi 

ö\¾zv¯x ¹. 200 
  (iv) GÊxö£õ¸ÐUPõP i\®£º 2003 AßÖ 

•ßTmi ö\¾zv¯x ¹. 250. GÊx ö£õ¸Ò 
2004&À ö£Ó¨£mhx 

  (v) GÊxö£õ¸ÐUPõÚ PhÜ¢÷uõ›ß C¸¨¦ 
(1.1.2004) ¹. 370. 

  (vi) GÊxö£õ¸Îß C¸£¨¦ (31.12.2004) ¹. 415 
  (vii) GÊxö£õ¸ÐUPõÚ PhÜ¢÷uõ›ß C¸¨¦ 

(31.12.2004) ¹. 300. 
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15. (a) Explain forward and backward methods. 

  ÂÁ› : •ß÷ÚÖ® ©ØÖ® ¤ßÛÓ[S® •øÓPÒ. 

Or 

 (b) Make out an account current to submitted to ‘X’ by 
‘Y’ on 30th June 2008. The following transactions in 
the books of ‘X’. 2008 Rs. 

  January 1 ‘X’ sells goods to ‘Y’ 1,000 

  January 15 ‘Y’ sells goods to ‘X’ 800 

  February 4 ‘X’ sells goods to ‘Y’ 500 

  Interest to be taken into account at 10% per annum. 

  áúß 30, 2008 ® |õ÷Íõk •iÁøh²® X Ehß Y 
|h¨¦U PnUS u¯õ›UP. ¤ßÁ¸® |hÁiUøPPÒ X 
HkPÎÀ EÒÍÚ. 2008 ¹. 

  áÚÁ› 1 X-Y US \μUS ÂØÓx 1,000 

  áÚÁ› 15 Y-X US \μUS ÂØÓx 800 

  ¤¨μÁ› 4 X-Y US \μUS ÂØÓx 500 

  Bsk JßÖUS Ámi 10 \uÃu® PnUQh¨£kQÓx. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Pass journal entries for the following transactions in the 
books of Kannan 
2007   Rs. 

January 1 Kannan started business with 50,000
 5 Bought goods for cash  30,000
 7 Sold goods for cash  25,000
 10 Bought goods from Kalaimathi 20,000
 12 Sold goods to Ravi 10,000
 15 Paid salary 1,000 
 18 Dividend received  5,000 
 25 Paid rent 2,000 
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 RÌUPsh |hÁiUøPPÐUS Psnß Gß£Áº HmiÀ 
SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

2007   ¹. 
áÚÁ› 1 Psnß öuõÈÀ öuõh[Q¯x  50,000
 5 öμõUPzvØS öPõÒ•uÀ ö\´ux 30,000
 7 öμõUPzvØS ÂØ£øÚ ö\´ux 25,000
 10 Pø»©v°hª¸¢x ö£õ¸mPÒ Áõ[Q¯x 20,000
 12 μÂUS ö£õ¸mPÒ ÂØÓx  10,000
 15 \®£Í® öPõkzux 1,000 
 18 £[Põuõ¯® ö£ØÓx 5,000 
 25 ÁõhøP ö\¾zv¯x 2,000 

17. Prepare a bank reconciliation statement as on 30.09.2006 

 (a) Balance as per pass book (Cr.) Rs. 9,000 

 (b) Cheques issued but not presented Rs. 15,000 

 (c) Cheques deposited but not credited Rs. 1,500 

 (d) The credit side of the cash column has been  
over-added by Rs. 500 

 (e) Banker has given credit in the pass book for interest 
Rs. 150 

 (f) He has also given a wrong credit relating to some 
other account Rs. 300. 

 30.09.2006&UPõÚ Á[QUPnUS \›UPmk® £mi¯À 
u¯õ›UPÄ® : 

 (A) ö\À¾¨ ¦zuPzvß£i¯õÚ C¸¨¦ (ÁμÄ) ¹. 9,000 

 (B) ÂkUP¨£mk BÚõÀ •ßÛh¨£hõu Põ÷\õø»PÒ ¹. 
15,000 

 (C) øÁ¨¦ ö\´¯¨£mk, BÚõÀ ÁμÄ øÁUP¨£hõu 
Põ÷\õø»PÒ ¹. 1,500 

 (D) öμõUP¨ £zv°ß ÁμÄ¨ £Sv°À ¹. 500 AvP©õPU 
Tmh¨£mkÒÍx 
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 (E) Á[Q¯º ö\À¾¨¦zuPzvÀ ÁmiUPõP ¹. 150&US 
ÁμÄ öPõkzxÒÍõº 

 (F) AÁº ÷ÁöÓõ¸ PnUS öuõhº£õÚ uÁÓõÚ ÁμÄ 
JßÔø¯²®, ¹. 300&US öPõkzxÒÍõº. 

18. ATS manufacturing company purchased on 1 April 2010, 
machinery for 4,50,000 and spent 50,000 on its 
installation. After having used it for three years it was 
sold for 3,85,000. Depreciation is to be provided every 
year at the rate of 15% per annum on the fixed 
installment method. Prepare machinery account and 
depreciation account for three years ends on 31st March 
every year. 

 ATS u¯õ›¨¦ {ÖÁÚ® 1.4.2010 AßÖ ¹. 4,50,000 
©v¨¦ÒÍ C¯¢vμzøu Áõ[Q¯x. Aøu {ÖÄÁuØPõÚ 
ö\»Ä ¹. 50,000. ‰ßÖ BskPÒ £¯ß£kzu¨£mh ¤ÓS 
AÆÂ¯¢vμ® ¹. 3,85,000 US ÂØP¨£mhx. Bsk÷uõÖ® 
15% Ãu® ÷u´©õÚ® {ø»z uÁøn•øÓ°À }UP¨£h 
÷Ásk®. PnUPõsk ©õºa 31 B® |õ÷Íõk •iÁuõPU 
P¸v C¯¢vμ PnUøP²®, ÷u´©õÚ PnUøP²® u¯õº 
ö\´P. 

19. From the figures given below, prepare an income and 
expenditure account for 31.12.1997 

Receipts Rs. Payments Rs. 

To opening balances :  By salaries 4,800

In hand 200 By stationeries 200

At bank 1,600 By Rent 500

To subscriptions :  By Bicycle purchased 300

1996 500 By national savings 

1997 8,300 Certificate 3,000

1998 600 By Help to poor 
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To sale of investments 2,000 students 2,000

To sale of old  By balance : 

Furniture   in  hand 300

(Book value Rs. 400) 300 at bank 2,400

 13,500  13,500

 Subscription for 1997 still receivable were Rs. 700. 
Interest on national savings certificate due Rs. 100 and 
rent outstanding Rs. 60. 

 31.12.1997&À •iÁøh¢u BsiØPõÚ Á¸Áõ´ ö\»ÂÚU 
PnUøP ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x u¯õ›UPÄ® : 

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

öuõhUP C¸¨¦ :  \®£Í® 4,800

øP°À öμõUP® 200 Aa_, GÊx ö£õ¸Ò 200

Á[Q öμõUP® 1,600 ÁõhøP 500

\¢uõ :  ø\UQÒ Áõ[Q¯x 300

1996 500 ÷u]¯ ÷\ª¨¦ 

1997 8,300 £zvμ® Áõ[Q¯x 3,000

1998 600 HøÇ ©õnÁºPÐUS

•u½kPÒ ÂØÓx 2,000 öPõkzux 2,000

£øÇ¯ AøÓP»ß  C¸¨¦ : 

ÂØÓx  øP°À öμõUP® 300

(Hmk ©v¨¦ ¹. 400) 300 Á[Q öμõUP® 2,400

 13,500  13,500

 1997 BskUS {¾øÁ°À EÒÍ \¢uõ ¹. 700. ÷u]¯ 
÷\ª¨¦ £zvμzvÀ Áμ÷Ási¯ Ámi ¹. 100. öPõk£h 
÷Ási¯ ÁõhøP ¹. 60. 
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20. Find out the average due date of the following bills 
accepted by a trader who wishes to settle then with one 
single payment. 

Date of bill Amount Rs. Due date

1.7.90 85,000 6.11.90 

30.07.907 92,000 3.12.90 

3.9.20 63,000 6.11.90 

15.9.90 45,000 18.12.90 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk J¸ Â¯õ£õ› 
Esi¯ÀPøÍ J÷μ uÁøn°À ö\¾zu J¨¦U öPõshõº. 
CÆÂμ[PÐUPõÚ \μõ\› uÁøn |õøÍ PnUQkP. 

^mk |õÒ öuõøP ¹. öPk|õÒ 

1.7.90 85,000 6.11.90 

30.07.907 92,000 3.12.90 

3.9.20 63,000 6.11.90 

15.9.90 45,000 18.12.90 

———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2014 onwards) 

Time: 3 Hours Maximum: 75 Marks 

 Section -A  (10× 2 = 20) 

Answer all questions. 

1. Explain the nature of business. 

 Â¯õ£õμzvß ußø©ø¯ ÂÁ›. 

2. Bring out the meaning and definition of organisation. 

 Aø©¨¦ Gß£uß ö£õ¸Ð® C»UPn•® u¸P. 

3. Define: Co-operative society. 

 Áøμ¯Ö : TmkÓÄ \[P®. 

4. Who is called sole trader? 

 uÛ ÁoPº Gß£Áº ¯õº? 

5. Define:  Small unit 

 Áøμ¯Ö : ]Ö öuõÈÀ. 

6. What is Mass production? 

 ö©õzu EØ£zv GßÓõÀ GßÚ? 

Sub. Code 
4BCO1C2 
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7. Who is full time director? 

 •Ê ÷|μ C¯US|º GßÓõÀ GßÚ? 

8. What is Oligarchy in company management? 

 {Ö© ÷©»õsø©°À J¸ ]»º AvPõμ® GßÓõÀ GßÚ? 

9. What is public utilities? 

 ö£õxa ÷\øÁ {ÖÁÚ® GßÓõÀ GßÚ? 

10. What is Dual Price? 

 Cμmøh Âø» GßÓõÀ GßÚ? 

 Section - B                       (5 × 5 = 25) 

Answer all the question. 

11. (a) Explain the types of trade. 

  Â¯õ£õμ ÁøPPøÍ ÂÁ›. 

 Or 

 (b) Discuss the division of business. 

  Â¯õ£õμzvß ÷Põmh[PøÍ ÂÁ›UP. 

12. (a) Write a note on public limited company. 

  ö£õx Áøμ¯Ö {Ö©® £ØÔ SÔ¨¦ GÊxP. 

Or 

 (b) Explain the symbols of ideal form of organization. 

  |À» {ÖÁÚzvß Aøh¯õÍzøu ÂÁ›. 



A–9655 

  

   3

13. (a) Bring out the factors responsible for the survival of 
small-scale business.  

  ]Ö AÍÂ»õÚ Â¯õ£õμzvß E°º¨¦ ußø©US 
Põμnzøu ÂÁ›. 

Or 

 (b) How the size of the business is measured? 

  Â¯õ£õμzvß AÍÄ G[VÚ® ©v¨¤h¨£kQÓx? 

14. (a) Explain the features of share holders.  

  £[S ‰»uÚPõμºPÎß ußø©ø¯ ÂÁ›. 

 Or 

 (b) What is the role of directors in the company 
management? 

  {Ö© {ºÁõPzvÀ C¯US|›ß £[S ¯õx? 

15. (a) Describe the features of public enterprises.  

  ö£õx xøÓ {ÖÁÚ[PÎß ]Ó¨¤¯À¦PøÍ ÂÁ›. 

Or 

 (b) Explain the pricing policy of public enterprises. 

  ö£õxzxøÓ {Ö©[PÎÀ Âø»U öPõÒøPø¯ 
Â›ÁõP ÂÍUS. 

                                          Section C                         (3 × 10 = 30) 

Answer any three questions. 

16. What are the objectives of modern business? 

 |ÃÚ Áõo£zvß •UQ¯ ÷|õUP[PÒ ¯õøÁ? 

17. Discuss the advantages and disadvantages of  
co-operative societies. 

 TmkÓÄ \[P[PÎß |ßø©PÒ ©ØÖ® SøÓ£õkPøÍ 
ÂÁ›. 
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18. Describe the merits and demerits of large-scale business. 

 ö£›¯ AÍÄ Â¯õ£õμzvß |ßø©PÒ ©ØÖ® wø©PøÍ 
öÁÎUöPõnºP. 

19.  Discuss the powers of manager. 

 ÷©»õÍ›ß AvPõμzøu ÂÁ›. 

20. Analyse the industrial policy –1991 of India. 

 C¢v¯ öuõÈØöPõÒøP – 1991 £ØÔ B´P. 

 

—————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define : Noting charges. 

 C»UPn® SÔ¨¥mk Pmhn®. 

2. What is retiring of bills? 

 ^mk K´ÄÖuÀ GßÓõÀ GßÚ? 

3. What is loss of stock? 

 \μUS |mh® GßÓõÀ GßÚ? 

4. What is Average Clause? 

 \μõ\› ¤›Ä GßÓõÀ GßÚ? 

5. Distinguish between Consignment and Sale. 

 AÝ¨¥k ©ØÖ® ÂØ£øÚ Cμsøh²® ÷ÁÖ£kzxP. 
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6. What is Normal loss? 

 C¯À¦ |mh® GßÓõÀ GßÚ? 

7. What is Joint bank account? 

 CønÁ[Q GßÓõÀ GßÚ? 

8. Mention any four features of joint venture? 

 Cøn – ÂøÚ°ß ÷|õUP® |õßQøÚ TÖP. 

9. Mention the limitations of Single entry system. 

 JØøÓ¨ £vÄ •øÓ°ß Áøμ¯øμø¯ TÖ. 

10. Mention the steps in the conversion of single entry to 
double entry. 

 JØøÓ¨ £vøÁ Cμmøh £vÁõP ©õØÖu¼À EÒÍ 
£i{ø»PøÍ TÖP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What is renewal of bill of exchange? Give the 
journal entries in the books of the drawer. 

  ©õØÖa^møh ¦x¨¤zuÀ GßÓõÀ GßÚ?  AuØS›¯ 
£vÄPøÍ Áøμ£Áº HkPÎÀ u¸P. 

Or 

 (b) On Jan. 1 2009, Vinod buys goods from Ramesh 
priced at Rs. 3,000 subject to deduction of 10% trade 
discount. Vinod accepts a bill for four months for the 
amount. On 4th February 2009, Vinod retires his 
acceptance under a rebate of 12% p.a. Journalise the 
above transactions in the books of Vinod and 
Ramesh. 
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  1.1.2009 AßÖ Â÷Úõz Gß÷£õº μ÷©æhª¸¢x  

¹. 3,000 US \μUS Áõ[QÚõº.  μ÷©è 10%  Â¯õ£õμ 
Ámh® AÎzuõº.  Â÷Úõz ÂØ£øÚz öuõøPUS 4 
©õu ©õØÖa ^mk u¢uõº.  4.2.2009 AßÖ Â÷Úõz 

12% uÒÐ£i öPõkzx ©õØÖ® ^møh v¸®£ ö£ØÖU 
öPõshº.  ÷©÷» ö\õßÚ |hÁiUøPPøÍ Â÷Úõz 
©ØÖ® μ÷©æß SÔ¨¦PÎÀ £vÄ ö\´P. 

12. (a) What are the stages followed in submitting the 
claims to the insurance companies? 

  Põ¨¥mk {ÖÁÚzvÀ £n® ÷Põ¸ÁuØPõÚ 
ÁÈ•øÓPÒ ¯õøÁ? 

Or 

 (b) A fire occurred at the premises of a trader on  
31.5.06 destroying a great part of his goods. His 
stock at 1.1.06 was Rs. 60,000. The value of stock 
salvaged was Rs. 13,500. The Gross profit on sales 
was 30% and sales amounted to Rs. 1,53,000 from 
January to date of fire, while for the same period 
the purchases amounted to Rs. 1,03,500. Prepare a 
statement of claim. 

  J¸ Â¯õ£õ›°ß PmihzvÀ 31.5.06–CÀ w Â£zx 
HØ£mk, AÁ¸øh¯ ö£¸®£Sv¯õÚ ö£õmPÒ 
÷\u©øh¢uÚ.   1.1.06À AÁ¸øh¯ \μUQ¸¨¦  
¹. 60,000 w°À ÷\u©øh¯õu \μUQß ©v¨¦ ¹. 

13,500.  ö©õzu »õ£ ÂQu® ÂØ£øÚ°À 30% ©ØÖ® 
áÚÁ› •uÀ Â£zx |õÒ Áøμ ÂØ£øÚ ¹. 1,53,000, 
A÷u Põ»zvØPõÚ öPõÒ•uÀ ¹. 1,03,500.  
Põ¨¥mkU ÷Põ›UøP ©Ý u¯õ›UP. 

13. (a) What are the differences between consignment and 
joint venture? 

  AÝ¨¥miØS®, Cøn ÂøÚUS® EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 
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 (b) Balan of Bangalore consigned 190 bags of rice to 
Rajesh of Calcutta invoicing goods at Rs. 180 per 
bag. Balan paid Rs. 1,200 as cartage and other 
expenses. The consignor drew a bill of exchange for 
Rs. 12,000 which was later discounted at Rs. 11,800. 
The consignee rendered an account sales showing 
the following details: 

  100 bags sold at Rs. 240 each on credit 

  90 bags sold at Rs. 230 each for cash  

  Freight and carriage Rs. 2,000  

  Transits Insurance Rs. 1,000  

  Storage and Insurance Rs. 1,000  

  Commission at 5%. 

  The consignee sent a sight draft for the amount due. 

  You are required to prepare in the Books of 
consigner assuming that the consignee incurred a 
bad debt of Rs. 400. 

  ö£[PÑ›¾ÒÍ £õ»ß, öPõÀPzuõÂ¾ÒÍ μõ÷áè 
Gß£Á¸US 190 ‰møhPÒ A›]ø¯ J¸ ‰møh  
¹. 180 Ãu® AÝ¨¥k ö\´uõº.  ÁõhøP ©ØÖ® Cuμ 
ö\»ÄPÐUS ¹. 1,200 £õ»ß ö\¾zvÚõº.  AÝ¨¥k 
ö£ØÓÁº ¹. 12,000US J¸ ©õØÖa^møh GÊvÚõº. 
¤ßÚº AuøÚ ¹. 11,800 Á[Q°À uÒÐ£i ö\´x 
£n® ö£ØÓõº.  ¤ßÁ¸® Â£μ[PÐhß AÝ¨¥k 
ö£Ö|º ÂØ£øÚ PnUQøÚ \©º¤zuõº.  PhÛÀ  
¹. 240 Ãu® 100 ‰møhPÒ ÂØP¨£mhÚ.   

  öμõUPzvØS ¹. 230 Ãu® 90 ‰møhPÒ 
ÂØP¨£mhÚ.  ÁõhøP Pmhn® ¹. 2,000. 

  ÷£õUSÁμzx Põ¨¥k ¹. 1,000. ÷\ª¨¦ ©ØÖ® Põ¨¥k 
Pmhn® ¹. 1,000. 

  PÈÄ 5 \uÃu®.  AÝ¨¥k ö£Ö|º, AÁº 
öPõkUP¨£h ÷Ási¯ öuõøPUS J¸ ÁÚμ 
÷Áõø»ø¯ AÝ¨¤Úõº.  AÝ¨¥k ö£Ö|¸US 
HØ£mh ÁμõUPhß ö\»Ä ¹. 400.  AÝ¨¥k ö\´|º 
HkPÎÀ ÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ GÊxP. 
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14. (a) What are the differences between joint venture and 
partnership? 

  Cøn ÂøÚUS® Tmhõsø©US ªøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õx? 

Or 

 (b) ‘X’ and ‘Y’ were partners in a Joint venture, sharing 
profits and losses in the ratio of 3:2. ‘X’ supplied 
goods of the value of Rs. 60,000 and incurred an 
expenditure of Rs. 200. ‘Y’ supplied goods of the 
value of Rs. 5,000 and his expenses amounted  
Rs. 300. ‘Y’ sold all the goods on behalf of the joint 
venture for a sum of Rs. 18,000. ‘Y’ is entitled to a 
commission of 5% on sales and he settled his 
account by sending a bank draft to ‘X’. 

  Pass Journal entries in the books of X and Y.  

  ‘X’ ©ØÖ® ‘Y’ BQ÷¯õº C»õ£ |mh[PøÍ 3:2 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒÐ® CønÂøÚ JßÔß 

TmhõÎPÒ.  ‘X’  ¹. 60,000 ©v¨¦ÒÍ \μUSPøÍ 

AÎzx ¹. 200 ö\»Ä ö\´uõº. ‘Y’ ¹. 5,000 
©v¨¦ÒÍ \μUSPøÍ AÎzuõº. ÷©¾® AÁº ö\´u 
ö\»ÄPÒ ¹.300.  CønÂøÚUPõP AøÚzxa 

\μUSPøÍ²®. ‘Y’ ¹. 18,000US ÂØ£øÚ ö\´uõº.  

ÂØ£øÚ°À 5% PÈÄ ö£Ó ‘Y’  uSv²øh¯Áº.  

uÚx PnUQøÚ •izx J¸ Á[Q Áøμ÷Áõø»ø¯‘X’ 
US AÝ¨¤Úõº. 

  X ©ØÖ® Y ß •uØ SÔ¨÷£mk £vÄPøÍ u¸P. 

15. (a) What are the steps to be taken to convert single 
entry system into double entry system? 

  JØøÓ£vÄ •øÓ°¼¸¢x Cμmøh¨ £vÄ •øÓUS 

©õØÖ® £i{ø»PÒ ¯õøÁ? 

Or 
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 (b) Ramesh commenced business as a Cloth Merchant 
on January 1 2009 with a capital of Rs. 10,000. On 
the same day he purchased furniture for cash 
Rs.3,000. From the following particulars, you are 
asked to prepare a Trading, Profit and Loss account 
for the year ending December 31st, 2009 and a 
Balance Sheet as an that date. He kept his books 
under Single-entry system. Prepare also the Cash 
book, Debtors account and Creditors account. 

  
 Rs.
Sales (inclusive of cash Rs. 7,000) 17,000
Purchases (inclusive for cash 4,000) 15,000
Bad debts written-off 500
Ramesh’ s drawings 1,200
Salaries to staff 2,000
Business expenses 700

  Ramesh took cloth worth Rs. 500 from the shop for 
private use and paid Rs. 200 to his son, but omitted 
to record these transactions in his books. On 31st 
December 2009 his sundry debtors were Rs. 5,200 
and Sundry creditors Rs. 3,600. Stock in trade was 
Rs. 6,500. 

  μ÷©è áÚÁ›, 1, 2009 AßÖ ¹. 10,000 

‰»uÚzxhß xo Â¯õ£õμzøu xÁUQÚõº.  

AßøÓ¯ vÚ® ¹. 3,000 ©v¨¦ÒÍ AøÓP»ßPøÍ 

Áõ[QÚõº.  JØøÓ¨£vÄ •øÓ°À AÁº uÚx 

HkPøÍ £μõ©›zx Á¢uõº.  AÁ¸øh¯ HkPÎ¼¸¢x 

31.12.2009–hß •iÁøh²® Â¯õ£õμ, »õ£ |mh 

PnUS ©ØÖ® C¸¨¦ {ø»U SÔ¨¦ AQ¯ÁØøÓz 

u¯õ›UPÄ®.  Azxhß PhõÚõÎPÒ PnUS, 

PhÜ¢÷uõº PnUS ©ØÖ® öμõUP PnUS 

BQ¯ÁØøÓ²® u¯õ›UP. 
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 Rs.
ÂØ£øÚ (öμõUP ÂØ£øÚ ¹. 7,000) 17,000
öPõÒ•uÀ (öμõUP öPõÒ•uÀ ¹. 

4,000) 

15,000

ÁμõUPhß ÷£õUöPÊv¯x 500
μ÷©æß Gk¨¦PÒ  1,200
FÈ¯º \®£Í® 2,000
Â¯õ£õμa ö\»ÄPÒ  700

   

  μ÷©è ö\õ¢u E£÷¯õPzvØS ¹. 500 ©v¨¦ÒÍ 
xoPøÍ GkzxU öPõshõº.  uÚx ©PÝUS ¹. 200 
öPõkzxÒÍõº.  CøÁ Cμsk® HkPÎÀ 
£v¯¨£hõ©À Âh¨£mkÒÍx, i\®£º 31,2009 À 
PhÚõÎPÒ ¹. 5,200, PhÜ¢÷uõº ¹. 3,600 CÖva 
\μUQ¸¨¦ ¹. 6,500. 

   

 Part C  (3  10 = 30) 

Answer any three questions. 

16. On 1st January Daniel supplied goods of James to the 
value of Rs. 9,000 and settled the account by means of 
three bills of exchange for Rs. 3,000 each due respectively 
after two, three and four months. A week later Daniel 
discounted the first bill with his bank at a discount of  
Rs. 60 he held the other bills.  The first two bills were 
paid at maturity. On the date of maturity of the third one 
James arranged to retire the bill paying Rs. 1,000 in each 
and giving Daniel a fresh bill for four months to cover the 
balance with interest at the rate of 6% per annum. Daniel 
discounted this bill for Rs. 1,920. Set out the journal 
entries in the books of Daniel. 
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 áÚÁ› 1–® ÷uv ÷hÛ¯À ¹. 9,000 ©v¨¤»õÚ \μUSPøÍ 

÷á®ì–US AÝ¨¤Úõº. •øÓ Cμsk, ‰ßÖ ©ØÖ® 

|õßS ©õu[PÎÀ •vºÄøhU Ti¯ ¹. 3,000 UPõÚ ‰ßÖ 

©õØÖa ^mkPÒ öPõkUP¨£mk PnUS •iUP¨£mhx.  J¸ 

ÁõμzvØS ¤ß •uÀ ©õØÖa^møh ¹. 60–US Ámh® ö\´x 

÷hÛ¯À AÁμx Á[Q°À £n® ö£ØÓõº.  ©ØÓ 

©õØÖa^mkPøÍ £n©õUP¨£mhÚ.  ‰ßÓÁõÁx 

©õØÖa^miß •vºÄ |õÎÀ ¹. 1,000 ö\¾zv ‰ßÓõÁx 

©õØÖa^møh v¸®£ ö£ØÖU öPõsk «v öuõøPUS 

BskUS 6%  Ámi Ãu® ÷\ºzx |õßS ©õuzvØS J¸ 

¦v¯ ©õØÖa^møh öPõkzuõº.  ÷hÛ¯À C¢u ©õØÖa^møh 

Ámh® ö\´x ¹. 1,920 ö£ØÓõº.  ÷hÛ¯À Eøh¯ 

¦zuP[PÎÀ SÔ¨÷£mk¨ £vÄPøÍ Põs¤UPÄ®.  

17. Ramu traders have taken out a fire policy of Rs. 2,40,000 
covering its stock-in-trade. A fire occurs on 1st July 2008 
and stock was destroyed with the exception of the value 
of Rs. 62,040 following particulars are available from the 
books of accounts. 

 
Rs. 

 Stock on 1.4.2008   90,000 

 Purchases to the date of fire  3,90,000 

 Sales to the date of fire   2,70,000 

 Commission paid on purchases 2% 

 Carriage paid on purchase  2,400 

 Average gross profit on cost  50% 

 The policy was subject to average clause. Calculate: 

 (a) Total cost of stock. 

 (b) Amount of claim to be made against the insurance 
company. 
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 μõ• i÷μhºì uÚx \μUSPÐUPõP ¹. 2,40,000US w Â£zx 
£õ¼] Gkzuõº.  áüø» 1, 2008 AßÖ w Â£zx 
HØ£mhvÚõÀ ¹. 62,040 ©v¨¤»õÚ \μUSPÒ uÂμ 
«u•ÒÍ \μUSPÒ AøÚzx® ÷\u©øh¢uÚ.  A¢u 
{ÖÁÚzvß HkPÎ¼¸¢x ö£Ó¨£mh ÂÁμ[PÒ Á¸©õÖ  

¹. 

 1.4.2008 AßÖ \μUQ¸¨¦  90,000 

 öPõÒ•uÀ w Â£zx HØ£mh |õÒÁøμ 3,90,000 

 ÂØ£øÚ w Â£zx HØ£mh |õÒÁøμ 2,70,000 

 öPõÒ•uÀ «uõÚ PÈÄ ö\¾zv¯x 2% 

 öPõÒ•uÀ «uõÚ EÒyUST¼ 2,400 

 AhUPÂø» «x \μõ\› ö©õzu C»£õ® 50% 

 Põ¨¥mk £õ¼] \μõ\› \μzx ¤›ÄUSm£mhx: 

 PnUQkP. 

 (A) ö©õzu \μUQß AhUPÂø» 

 (B) Põ¨¥miØPõÚ ÷Põ›UøPz öuõøP PnUQhÄ®. 

18. On 1st July 2005 Balu of Calcutta consigned 50 TV sets 
costing Rs. 2,500 each to Somu of Madurai, invoiced 
proforma at Rs. 3,000 each. The freight and insurance 
amounted to Rs. 2,800. At the same time Balu drew a bill 
on Somu at 3 months for Rs. 75,000 which has been 
discounted with bankers at 5% per annum. The bill was 
duly honoured by Somu on the due date. On 1st October 
2005, Somu sent on account sales showing that 25 sets 
were sold for Rs. 3,100 each and 20 other sets at Rs. 3,000 
and five remained unsold. The expenses at Madurai 
amounted to Rs. 700 on godown rent and advertisements. 
Somu is entitled to a selling commission of 5%. He has 
also sent the balance due by means bank draft. 

 Both the parties close their books of account on 31st 
December 2005 prepare ledger accounts in the books of 
both the parties.  
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 2005 áüø» 1, PÀPõzuõøÁa ÷\º¢u £õ¾, ©xøμø¯a 

÷\º¢u ÷\õ•ÂØS JßÖ ¹. 2,500 AhUPÂø»²ÒÍ 50 

öuõø»UPõm] ö£miPøÍ JÆöÁõßÖ® ¹. 3,000 

Chõ¨¤À AÝ¨¥k ö\´uõº.   \zu®, Põ¨¥mkU Pmhn® 

¹. 2,800.  A÷u \©¯zvÀ £õ¾ ¹. 75,000 UPõÚ 3 ©õu 

Esi¯ø» ÷\õ•Âß ÷©À Áøμ¢uõº.  Aøu Bsk 

JßÖUS 5%  Ãu® Á[Q°À PÈÄ ö\´uõº.  uÁønz 

÷uv¯ßÖ ÷\õ• Esi¯¾US¨ £n® ö\¾zvÚõº. 

 2005 AU÷hõ£º 1À ÷\õ• ÂØ£øÚU PnUPÔUøPø¯ 

AÝ¨¤Úõº. AvÀ ö£mi JßÖ ¹.3,100 Ãu® 25 

ö£miPÐ®, JßÖ ¹. 3,000 Ãu® 20 ö£miPÐ® 

ÂØP¨£mhÚ GßÖ®, 5 ö£miPÒ ÂØP¨£hõ©À 

C¸UQßÓÚ GßÖ® Põmh¨£mi¸¢ux.  ©xøμ°À \μUPøP 

ÁõhøPUS®, ÂÍ®£μ[PÐUS® ¹. 700 ö\»Ä 

ö\´¯¨£mhx.  ÷\õ•ÂØS 5%  ÂØ£øÚz uμS ö£Ó 

E›ø© Esk.  £õUQz öuõøPø¯ Á[Q iμõ¨m ‰»® 

AÝ¨¤Âmhõº. 

 C¸Áõº PnUS HkPøÍ 2005 i\®£º 31À •iUQÓõºPÒ  

CÁ¸øh¯ HkPÎÀ ÷£÷μmkU PnUSøÍz uõ¯›UPÄ®. 

19. ‘D’ and ‘K’ entered into a Joint venture sharing profits 
and losses as 3:2. They opened a Bank A/c. by depositing 
Rs. 40,000 each. ‘D’ purchased 800 kg of an item @ Rs. 60 
per kg and his expenses were Rs. 13,000. ‘K’ purchased a 
second item of 10,000 kg @ Rs. 2.10 per, k.g. and his 
expenses were Rs. 11,000. Expenses were met from 
private sources and purchases were paid from Bank 
Accounts. K sold 600 kg of the first item @ Rs. 100 per kg 
and his selling expenses were Rs. 5,500. D sold 8,000 kg 
the second item @ Rs. 5 per kg and his selling expenses 
were Rs. 6,000. All the sale proceeds were deposited in 
Bank Account and Expenses were met from private 
sources. Write up ledger accounts in the books of venture. 
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 D ©ØÖ® K GßÓ ÂQzvÀ C»õ£® ©ØÖ® |mhzøu ¤›zuÀ 

£i J¸ CønÂøÚø¯ E¸ÁõUQÚõº.  AÁºPÒ ¹. 40,000 

£n® ö\¾zv J¸ Á[Q PnUQøÚ Bμ®¤zuÚº. D 800 

Q÷»õ \μUQøÚ Q÷»õ JßÔØS ¹. 60 Ãu® Áõ[QÚõº.  

AÁ›ß ö\»ÄPÒ ¹. 13,000. K 1000 Q÷»õ Gøh°À 

©ØöÓõ¸ ö£õ¸øÍ Q÷»õ JßÔØS ¹. 2.10 Ãu® 

Áõ[QÚõº.  AÁ›ß ö\»ÄPÒ ¹. 11,000.  ö\»ÂÚ[PÒ 

uÛ¨£mh £nzv¼¸¢x ö\´¯¨£mhx.  öPõÒ•u¾US 

Á[Q PnUQ¼¸¢x £n® ö\¾zu¨£mhx. K •u¼À 

Áõ[Q¯ \μUSPÎÀ 600 Q÷»õøÁ Q÷»õ ¹. 100 Ãu® 

ÂØÓõº.  AÁ›ß ÂØ£øÚa ö\»Ä ¹. 5,500.  CμshõÁuõP 

Áõ[Q¯ ö£õ¸ÎÀ D Q÷»õ ¹. 5 Ãu® 8,000 Q÷»õ 

\μUSPøÍ ÂØÓõº.  AÁ›ß ÂØ£øÚa ö\»Ä ¹. 6,000 

ÂØ£øÚ°ß ‰»® ö£ØÓ £n® Á[Q°À ö\¾zu¨£mhx.  

ö\»ÂÚ[PÒ uÛ¨£mh £nzv¼¸¢x ö\¾zu¨£mhx.  

÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ {ÖÁÚzvß HkPÎÀ 

u¯õ›UPÄ®. 

20. Mr. Sundar tells you that his capital on 31 December 

1998 in Rs. 1,40,250 and his capital on 1st January was 

Rs. 1,44,000. He further informs you that during the year 

he gave a loan of Rs. 26,250 to his sister on private 

account and withdrew Rs. 2,250 p.m. for personal use. He 

also used a flat for his personal purpose; the rent of which 

is Rs. 750 p.m. and electricity charges at an average of 

Rs. 75 p.m. were paid from the business account. He also 

sold his 8% Government bond Rs. 15,000 at 2% premium 

and brought that money into the business. Besides this 

there is no other information. You are required to prepare 

a statement of profit. 
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 v¸. _¢uº AÁºPÒ 31.12.1998 AßÖ ¹. 1,40,250 ©ØÖ® 

1.1.1998 AßÖ 1,44,000–•® uÚx •u»õP C¸¢uuõP 

TÖQÓõº.  ÷©¾® AÁº uÚx u[øPUS uÚx ö\õ¢u 

PnUQ¼¸¢x ¹. 26,250 Phß öPõkzuuõPÄ® ©õu©õu®  

¹. 2,250 uÚx ö\õ¢u ö\»ÄUPõP GkzuuõPÄ® 

SÔ¨¤kQÓõº.  ÷©¾® AÁº ©õu® ¹. 750 ÁõhøP 

ö£ÓUTi¯ uß ö\õ¢u PõμnzxUPõP £¯ß£kzv¯÷uõk 

©õu©õu® ¹. 75 öuõÈÀ PnUQ¼¸¢x ªß Pmhn©õP 

ö\¾zxQÓõº.  ÷©¾® AÁº 8% Aμ\õ[P Phß £zvμzøu  

¹. 15,000–US 2% •øÚ©zvÀ ÂØÖ Aøu öuõÈ¾US 

£¯ß£kzxQÓõº.  ÷©ØPõq® ÂÁμ[PøÍ öPõsk, C»õ£ 

AÔUøP u¯õ›UPÄ®.  

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is market? 

 \¢øu GßÓõÀ GßÚ? 

2. Define: Hetrogenious market. 

 Áøμ¯Ö Âzv¯õ\©õÚ \¢øu. 

3. What do you mean by product life cycle? 

 ‘‘ö£õ¸Ò ÁõÌUøP’’  _ÇØ] £ØÔ } AÔÁx ¯õx? 

4. Define-packaging. 

 Pmk©® Áøμ¯Ö. 

5. What is grading? 

 uμ® ¤›zuÀ GßÓõÀ GßÚ? 

6. Differentiate between Marketing and Selling. 

 \¢øu°kuÀ ©ØÖ® ÂØ£øÚUS EÒÍ ÷ÁÖ£õk u¸P. 
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7. What is pricing? 

 Âø»°kuÀ GßÓõÀ GßÚ? 

8. Skimming Pricing—Explain. 

 Pøh¢öukUS® Âø»°hÀ ÂÍUSP. 

9. What is indoor media advertisement? 

 EÒ FhP ÂÍ®£μ® GßÓõÀ GßÚ? 

10. Who is innovative salesman? 

 ¦v¯ ²Uv ÂØ£õßø©¯º Gß£Áº ¯õº? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the different approaches to the study of 
marketing. 

  \¢øu°¯ø»¨ £i¨£uØPõÚ £À÷ÁÖ 
AqS•øÓPøÍ ÂÍUSP. 

Or 

 (b) Explain the concept of ‘Market Segmentation’. 

  \¢øu¨ £õS£õmiß ÷Põm£õkPøÍ ÂÁ›. 

12. (a) Explain the functions of Brand. 

  ÁoPa ]ßÚªh¼ß £oPøÍ ÂÁ›. 

Or 

 (b) Explain the steps to be taken while introducing a 
new product. 

  ¦v¯ ö£õ¸øÍ AÔ•P¨£kzx®÷£õx P¸zvÀ 
öPõÒÍ ÷Ási¯ £iPøÍ Bμõ´P. 
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13. (a) What are the difference between standardization 

and grading? 

  uμ®¤›zuÀ ©ØÖ® uμ¨£kzxu¾UQøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What is assembling? Explain about advantages and 

problems in assembling? 

   JßÖ ÷\ºzuÀ GßÓõÀ GßÚ?  JßÖ ÷\ºzu¼À EÒÍ 

|ßø©PÒ ©ØÖ® ¤μa\øÚPÒ £ØÔ ÂÍUSP. 

14. (a) What do you mean by cost based pricing? Explain its 

advantages and disadvantages. 

  AhUP® Ai¨£øh°»õÚ Âø»°hÀ £ØÔ } AÔÁx 

¯õx?  Auß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ 

ÂÍUSP. 

Or 

 (b) Explain the objectives of pricing decisions. 

  Âø»°ku¼ß ÷|õUP® £ØÔ ÂÁ›. 

15. (a) Explain the various kinds of advertising media. 

  ÂÍ®£μ \õuÚ[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) ‘Money spent on advertisement is wasteful’ do you 

agree? Give reasons. 

  ÂÍ®£μzvØPõÚ ö\´¯¨£k® £n® £¯ÚØÓx } 

HØÖU öPõÒQÓõ¯õ?  Põμn® u¸P. 



A–9961 

  

  4

 Part C  (3  10 = 30) 

Answer any three questions. 

16. “Market segmentation is important for Target Markets”. 
Elaborate this Statement with examples. 

 ‘‘\¢øu ¤› E¸ÁõUP® Gß£x SÔ¨¤mh \¢øuUS 

•UQ¯©õÚx BS®’’  C¢uU TØøÓ Euõμn[PÐhß 
ÂÍUSP. 

17. What are the functions of package? 

 Pmk©zvß £oPÒ ¯õøÁ? 

18. Discuss the importance of transportation in marketing. 
What considerations to be considered in the selection of 
particular mode for transport? 

 \¢øu°køP°À ÷£õUSÁμzvß •UQ¯zxÁzøu ÂÁõv.  
J¸ SÔ¨¤mh ÁøP¯õÚ ÷£õUSÁμzøu 
÷uº¢öukUS®÷£õx P¸zvÀ öPõÒÍ ÷Ási¯øÁ ¯õøÁ? 

19. Write an essay about different kinds of pricing. 

 £À÷ÁÖ ÁøP¯õÚ Âø» {ºn¯ •øÓø¯¨ £ØÔ J¸ 
Pmkøμ ÁøμP. 

20. What are the qualities of a good salesman? 

 J¸ |À» ÂØ£øÚ¯õÍ›ß uSvPÒ ¯õøÁ? 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is indemnity? 

 DmkÖv GßÓõÀ GßÚ? 

2. What is risk? 

 Chº GßÓõÀ GßÚ? 

3. What is annuity? 

 Á¸hõ¢u® GßÓõÀ GßÚ? 

4. What do you mean by endowment policy? 

 CÖv{ø» vmhõÁn® GßÓõÀ GßÚ? 

Sub. Code 
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5. What is hazards of residence? 

 Si°¸¨¤À w[S GßÓõÀ GßÚ? 

6. Who is called agent in insurance sector? 

 Põ¨¥mk xøÓ°À •PÁº Gß£Áº ¯õº? 

7. What is additional insurance? 

 TkuÀ Põ¨¥k GßÓõÀ GßÚ? 

8. What is ‘nomination’? 

 {¯©Ú® GßÓõÀ GßÚ? 

9. What is meant by Marine insurance? 

 PhÀ Põ¨¥k GßÓõÀ GßÚ? 

10. What is reinsurance? 

 ©Ö Põ¨¥k GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all the questions. 

11. (a) Explain origin of insurance.  

  Põ¨¥miß Áμ»õÖ ÂÁ›. 

Or 

 (b) What are the classifications of insurance contracts? 

  Põ¨¥mk J¨£¢uzvß ÁøPPÒ ¯õøÁ? 

12. (a) Explain the fundamentals of life contract.  

  B²Ò J¨£¢u® Ai¨ø£ TÖPøÍ ÂÁ›. 

Or 

 (b) Explain the principles of life insurance.  

  Põ¨¥miß ÷Põm£õkPøÍ ÂÁõv. 
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13. (a) Enumerate the procedure for taking a life policy.  

  B²Ò Põ¨¥k GkUS® ÁÈ•øÓ ÂÍUSP. 

Or 

 (b) What are the various factors affecting risk? 

  Chøμ wº©õÛUS® £» PõμoPÒ ¯õøÁ? 

14. (a) Explain various modes of payment of premiums.  

  •øÚ©® ö\¾zu £À÷ÁÖ ÁÈ•øÓPøÍ ÂÁ›. 

Or 

 (b) What are the advantages of nomination? 

  {¯©Ú® ö\´u¼ß £¯ßPÒ ¯õøÁ? 

15. (a) Discuss the demerits in privatising life insurance 
corporation.  

B²Ò Põ¨¥mk {ÖÁÚzøu uÛ¯õº ©¯©õUP¼ß 
SøÓPøÍ ÂÁ›. 

Or 

 (b) Distinguish life insurance from marine insurance.  

  B²Ò Põ¨¥k ©ØÖ® PhÀ \õº Põ¨¥k ÷ÁÖ£kzxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are kinds of policies in Fire Insurance? 

 w Põ¨¥miß £À÷ÁÖ vmh® ¯õøÁ? 

17. How can annuities be classified? 

 BshÎ¨¦ GÆÁõÖ ÁøP¨£kzu£kQÓx? 
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18. Explain the general services of an agent in insurance 
sector.  

Põ¨¥mk xøÓ°À •PÁ›ß ö£õxÁõÚ ÷\øÁPøÍ ÂÁ›. 

19. Explain the rules regarding nomination of life insurance.  

 B²Ò Põ¨¥miÀ {¯©Ú® £ØÔ¯ \mh \μzxUPøÍ ÂÁ›. 

20. What are the various clauses in a Marine Policy? 

 PhÀ Põ¨¥miß £À÷ÁÖ \μzxUPÒ ¯õøÁ? 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define ‘Banking’. 

 ‘Á[Q°¯À’ Áøμ¯Ö. 

2. What is ‘Unit Banking’? 

 ‘QøÍ Á[Q°¯À’ GßÓõÀ GßÚ? 

3. State the primary functions of commercial banks. 

 ÁoP Á[QPÎß •ußø© £oPøÍ TÖP. 

4. Name any two types of deposits accepted by Banks. 

 Á[QPÒ HØS® øÁ¨¦PÎÀ CμsiøÚ ö£¯›kP. 

5. Define ‘Credit Creation’. 

 ‘Phß E¸ÁõUPÀ’ Áøμ¯Ö. 
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6. Indicate any two functions of RRB. 

 ©sh» Qμõª¯ Á[Q°ß £oPÎÀ CμsiøÚ SÔ¨¤kP. 

7. State any two achievements of SBI. 

 SBI&ß \õuøÚPÎÀ CμsiøÚ TÖP. 

8. What is ‘Open Market Operations’? 

 ‘öÁÎ \¢øu |hÁiUøP’ GßÓõÀ GßÚ? 

9. Define ‘NPA’. 

 ‘NPA’ Áøμ¯Ö. 

10. What do you mean by ‘E-Banking’? 

 ‘ªßÚq Á[Q°¯À’ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Compare Unit Banking with Branch Banking. 

  A»S Á[Q°¯À, QøÍ Á[Q°¯À & J¨¤kP. 

Or 

 (b) State the advantages of Branch Banking. 

  QøÍ Á[Q°¯¼ß |ßø©PøÍ TÖP. 

12. (a) Mention the innovative lending schemes of 
commercial banks. 

  ÁoP Á[QPÎß ¦zuõUP Phß ÁÇ[S® vmh[PøÍ 
SÔ¨¤kP. 

Or 

 (b) What are the social responsibilities of banks? 

  Á[QPÎß \•uõ¯ ö£õÖ¨¦PÒ ¯õøÁ? 
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13. (a) Point out the objectives of RRBs. 

  ©sh» Qμõª¯ Á[QPÎß ÷|õUP[PøÍ SÔ¨¤k. 

Or 

 (b) Explain the investment policy of Banks. 

  Á[QPÎß •u½mk öPõÒøPPøÍ ÂÍUSP. 

14. (a) Write a note on ‘SBI and Agricultural Finance’. 

  ‘SBI ©ØÖ® ÂÁ\õ¯ {v’ £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) State the functions of RBI. 

  RBI&ß £oPøÍ ÂÍUSP. 

15. (a) Explain ‘Capital Adequacy Norms’. 

  ‘‰»uÚ ÷uøÁUPõÚ öPõÒøP’ ÂÍUSP. 

Or 

 (b) What are the necessity of Privatization of Banks? 

  Á[QPÒ uÛ¯õº©¯©õUP¼ß ÷uøÁPÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the classifications of Banks? 

 Á[QPÎß ÁøPPÒ ¯õøÁ? 

17. Discuss the various services rendered by Commercial 
Banks. 

 ÁoP Á[QPÒ BØÖ® ÷\øÁPøÍ ÂÁ›. 

18. Explain the technique of credit creation. 

 Phß E¸ÁõUP¼ß •øÓø¯ ÂÍUSP. 
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19. State the various credit control measures. 

 Phß Pmk¨£õmk £À÷ÁÖ AÍÃkPøÍ ÂÍUSP. 

20. List out the advantages of E-Banking. 

 ªßÚq Á[Q°¯¼ß |ßø©PøÍ £mi¯¼kP. 

 
 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by Secondary Data? 

 Cμshõ® {ø» uPÁÀ Gß£uß ö£õ¸Ò ¯õx? 

2. What is Tabulation? 

  AmhÁøn¨£kzuÀ GßÓõÀ GßÚ? 

3. Define Geometric Mean. 

 ö£¸US \μõ\› Áøμ¯Ö. 

4. Find the value of range and its coefficient for the 
following data.  

 80,100,50,90,120,110 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x Ãa]ß ©v¨ø£²® ©ØÖ® 
Ãa_UöPÊÂøÚ²® PnUQkP.  

 80,100,50,90,120,110. 

5. What do you mean by Partial Correlation? 

 £Sv JmkÓÄ Gß£uß ö£õ¸Ò ¯õx? 

Sub. Code 
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6. What do you understand by Regression? 

 Ehß öuõhº¦ £ØÔ }Âº AÔÁx ¯õx? 

7. Define an Index Number. 

 SÔ±möhs Áøμ¯Ö. 

8. State the formula of Fisher Ideal Index Number. 

 ¤é›ß ^ºø© SÔ±möhsoß `zvμzøu TÖP. 

9. What are the components of Time Series? 

 Põ» öuõhº Á›ø\°ß TÖPÒ ¯õøÁ? 

10. What do you mean by Irregular Variation? 

 JÊ[PØÓ ©õÖ£õk Gß£uß ö£õ¸Ò ¯õx? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mention the advantages of Statistics. 

  ¦ÒÎ°¯¼ß |ßø©PøÍ SÔ¨¤kP. 

Or 

 (b) What are the main objectives of Classification? 

  ÁøP¨£kzu¼ß •UQ¯ SÔU÷PõÒPÒ ¯õøÁ? 

12. (a) Find the Geometric Mean from the following data. 

x : 20 30 50 80 100

f : 8 12 20 14 6 

  ¤ßÁ¸® uPÁÀPÐUS ö£¸US \μõ\›°øÚ 
PnUQkP. 

x : 20 30 50 80 100

f : 8 12 20 14 6 

Or 
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 (b) Calculate the Mean Deviation about Median for the 
following data. 

x : 6 12 18 24 30

f : 3 12 18 12 3 

  Cøh {ø»°¼¸¢x Â»UP® ö£ØÓ \μõ\› 

Â»UPzvøÚ PnUQkP. 

x : 6 12 18 24 30

f : 3 12 18 12 3 

13. (a) Calculate the Rank Correlation Coefficient from the 
following data. 

Ranks in Accountancy :  5 4 2 3 1

Ranks in Commerce : 1 2 3 4 5

  ¤ßÁ¸® ÂÁμ[PÐUS uμ JmkÓÄ öPÊÂøÚ 

PnUQkP. 

PnUS £vÂ°¯¼À÷μ[U :  5 4 2 3 1

ÁoPÂ¯¼À ö£ØÓ ÷μ[U : 1 2 3 4 5

Or 

 (b) You are given the following data.  

 X Y 

Arithmetic mean  36 85

Standard deviation  11 8 

Correlation coefficient between X and Y 0.66 

Find  the regression equation of X on Y   
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  RÌPsh ÂÁμ[PÎ¼¸¢x, Y «uõÚ X  ß Ehß 
öuõhº¦ \©ß£õmiøÚ Psk¤i 

 X Y 

Tmk \μ\õ› 36 85

vmh Â»UP® 11 8 

X ©ØÖ® Y JmkÓÄ öPÊ 0.66 

14. (a)  

Commodity Price in 2018 Price in 2019

A 900 950 

B 400 600 

C 900 1100 

D 300 350 

  Construct an index number for 2019 taking 2018 as 
base.  

   

ö£õ¸ÒPÒ 2018–ß Âø» 2019–ß Âø»

A 900 950 

B 400 600 

C 900 1100 

D 300 350 

   2018 ® BsiøÚ Ai¨£øh¯õP öPõsk 2019 
UPõÚ SÔ±möhsøn {º©õÛUP. 

Or 

 (b) State the advantages of an Index Numbers.  

  SÔ±möhsoß |ßø©PøÍ SÔ¨¤kP. 
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15. (a) Explain the importance of Time Series Analysis in 
Business Forecasting.  

  ÁoP •ßPo¨¤ØS Põ» öuõhº Á›ø\ 

£S¨£õ´Âß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) From the following data calculate three yearly 
moving averages.  

Year : 2010 2011 2012 2013 2014

No. of units : 300 360 340 4600 460 

Year : 2015 2016 2017 2018 2019

No. of units : 500 580 660 720 800 

  ¤ßÁ¸® uPÁÀPÐUS 3 Á¸h |P¸® \μõ\›ø¯ 

PnUQkP. 

Á¸h®: 2010 2011 2012 2013 2014

A»SPÎß GsoUøP : 300 360 340 4600 460 

Á¸h®: 2015 2016 2017 2018 2019

A»SPÎß GsoUøP : 500 580 660 720 800 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various functions of statistics. 

 ¦ÒÎ°¯¼ß £À÷ÁÖ £oPøÍ  ÂÁ›UP. 

17. Calculate arithmetic mean for the following : 

Marks : 10-20 20-30 30-40 40-50 50-60 60-70

No. of students : 5 10 15 16 12 2 
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 ¤ßÁ¸ÁÚÁØÔØS Tmk \μõ\›°øÚ PnUQkP. 

©v¨ö£s: 10-20 20-30 30-40

©õnÁºPÎß GsoUøP : 5 10 15 

©v¨ö£s: 40-50 50-60 60-70

©õnÁºPÎß GsoUøP : 16 12 2 

18. Find Karl Pearson's coefficient of correlation from the 
following data: 

X : 57 59 62 63 64 65 55 58 57 

Y : 113 117 126 126 130 129 111 116 112

 ¤ßÁ¸ÁÚÁØÔØS PõºÀ ¤¯º\Ûß JmkÓÄ öPÊÂøÚ 
PnUQkP. 

X : 57 59 62 63 64 65 55 58 57 

Y : 113 117 126 126 130 129 111 116 112

19. Analyse the problems in the construction of an Index 
numbers. 

 SÔ±möhsøn {º©õo¨£vÀ EÒÍ ¤μa]°øÚPøÍ 
B´Ä ö\´P. 

20. Calculate trend value from the following data using the 
method of least square. 

Year: 2013 2014 2015 2016
Sales (Rs. in Lakhs): 20 23 22 25 
Year : 2017 2018 2019  
Sales (Rs. in Lakhs): 26 29 30  

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷£õUS  ©v¨¤øÚ SøÓ¢u 
ÁºUP •øÓ°øÚ £¯ß£kzv PnUQkP. 

Á¸h®: 2013 2014 2015 2016

ÂØ£øÚ ( ¹.»m\zvÀ): 20 23 22 25 

Á¸h®: 2017 2018 2019  

ÂØ£øÚ ( ¹.»m\zvÀ): 26 29 30  

—————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Partners Capital Accounts? 

 TmhõÎPÒ ‰»uÚ PnUS GßÓõÀ GßÚ? 

2. What is Current account? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 

3. What is meant by Goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

4. What is meant by revaluation Accounts? 

 ©Ö ©v¨¥k PnUS GßÓõÀ GßÚ? 

5. What is meant by Gaining Ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 
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6. What is JLP? 

 JLP GßÓõÀ GßÚ? 

7. What is realization account? 

 wºÄ PnUS GßÓõÀ GßÚ? 

8. What are the accounts prepared at the time of 
dissolution? 

 {ÖÁÚ® Pø»²®ö£õÊx GßöÚßÚ PnUSPÒ 

u¯õ›UP¨£kQÓx? 

9. What is meant by conversion of firm in to a company? 

 Tmk {ÖÁÚ® P®ö£Û¯õP ©õØÓ¨£kuÀ GßÓõÀ GßÚ? 

10. What is meant by maximum loss method? 

 AvP |mh•øÓ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What do you mean by Profit and Loss appropriation 
account? 

  C»õ£ |mh £QºÄ PnUS £ØÔ }Âº AÔÁx GßÚ? 

Or 

 (b) A and B are partners sharing profits and losses in 
the ratio of 3 : 2. They admit C for 1/5th share in the 
profit. Calculate the new profit sharing ratio. 

  A ©ØÖ® B TmhõÎPÒ u[PÍx C»õ£zøu 3 : 2 

GßÓ ÂQuzvÀ £Qº¢x öPõÒQÓõºPÒ. C Gß£Áº 

1/5 £[S »õ£zvØS ÷\ºzxU öPõÒQÓõºPÒ. 

AÁºPÐøh¯ ¦v¯ C»õ£ ÂQuzøu PnUQkP. 
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12. (a) Enumerate the adjustments to be made before 
admitting a new partner in the firm. 

  J¸ ¦v¯ TmhõÎø¯ J¸ {ÖÁÚzvÀ ÷\ºUS®÷£õx 

¤ß£ØÓ ÷Ási¯ \›PmkuÀPøÍ ÂÍUSP. 

Or 

 (b) Kalavathi and Malathi are partners sharing profits 
in the ratio of 4 : 3. Leelavathi is admitted for 1/3rd  
share of profits. Goodwill of the firm is to be valued 
at 2 years purchase of 3 year’s profits which have 
been Rs. 44,000, Rs. 56,000, Rs. 68,000. Give 
Journal entries if  

  (i) There is no goodwill in the books of the firm 

  (ii) The goodwill account appears at Rs. 28,000 

  (iii) The goodwill already existing in the books of 
Rs. 1,68,000. 

  P»õÁv, ©õ»v GßÓ TmhõÎPÒ •øÓ÷¯ 4 : 3 GÝ® 
ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. ½»õÁv 
Gß£Áøμ 1/3 TmkUSa ÷\ºzxU öPõshÚº. 
|Øö£¯º ‰ßÖ BskPÎß \μõ\› C»õ£zvÀ 
Cμsk Bsk öPõÒ•uÀ GÚUöPõsk 
©v¨¤h¨£mhx. ‰ßÖ BskPÎß C»õ£[PÒ 
•øÓ÷¯ ¹. 44,000 ¹. 56,000, ¹. 68,000 BS®. 

  RÌUPõq® u¸n[PÎß SÔ¨÷£mk¨ £vÄPøÍz 
u¸P. 

  (i) |Øö£¯º CxÁøμ HkPÎÀ CÀ»õ©¼¸¢uõÀ  

  (ii) HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 28,000 GÚU 

Põmh¨£mi¸¢uõÀ 

  (iii) HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 1,68,000 GÚU 

Põmh¨£mi¸¢uõÀ 
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13. (a) (i) Distinction between sacrificing ratio and 
gaining ratio – Explain. 

  (ii) Distinguish between Revaluations Account 
and Realisation Account – Explain. 

  (i) v¯õP ÂQuzvØS® ©ØÖ® Buõ¯ ÂQuzvØS® 

Cøh÷¯¯õÚ ÷ÁØÖø©PøÍ ÂÍUSP. 

  (ii) ©Ö©v¨¥mkU PnUS ©ØÖ® wºÄU PnUS 

CμsiØS® Cøh÷¯¯õÚ ÷ÁØÖø©PøÍ 

ÂÍUSP. 

Or 

 (b) A, B, C were partners sharing profits and losses in 
the ratio of 3 : 2 : 1 respectively. B died on 31st 
march 2003. The profits from 1.1.2003 to 31.3.2003 
amounted to 4,500. A and B decided to share the 
future profits in the ratio of 3 : 2 respectively            
with effect from 1.4.2003. Give the necessary 
journal entries to record the B’s share of profit to 
the date of death. 

  A, B, C BQ¯  TmhõÎPÒ •øÓ÷¯ 3 : 2 : 1 GßÓ 

ÂQuzvÀ C»õ£ & |mh[PøÍ £Qº¢uÚº. 31 ©õºa 

2003À B CÓ¢uõº. 1.1.2003 •uÀ 31.3.2003 

Áøμ°»õÚ C»õ£® ¹. 4,500 BS®. 1.4.2003 •uÀ  

A ©ØÖ® B BQ¯ TmhõÎPÎß GvºPõ» C»õ£® 

•øÓ÷¯ 3 : 2 GßÓ ÂQuzvÀ C¸US©õÖ •iÄ 

ö\´uÚº. TmhõÎ ‘B’ CÓ¢u |õÎÀ AÁ¸UPõÚ 

C»õ£ £[øP SÔ¨÷£k u¯õ›zx £vP. 

14. (a) Explain the provisions of settlement of accounts of 
partners in case of dissolution. 

  {ÖÁÚ® Pø»UP¨£k® ö£õÊx PnUøP •iÄ 

ö\´²® ö£õÊx Põq® \μzxUPøÍ ÂÁ›UPÄ®. 

Or 
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 (b) A, B and C commenced business on 1.1.2011 with 
capitals of Rs. 2,00,000, Rs. 1,60,000 and  
Rs. 1,20,000 respectively. Profit and losses were 
shared in the ratio of 4 : 3 : 3. Capital carried 
interest at 5% p.a. During 2011 and 2012, they 
made profits of Rs. 80,000 and Rs. 1,00,000  
(before allowing interest on capitals). Drawing of 
each partner were Rs. 20,000 per year. On  
31.12.2012, they firm was dissolved creditors on 
that date were Rs. 48,000. The assets realised  
Rs. 5,20,000 (Net). 

  Prepare Realisation account. 

  1.1.2011 AßÖ A, B ©ØÖ® C •øÓ÷¯ ¹. 2,00,000, 

¹. 1,60,000  ©ØÖ® ¹. 1,20,000 •u½k ö\´¯ 

Â¯õ£õμ® xÁ[QÚº. C»õ£ |mhzøu 4 : 3 : 3 GßÓ 

ÂQuzvÀ £Qº¢x  öPõshÚº. •uÀ «x Ámi 

BsiØS 5% BS®. 2011 ©ØÖ® 2012 BskPÎÀ 

AÁºPÒ •uÀ «x ÁmiUS •¢øu¯ C»õ£®  

¹. 80,000 ©ØÖ® ¹. 1,00,000 DmiÚº. JÆöÁõ¸ 

TmhõÎ°ß Gk¨¦ BsiØS ¹. 20,000 BS®. 

31.12.2012 AßÖ {ÖÁÚ® Pø»UP¨£mhx. AßøÓ¯ 

÷uv°À PhÜ¢÷uõºPÒ ©v¨¦ ¹. 48,000 ö\õzxUPÒ 

¹. 5,20,000 ({Pμ)US ÂØ£øÚ ö\´¯¨£mhx. wºÄU 

PnUøP u¯õº ö\´P. 

15. (a) Explain the procedure for selling the business of a 
partnership to a limited company. 

  J¸ Tmhõsø©z öuõÈø» J¸ Áøμ¯Ö {Ö©zvØS 

ÂØ£øÚ ö\´²®÷£õx ¤ß£ØÓ ÷Ási¯ •øÓPøÍ 

ÂÍUSP. 

Or 
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 (b) Kamala, Vimala and Gokila were sharing profits 
and losses in the ratio of 3 : 2 : 1 respectively as 
partners. They decided to dissolve the firm on 30th 
June 2008. The Balance Sheet on that date were as 
under : 

Liabilities  Rs. Assets  Rs. 

Capital   Fixed assets  60,000

Kamala  25,000 Current assets  40,000

Vimala  25,000  

Gokila  15,000  

Creditors  35,000  

 1,00,000  1,00,000

  All the assets were realised Rs. 85,000, that amount 
realised in first instalment Rs. 35,000, in second 
instalment Rs. 25,000 and in third instalment  
Rs. 25,000. 

  Show the statement showing distribution of cash 
under proportionate capital method. 

  P©»õ, Â©»õ ©ØÖ® ÷PõQ»õ BQ¯ TmhõÎPÒ  

3 : 2 : 1 GßÓ ÂQuzvÀ »õ£ |mh[PøÍ £Qº¢x 

öPõÒQÓõºPÒ. áüß 30 2008À AÁºPÒ {ÖÁÚzøu 

Pø»¨£uØS •iÄ ö\´uÚº. A÷u |õÍßÖ EÒÍ 

C¸¨¦ {ø»U SÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

•uÀ  {ø»¯õÚ ö\õzxUPÒ 60,000
P©»õ  25,000 |h¨¦a ö\õzxUPÒ 40,000
Â©»õ 25,000  
÷PõQ»õ 15,000  
PhÜ¢÷uõº 35,000  

 1,00,000  1,00,000
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  AøÚzx ö\õzxUPÎß ÂØ£øÚ¯õÀ QøhUP¨ ö£ØÓ 

öuõøP ¹. 85,000 BS®. •uÀ uÁøn°À  

¹. 35,000•® CμshõÁx uÁøn°À ¹. 25,000. 

öμõUP £[RmiøÚ Põs¤US® £mi¯ø» ÂQuõa\õμ 

‰»uÚ©õUP £[Rmk •øÓ°À u¯õ›UP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Praveen and Ravi enter into a partnership on 1st January 
2009 contributing Rs. 30,000 and Rs. 20,000 respectively 
as capital. They agree to share profit in the ratio of 2 : 1. 
Praveen is to be allowed a salary of Rs. 3,600 and Ravi 
Rs. 2,400 per year. 6% interest is payable on capital. 
Interest on drawings is 6% p.a. During the year Praveen 
withdraws Rs. 4000 and Ravi Rs. 3,000. Profit in 2009 
before making adjustments for the above items is  
Rs. 14,790. Show how the profit will be distributed. Also 
show the capital accounts of partners under fluctuating 
capital method. 

 1 áÚÁ› 2009 AßÖ ¤μÃß ©ØÖ® μÂ •øÓ÷¯ ¹. 30,000 

©ØÖ® ¹. 20,000I •u»õP ö\¾zv Tmhõsø©°À 

J¨£¢u® ö\´uÚº. AÁºPÒ C»õ£zøu 2 : 1 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒÍ J¨¦U öPõshÚº. J¸ 

BsiØS Fv¯©õP ¤μÃÝUS ¹. 3,600® μÂUS ¹. 2,400 

ÁÇ[P¨£h÷Ásk®. 6%  •uÀ ÷©À Ámi¯õP ö\¾zu¨ 

£h÷Ásk®. Gk¨¦PÎß «uõÚ Ámi Á¸hzvØS 6% 

BS®. A¢u BsiÀ ¤μÃß  

¹. 4,000&zøu²®, μÂ ¹. 3,000zøu²® Gk¨¦ ö\´uÚº. 

÷©ØTÔ¯ CÚ[PøÍ \›Pmk® •ß 2009® Bsiß 

C»õ£® ¹. 14,709 BP C¸¢ux.  C»õ£® GÆÁõÖ 

£Qº¢uÎUP¨£k® Gß£øu PõmkP. ÷©¾® ©õÖ® •uÀ 

•øÓ°ß RÌ TmhõÎPÎß •uÀ PnUøP PõmkP. 
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17. The following is the Balance sheet of A and B as on 31st 

March 2013. C is admitted as a partner on that date : 

Liabilities  Rs. Assets  Rs. 

Capital A 10,000 Debtors  11,000

Capital B 8,000 Building  8,000

Creditors  12,000 Machinery  10,000

General reserve  16,000 Stock  12,000

Workmen Compensation fund 4,000 Cash at bank 9,000

 50,000  50,000

 A and B shared profits in the ratio of 3 : 2. The following 

terms of admission are agreed upon: 

 (a) Revaluation of assets: Building Rs. 18,000, Stock 

Rs. 16,000. 

 (b) The liability on workmen compensation fund is 

determined at Rs. 2,000 

 (c) C brought in as his share of goodwill Rs. 10,000 his 

cash 

 (d) C was to bring further cash as would made his 

capital equal to 20% of the combined capitals of 

partners A and B (after adjustments are carried 

out). 

 (e) The future profit sharing ratio was A 2 : 2 : 1. 

  Prepare Revaluation account, partners capital 

account and the new balance sheet of the firm. 
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 31.3.2013À EÒÍ A ©ØÖ® B BQ¯ TmhõÎPÎß C¸¨¦ 

{ø»USÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. A÷u |õÎÀ 

AÁºPÒ C GßÓ TmhõÎ°øÚ ÷\ºzxU öPõshÚº. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

•uÀ A 10,000 PhÚõÎPÒ 11,000

           B 8,000 Pmih® 8,000

PhÜ¢÷uõº 12,000 C¯¢vμ® 10,000

ö£õxPõ¨¦ 16,000 \μUQ¸¨¦ 12,000

öuõÈ»õÍº CÇ¨¥mk {v 4,000 Á[Q öμõUP® 9,000

 50,000  50,000

 A ©ØÖ® B GßÓ TmhõÎPÒ C»õ£zvøÚ 3 : 2 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. TmhõÎPÒ 
÷\ºUP¨£k®ö£õÊx, RÌUPsh {£¢uøÚPÒ |h¨¦U 
öPõÒÍ¨£mhÚ. 

 (A) ö\õzxUPÎß ©Ö©v¨¥k Pmih® ¹. 18,000 \μUS  
¹. 16,000 

 (B) öuõÈ»õÍºPÒ CÇ¨¥k {vUPõÚ ö£õÖ¨¦PÒ  
¹. 2,000 GÚ {ºn°UP¨£kQÓx 

 (C) C |Øö£¯›ß £[PõP ¹. 10,000I öμõUP©õP öPõsk 
Á¢uõº. 

 (D) (\›Pmh¾US¨ ¤ß EÒÍ) A ©ØÖ® B ß Tmk 
•u¼À 20% US \©©õÚ •uø» C öμõUP©õP 
öPõsk Áμ ÷Ásk®. 

 (E) A AÁºPÐøh¯ GvºPõ» C»õ£ £QºÄ ÂQu® 2 : 2 : 
1. 

  ©Ö ©v¨¥mk PnUS, TmhõÎPÒ •uÀ PnUSPÒ 

©ØÖ® TmhõÎPÎß ¦v¯ C¸¨¦ {ø»USÔ¨¦ u¯õº 

ö\´P. 
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18. A, B, C were partners entitled to 1/2, 1/3 and 1/6 share of 
profit respectively. 

Summary of their balance sheet on 31.12.1998 was as follows. 
Liabilities  Rs. Assets  Rs. 

Sundry creditors  15,000 Goodwill  50,000

Capital : A  70,000 Sundry assets 60,000

B 50,000 Cash  55,000

C 30,000  

 1,65,000  1,65,000

 The following steps were taken on 31st January 1999.  

 (a) C retired and his interest in firm was valued at  
Rs. 40,000 it was purchased by A and B from their 
private resources in their profit sharing proportion.  

 (b) D was admitted and become entitled to 1/6 share of 
profits on the condition that A and B should be 
credited in the profit ratio for goodwill       
amounting Rs. 30,000 he should bring in D capital 
equal to 1/5 of combined capital of A and B for 
adjustment. Prepare partners capital accounts and 
show the opening balance sheet of the reconstituted 
firm as 01.01.1999. 

 A, B. C TmhõÎPÒ 1/2, 1/3 ©ØÖ® 1/6 AßÖ ÂQuzvÀ 

C»õ£zøu £Qº¢x öPõÒQßÓÚº. 31.12.1998 C¸¨¦ 

{ø»U SÔ¨¦ öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

PhÜ¢÷uõº 15,000 |ß©v¨¦ 50,000

•uÀ :  A  70,000 £Ø£» ö\õzxUPÒ 60,000

            B 50,000 öμõUP® 55,000

            C 30,000  

 1,65,000  1,65,000
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 RÌUPsh |hÁiUøPPÒ  áÚÁ› 1 , 1999 GkUP¨£mhx. 

 (A) C K´Ä ö£ØÓõº. AÁ¸øh¯ £[S ¹. 40,000 GÚ 

©v¨¤h¨£mk A ²® B ²® A¨£[øP 

AÁºPÐøh¯ »õ£¨ £QºÄ •øÓ°À ö\õ¢u 

{v°¼¸¢x Áõ[P¨£mhx.  

 (B) D, 1/6 C»õ£ £[QØS TmhõÎ¯õP HØÖU 

öPõÒÍ¨£mhx.  A ²® B ²® ¹. 30,000 ©v¨¦ÒÍ 

|ß ©v¨ø£ »õ£ ÂQu¨£i £Qº¢x öPõÒÍ 

HØP¨£mhx. A, B °ß \›Pmh¨£mh ¤ßÝÒÍ 

•u¼ØS 1/5 AÍÂØS D •uÀ öPõsk Áμ 

÷Ásk®. TmhõÎPÒ •uÀ PnUSPøÍ²® ¦v¯ 

Tmhõsø©°ß öuõhUP 01.01.1999 ß C¸¨¦ 

{ø»U SÔ¨ø£²® u¸P. 

19. Ajay, Arun and Ananth share profits in the ratio at  
3 : 2 : 1 on 31.12.2006 their balance sheet was as follows : 

Liabilities  Amount (Rs.) Assets  Amount (Rs.)

Creditors  24,000 Machinery 50,000

General Reserve  6,000 Stock  22,000

Capital : Ajay  40,000 Debtors  19,000

Capital : Arun  30,000 Goodwill  26,000

Capital : Ananth  20,000 Cash  3,000

 1,20,000  1,20,000

 On the above date, the firm was dissolved. The assets 
except cash realised Rs. 1,20,000. The creditors were 
settled at Rs. 23,000. Dissolution expenses amounted to 
Rs. 1,600. Give necessary ledger accounts. 

 Aá´, A¸s ©ØÖ® BÚ¢z Gß£Á›ß £[S C»õ£®  

3 : 2 : 1  GßÓ ÂQuzvÀ ¤›zx AÎUP¨£kQÓx. AÁØÔß 

31.12.2006UPõÚ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 
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ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 24,000 C¯¢vμ® 50,000

ö£õxPõ¨¦ 6,000 \μUS 22,000

•uÀ : Aá´ 40,000 PhÚõÎPÒ 19,000

•uÀ : A¸s 30,000 |Øö£¯º 26,000

•uÀ : BÚ¢z 20,000 öμõUP® 3,000

 1,20,000  1,20,000

 ÷©ØTÔ¯ ÷uv°À C¢u {ÖÁÚ©õÚx |¼ÄØÓx. ö\õzx, 

öμõUPzøuz uÂμ ¹. 1,20,000. PhÜ¢÷uõ¸US 

öPõkUP¨£mhx ¹. 23,000. {Ö©U Pø»¨¦ ö\»Ä ¹. 1,600. 

÷©ØTÔ¯ÁØÔØS ÷£÷μmkU PnUøPz u¯õº ö\´. 

20. A, B and C are partners sharing Profit and Losses in the 
ratios 3: 4: 5. They decided to dissolve the partnership on 
1st July 2006 and agreed that the sale of assets should not 
be forced but should be made gradually. As the 
realization was not likely to be completed for over a year. 
The partners wished the receipts from sales to be dealt 
with as and when received. The following was the 
Balance Sheet of the firm at the date of dissolution : 

Liabilities   Rs. Assets   Rs. 

Creditors  10,000 Sundry assets 36,000

B’s loan account  2,000  

Capital :   

A 12,000  

B 8,000  

C 4,000  

 36,000  36,000
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 The net amount realized from the gradual sale of assets 
were as follows: 

 1st instalment - Rs.  5,000 

 2nd instalment - Rs. 10,000 

 3rd instalment - Rs. 5,100 

 4th instalment - Rs. 6,300 

 5th instalment - Rs. 5,700 

 Draw up a detailed statement, showing the distribution 
of each instalment received. 

 A, B ©ØÖ® C GßÓ TmhõÎPÒ •øÓ÷¯ 3 : 4 : 5 GßÓ 

ÂQuzvÀ »õ£ |mh[PøÍ £Qº¢x öPõÒQßÓÚº. AÁºPÒ 

u[PÒ {ÖÁÚzøu 01.07.2006 AßÖ Pø»UP •iÄ 

ö\´uÚº. BÚõÀ {ÖÁÚzvß ö\õzxUPøÍ EhÚi¯õP 

ÂØ£øÚ ö\´¯ ÷Áshõ® GÚÄ® £i¨£i¯õP ÂØ£x 

GÚÄ® •iÄ ö\´uõºPÒ. ö\õzxUPÒ ÂØ£x J¸ 

Á¸hzvØSÒ •iÁøh¯õöuß£uõÀ G¨ö£õÊöuÀ»õ® 

AøÁPÒ ÂØP¨£kQßÓÚ÷Áõ, A¨ö£õÊx öuõøP 

v¸®£¨ ö£ØÖU öPõÒÁuõPÄ® •iÄ ö\´uÚº.  

 Â¯õ£õμ® Pø»UP¨£k® ö£õÊx Auß C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

PhÜ¢÷uõº 10,000 £Ø£» ö\õzxUPÒ  36,000

B °ß Phß P/S 2,000  

•uÀ ;   

A 12,000  

B 8,000  

C 4,000  

 36,000  36,000
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 £i¨£i¯õP ö\õzxUPÒ ÂØÓuõÀ Qøhzu öμõUPzvß 

Â£μ® ¤ßÁ¸©õÖ : 

 •uÀ uÁøn  - ¹.  5,000 

 Cμshõ® uÁøn - ¹. 10,000 

 ‰ßÓõ® uÁøn  - ¹. 5,100 

 |õßPõ® uÁøn  - ¹. 6,300 

 I¢uõ® uÁøn  - ¹. 5,700 

 JÆöÁõ¸ uÁøn öμõUPzøu²® ¤›zxU öPõk¨£uØPõÚ 

J¸ AÔUøPø¯z u¯õº ö\´P. 

—————— 
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PRINCIPLES OF MANAGEMENT  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define ‘Management’. 

 ‘÷©»õsø©’ Áøμ¯Ö. 

2. Who is the father of modern management? 

 |ÃÚ ÷©»õsø©°ß u¢øu Gß£Áº ¯õº? 

3. What is ‘Planning’? 

 ‘vmhªkuÀ’ GßÓõÀ GßÚ? 

4. Name the types of Plans. 

 vmh[PÎß ÁøPPÎß ö£¯ºPøÍ u¸P. 

5. Define ‘Organising’. 

 ‘Aø©¨¦ •øÓ’ Áøμ¯Ö. 
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6. What do you mean by ‘Span of Management’? 

 ‘÷©»õsø© Ãaö\Àø»’ GßÓõÀ GßÚ? 

7. Give the meaning of ‘Direction’. 

 ‘C¯USÂzuÀ’ Gß£uß ö£õ¸Ò u¸P. 

8. Define ‘Communication’. 

 ‘uPÁÀ öuõhº¦’ Áøμ¯Ö. 

9. What is ‘Controlling’? 

 ‘Pmk¨£kzxuÀ’ GßÓõÀ GßÚ? 

10. Define ‘PERT’ 

 ‘PERT’ Áøμ¯Ö. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) State the functions of Management. 

  ÷©»õsø©°ß £oPøÍ ÂÍUSP. 

Or 

 (b) Distinguish between Management and 
Administration. 

  ÷©»õsø©, {ºÁõP® – ÷ÁÖ£kzxP. 

12. (a) Indicate the importance of Planning. 

  vmhªku¼ß •UQ¯zxÁzøu SÔ¨¤kP. 

Or 

 (b) Mention the decision making process. 

  •iöÁkzu¼À EÒÍ £i{ø»PøÍ SÔ¨¤kP. 
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13. (a) What are the basis of Departmentation? 

  xøÓ©¯©õUP¼ß Ai¨£øhPÒ ¯õøÁ? 

Or 

 (b) Distinguish between centralisation and 
decentralisation. 

  ø©¯¨£kzxuÀ, £μÁ»õUSuÀ – ÷ÁÖ£kzxP. 

14. (a) State the principles of Direction. 

  C¯USÂzu¼ß ÷Põm£õkPøÍ TÖP. 

Or 

 (b) What are the barriers to communication? 

  uPÁÀ öuõhº¤À EÒÍ uøhPÒ ¯õøÁ? 

15. (a) Point out the steps in controlling. 

  Pmk¨£kzxu¼À EÒÍ £i{ø»PøÍ SÔ¨¤kP. 

Or 

 (b) Why controlling is essential? 

  Pmk¨£kzxuÀ Hß ÷uøÁ¨£kQßÓx? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the contributions of Henry Fayol? 

 öíßÔ ÷£¯¼ß ÷©»õsø© öuõhº£õÚ £[PÎ¨¦PÒ 
¯õøÁ? 

17. Discuss the steps involved in Planning. 

 vmhªku¼À EÒÍ £i{ø»PøÍ ÂÁ›. 



A–9966 

  

  4

18. Explain the principles of Organising. 

 Aø©¨¦ •øÓ°ß ÷Põm£õkPøÍ ÂÍUSP. 

19. State the Maslow’s need hierarchy theory of motivation. 

 ©õì÷»õÂß ö\¯¿UP ÷uøÁ £i{ø» ÷Põm£õmøhU 
TÖP. 

20. List out the various techniques of controlling. 

 Pmk¨£kzxu¼À EÒÍ £À÷ÁÖ ~m£[PøÍ £mi¯¼kP. 

———————— 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. What is Claytons case? 

 Q÷Ímhß uõÁõ GßÓõÀ GßÚ? 

2. Write short notes on : 

 (a)  Banker 

 (b)  Customer.  

 ]Ö SÔ¨¦ ÁøμP : 

 (A) Á[Q¯º 

 (B) ÁõiUøP¯õÍº. 

3. What is Garnishee order? 

 PõºÛæ Bøn GßÓõÀ GßÚ? 

4. What is current account? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 
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5. Write short notes on post date cheque. 

 ¤ß ÷uv°mh Põ÷\õø» £ØÔ ]Ö SÔ¨¦ ÁøμP. 

6. Distinguish between ‘holder’ and ‘holder in due course’. 

 ‘©v¨¦UPõP Eøh¯Áº’ ©ØÖ® ‘•øÓ¨£i Eøh¯Áº’ EÒÍ 
÷ÁÖ£õkPÒ u¸P. 

7. Who is Paying Banker? 

 ö\¾zx® Á[Q¯º Gß£Áº ¯õº? 

8. What is payment by mistake? 

 uÁÖu»õÚ ö\¾zuÀ GßÓõÀ GßÚ? 

9. What is credit card? 

 Phß Amøh GßÓõÀ GßÚ? 

10. What is FDR? 

 {ø» øÁ¨¦ \õßÖ GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all the questions. 

11. (a) What are the legal implication of debtor-creditor 
relationship between the banker and customer? 

Á[Q¯¸US® ÁõiUøP¯õÍ¸US® Cøh÷¯¯õÚ 
PhÚõÎ, PhÜ¢÷uõº öuõhº¦ SÔzu \mhU P¸zx 
GßÚ? 

Or 

 (b) How and when a banker may disclose information 
regarding the customer's account? 

  ÁõiUøP¯õÍ›ß PnUS £ØÔ Â£μzøu Á[Q¯º 
G¨£i ©ØÖ® G¨÷£õx öÁÎ¨£kzu»õ®? 
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12. (a) What are the differences between savings account 
and current account? 

÷\ª¨¦ PnUQØS® |h¨¦ PnUQØS® EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the privileges enjoyed by minors? 

  CÍÁÀ AÝ£ÂUS® ]Ó¨¦a \¾øPPÒ ¯õøÁ? 

13. (a) What are the advantages of cheque? 

  Põ÷\õø»°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the precautions taken by a banker before 
honouring a cheque. 

  Põ÷\õø» ©v¨¤ØS •ßÚuõP Á[Q¯º GkUP 
÷Ási¯ •ßöÚaö\›UøP |hÁiUøPPøÍ TÖP. 

14. (a) What is meant by payment in due course? 

  uØPõ¼P ö\¾zx›ø© ö£ØÓÁº GßÓõÀ GßÚ? 

Or 

 (b) What do you mean by conditional endorsement? 

  {£¢uøÚ¨ ¦Ó SÔ¨¦ £ØÔ }Âº AÔÁx ¯õx? 

15. (a) What are the duties of a collecting banker? Explain. 

  Á`¼US® Á[Q¯›ß Phø©PÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) What do you mean by negligence? Explain the basis 
of negligence. 

  £õμõ•P® GßÓõÀ GßÚ? Auß Ai¨£øhø¯ ÂÁ›. 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the special relationship between banker and 
customer. 

Á[Q¯¸US® ÁõiUøP¯õÍ¸USªøh÷¯ EÒÍ ]Ó¨¦ 
EÓÄPÒ £ØÔ ÂÍUSP. 

17. What are the precautions to be taken by a banker while 
opening an account in the name of minor? 

J¸ CÍÁ›ß ö£¯›À PnUøPz xÁ[SÁuØS Á[Q¯º 
÷©ØöPõÒÍ ÷Ási¯ •ßöÚa\›UøPPÒ ¯õøÁ? 

18. What is meant by material alteration? What are its 
effects? 

‰»©õØÓ® GßÓõÀ GßÚ? Auß ÂøÍÄPÒ ¯õøÁ? 

19. What are the precautions to be taken by the paying 
banker? 

ö\¾zx® Á[Q¯º ÷©ØöPõÒÍ ÷Ási¯ •ßöÚa\›UøP 
|hÁiUøPPÒ ¯õøÁ? 

20. Explain the statutory protection available to the 
collecting banker in India. 

 C¢v¯õÂÀ Á`¼US® Á[Q¯¸UPõÚ \mh £õxPõ¨¤øÚ 
ÂÁ›. 

———————— 
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 Section A  (10  2 = 20) 

Answer all the questions. 

1. What is Compound Interest? 

 Tmk Ámi GßÓõÀ GßÚ? 

2. What do you mean by Sinking Fund? 

 ‰ÌS® {v Gß£uß ö£õ¸Ò ¯õx? 

3. Write the meaning of Logarithms. 

 ©hUøP Gß£uß ö£õ¸øÍ GÊxP. 

4. Change into logarithmic form : 10 a . 

 ©hUøP ÁiÂÀ ©õØÖP : 10 a . 

5. What is finite set? 

 Áøμ¯ÖUP¨£mh Pn® GßÓõÀ GßÚ? 
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6. What do you mean by Venn diagram? 

 öÁs ÂÍUP¨£h® Gß£uß ö£õ¸Ò ¯õx? 

7. Define Probability. 

 {PÌuPÄ Áøμ¯Ö. 

8. Find the probability of drawing a Spade queen from a 
well shuffled pack of 52 cards. 

 |ßS P»UP¨£mh 52 PõºkPÒ öPõsh J¸ PmiÀ ì÷£k  

queen Qøh¨£uØPõÚ {PÌuPÂøÚ PnUQkP. 

9. What is Binomial Distribution? 

 D¸Ö¨¦ £μÁÀ GßÓõÀ GßÚ? 

10. State any two characteristics of Poisson distribution. 

 £õ´\õß £μÁ¼ß ]Ó¨¤¯À¦PÎÀ H÷uÝ® CμsiøÚ 
TÖP.  

 Section B (5  5 = 25) 

Answer all the questions. 

11. (a) At what interest rate will Rs. 75,000 yield Rs. 3,500 
as Simple Interest in six months? 

   ¹. 75,000&I 6 ©õu[PÐUS uÛÁmi •øÓ°À 
•u½k ö\´²® ö£õÊx ¹. 3,500 Ámi¯õP 
ö£Ö®ö£õÊx Auß Ámi Ãu® ¯õx? 

Or 

 (b) What is the Present Value of Rs. 50,000 to be 
received after 10 years at 10% compounded 
annually? 

   ¹. 50,000&I 10% Ámi ÃuzvÀ  10 Á¸h[PÐUS 
¤ÓS Á¸hzvØS J¸•øÓ Tmh¨£k®ö£õÊx Auß 
uØ÷£õøu¯ ©v¨¦ ¯õx? 
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12. (a) Find 25log8  given 3010.02log10  . 

   3010.02log10   GÛÀ 25log8  &I PnUQkP. 

Or 

 (b) Prove that xylog . yzlog . 1log zx . 

   xylog . yzlog . 1log zx  Gß£uøÚ {¹¤UP. 

13. (a) If  5,4,3,2,1,0U ,  2,1,0A  and  4,2B . 
Prove that  

  (i) BABA  )(  

  (ii) BABA  )( . 

    5,4,3,2,1,0U ,  2,1,0A  ©ØÖ®  4,2B   

  (i) BABA  )(  

  (ii) BABA  )(  GÚ {¹¤UP. 

Or 

 (b) If  4,3,2,1A ,  6,5,4,3B  and  8,7,6,5,1C  
verify that )()()( CABACBA  . 

    4,3,2,1A ,  6,5,4,3B ,  8,7,6,5,1C  

)()()( CABACBA   Gß£uøÚ 

\›£õºUP. 

14. (a) Two dice are thrown, what is the probability of 
getting the sum being 8 or the sum being 10? 

   Cμsk £PøhPøÍ  Ã\¨£mhx, AÁØÔß TkuÀ  
8  AÀ»x TkuÀ 10 BP C¸¨£uØPõÚ {PÌuPÂøÚ 
PnUQkP. 

Or 
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 (b) If 3.0)(  BAP , 6.0)( AP , 7.0)( BP , find the 
value of )/( ABP . 

  3.0)(  BAP , 6.0)( AP , 7.0)( BP  GÛÀ 

)/( ABP &I PnUQkP. 

15. (a) A normal distribution has mean = 20 and standard 
deviation = 10. Find area between 15x  and 

40x . 

   J¸ C¯À£õÚ £μÁ¼ß Tmk \μõ\› = 20, vmh 

Â»UP® = 10. 15x  ©ØÖ® 40x  CÁØÔØS 

Cøh÷¯¯õÚ £μ¨£ÍøÁ PnUQkP. 

Or 

 (b) In a Poisson distribution )4()2(3  XPXP . 

Find the parameter ‘m’. 

   J¸ £õ´\õß £μÁ¼À )4()2(3  XPXP  Auß 

m&ß AÍøÁø¯ PnUQkP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. The difference between true discount and banker’s 
discount on a bill due after 6 months discounted at 6% 
per annum is Rs. 27. Find the True Discount, Banker’s 
Discount and the Face Value of the Bill. 

 6 ©õu uÁønUPõ»® Á¸hzvØS 6% uÒÐ£i \uÂQu® 

EÒÍ J¸ Cμ^vß Esø© uÒÐ£iUS® Á[Q¯›ß 

uÒÐ£iUS® EÒÍ Âzv¯õ\® ¹. 27 A¢u Cμ^vß 

Esø© uÒÐ£iø¯²®, Á[Q¯º uÒÐ£iø¯²® ©ØÖ® 

A¢u Cμ^vß •P©v¨¤øÚ²® PnUQkP. 
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17. Show that : 

 1
80
81

log7
24
25

log12
15
16

log162log  . 

 1
80
81

log7
24
25

log12
15
16

log162log   Gß£uøÚ 

{¹¤UP. 

18. In a certain city, 3 daily news papers, the ‘Times’, the 
‘Express’ and the ‘Daily’ are mainly read. 42% of the 
literates from the city read ‘Times’, 51% read ‘Express’, 
68% read ‘Daily’, 30% read both ‘Times’ and ‘Express’, 
28% read both ‘Express’ and ‘Express’ and ‘Daily’, 36% 
read ‘Daily’ and ‘Times’ and 8% read none of these 
papers. 

 Find the percentage of people who read all the three 
newspapers. 

 J¸ SÔ¨¤mh |PμzvÀ vÚ®÷uõÖ® ‘øh®ì’, GUì¤μì 

©ØÖ® ‘öhÀ¼’ BQ¯ ö\´vuõÒPøÍ ¤μuõÚ©õP 
£iUQßÓÚº. A¢u |PμzvÀ £izuÁºPÎÀ 42 \uÂQuzvÚº 
øh®ì |õÎuøÇ²® 51 \uÂQuzvÚº GUì¤μì 
|õÎuøÇ²®, 68 \uÂQuzvÚº öhÀ¼ |õÎuøÇ²® 
£iUQßÓÚº. 30 \uÂQuzvÚº øh®ì ©ØÖ® GUì¤μì 
|õÎuøÇ²®, 28 \uÂQuzvÚº GUì¤μì ©ØÖ® öhÀ¼ 
|õÎuøÇ²® 36 \uÂQuzvÚº öhÀ¼ ©ØÖ® øh®ì 
|õÎuøÇ²®, 8% \uÂQuzvÚº G¢u |õÎuøÇ²® 
£i¨£vÀø». ‰ßÖ ö\´vuõÒPøÍ²® £i¨£ÁºPøÍ 
\uÂQuzvÀ SÔ¨¤kP. 

19. Three coins are tossed simultaneously, find the 
probability that 

 (a) No head 
 (b) One head 
 (c) Two heads 
 (d) Atleast two heads 
 (e) Utmost two heads appear. 
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 ‰ßÖ |õn¯[PÒ J÷μ ÷|μzvÀ _sh¨£kQÓx. R÷Ç 
SÔ¨¤mhøÁPÐUS {PÌuPÂøÚ PnUQkP. 

 (A) uø»PÒ AÀ»õuøÁ 

 (B) J¸ uø» ©mk® 

 (C) Cμsk uø» ©mk® 

 (D) SøÓ¢u£m\® Cμsk uø»PÒ 

 (E) AvP£m\® Cμsk uø»PÒ Ch® ö£Ó ÷Ásk®. 

20. Fit a binomial distribution for the following data and find 
the expected frequencies. 

X 0 1 2 3 4

f 18 35 30 13 4

 ¤ßÁ¸® ÂÁμ[PÐUS D¸Ö¨¦ £μÁø» ö£õ¸zv, 
Gvº£õºUS® Aø»öÁsPøÍ PnUQkP. 

X 0 1 2 3 4

f 18 35 30 13 4

 
 

 
———————— 



 

  

A–9969   

B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations

Fourth Semester 

Commerce 

ADVANCED ACCOUNTANCY — IV 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Contract. 

 J¨£¢uzøu Áøμ¯ÖUPÄ®. 

2. What is Work Certified? 

 \õßÓÎUP¨£mh ÷Áø» GßÓõÀ GßÚ? 

3. Bring out the meaning of Royalties. 

 E›ø©z öuõøP°ß ö£õ¸øÍ u¸P. 

4. Who is a Lessor? 

 SzuøPõμº Gß£Áº ¯õº? 

5. State the meaning of Hire Purchase Trading account. 

 ÁõhøP öPõÒ•uÀ Â¯õ£õμ PnUQß ö£õ¸øÍ TÖP. 

6. Write the meaning of Partial re-possession. 

 £Sv ©Ö Eøhø© GßÓ ö£õ¸øÍ GÊxP. 

Sub. Code 
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7. What do you mean by Deficiency account? 

 £ØÓõUSøÓ PnUøP¨ £ØÔ }Âº AÔÁx ¯õx? 

8. Mention the meaning of Statement of Affairs. 

 {ø» AÔUøP GßÓ £uzvøÚ SÔ¨¤kP. 

9. Define Departmental accounting. 

 xøÓÁõ›U PnUQøÚ Áøμ¯ÖUPÄ®. 

10. What is branch account? 

 QøÍU PnUS GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the following :  

  (i) Notional Profit  

  (ii) Contractor and contractee. 

  ¤ßÁ¸£ÁÚÁØøÓ ÂÍUSP : 

  (i) Ez÷u\ C»õ£® 

  (ii) J¨£¢u® ö£Ö£Áº ©ØÖ® J¨£¢u® u¸£Áº. 

Or 
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 (b) The following was the expenditure on a contract for 
Rs. 12,00,000 commenced in June 2008. 

 Rs. 

Materials 2,40,000 

Wages 3,28,000 

Plant 40,000 

Overheads 17,200 

Work uncertified   8,000 

  Cash received on account of the contract to 31st Dec. 
2008 was Rs. 4,80,000, being 80% of the work 
certified. The value of materials in hand was  
Rs. 12,000. The plant had undergone 20% 
depreciation. Prepare Contract Account. 

  áúß 2008 B® Bsk öuõh[P¨£mh ¹. 12,00,000 
©v¨¤»õÚ J¸ J¨£¢uzvß ö\»ÄPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ 

 ¹. 

‰»¨ö£õ¸ÒPÒ 2,40,000 

T¼ 3,28,000 

öuõÈØTh® 40,000 

÷©Øö\»ÄPÒ 17,200 

\õßÓÈUP¨£hõu £o 8,000 

  31.12.2008 AßÖ J¨£¢u öuõøP°À £o 
\õßÓÎUP¨£mhvÀ 80% öμõUP©õP ö£Ó¨£mhx  
¹. 4,80,000. øP°¼¸UP Ti¯ \μUQß ©v¨¦  
¹. 12,000. ö£õÔUPõÚ ÷u´©õÚ® 20% JxUP¨£mhx. 
J¨£¢u PnUQøÚ u¯õ›UP. 
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12. (a) Bihar coal limited leased a colliery from Himalaya 
Coal Ltd. On 1st January, 2008 at a minimum rent 
of Rs. 15,000 merging into a royalty of Rs. 1 per ton 
with a stipulation to recoup short working over the 
first three years of the lease. The output for the first 
four years of the lease was Rs. 8,000, 13,000, 21,000 
and 18,000 tones respectively. Draft the necessary 
journal entries in the books of Bihar coal limited. 

  ¥Põº {»UP› _μ[P® î©õ»¯õ {»UP› ¼ªöhmih® 
C¸¢x J¸ {»UP› _μ[PzvøÚ áÚÁ› 1, 2008 
AßÖ ¹. 15,000 SøÓ¢u ÁõhøPUS J¸ hßÛØUS 
E›ø© öuõøP¯õP ¹. 1 ® GßÓ Ehß£õmiÀ 
SzuøPUS GkzxU öPõshx, SøÓ¢u ÁõhøPø¯ 
EÒÍ £ØÓõU SøÓø¯ •uÀ ‰ßÖ BskPÐUSÒ 
GßÓ Ehß£õmkhß «mP¨£h ÷Ásk®. A¢u 
SzuøP°À C¸¢x ö£ØÓ EØ£zv •uÀ |õßS 
BskPÐUS •øÓ÷¯ ¹. 8,000, ¹. 13,000,  
¹. 21,000 ©ØÖ® ¹. 18,000. ÷uøÁ¯õÚ SÔ¨÷£mk 
£vÄPøÍ ¥Põº {»UP› ¼ªmöhmiß HkPøÍ £vP. 

Or 

 (b) Compute short workings recovered from the 
following particulars assuming short workings are 
recoupable in the following two years: 

  Royalty: Rs. 5 per ton of coal raised 

  Dead rent: Rs. 35,000 p.a. 

  Output: 1999: 5000 tonnes 

   2000 :8000 tonnes 

   2001: 10000 tonnes. 
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  ¤ßÁ¸® Â£μ[PÎ¼¸¢x CÇ¨¥mk öuõøPø¯ 
•uÀ Cμsk BskPÐUSÒ Dkö\´x öPõÒÍ 
÷Áskö©Ú öPõsk CÇ¨¥mk öuõøPø¯ 
PnUQkP. 

  E›ø© öuõøP ¹. 5 J¸hß {»UP› EØ£zvØS SøÓ 
ÁõhøP ¹. 35,000 J¸ BsiØS 

  EØ£zx 1999 : 5000 hßPÒ 

   2000 : 8000 hßPÒ 

   2001 : 10000 hßPÒ. 

13. (a) X Purchased a machine under hire purchase 
system. According to the terms of the agreement  
Rs. 40,000 was to be paid on signing of the contract. 
The balance was to be paid in four annual 
instalments of Rs. 25,000 each plus interest. The 
cash price was Rs. 1,40,000. Interest is chargeable 
on outstanding balance at 20% per annum. 

  Calculate interest for each year and the instalment 
amount. 

  X Gß£Áº ÁõhøP öPõÒ•uÀ •øÓ°À J¸ 
C¯¢vμzøu Áõ[QÚõº. Ehß£õmk \μzxPÎß £i 
J¨£¢uzvÀ øPö¯Êzx Ck® ö£õÊx ¹. 40,000 
ö\¾zu ÷Ásk®. «v öuõøPø¯ |õßS Á¸h 
uÁønPÎÀ ¹. 25,000 Ehß Ámi²® ÷\º¢x 
ö\¾zu¨£h ÷Ásk®. Auß öμõUP Âø»  
¹. 1,40,000. öPõkUP¨£h ÷Ási¯ {¾øÁ°À EÒÍ 
öuõøPUS J¸ Á¸hzvØS 20% Ámi 
PnUQh¨£h÷Ásk®. JÆöÁõ¸ Á¸h Ámiø¯²® 
Auß uÁøn öuõøPø¯ PnUQkP. 

Or 

 (b) State the main features of hire purchase system. 

  ÁõhøP öPõÒ•uÀ •øÓ°ß •UQ¯ £s¦PøÍ 
TÖP. 
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14. (a) What is statement of affairs? How does it differ 
from balance sheet? 

  {ø» AÔUøP GßÓõÀ GßÚ? Ax C¸¨¦ {ø» 
SÔ¨¤¼¸¢x GÆÁõÖ ÷ÁÖ£kQÓx? 

Or 

 (b) Prepare a Deficiency account from the following 
particulars: 

 Rs. 

Excess of assets over liabilities 4,000 

Loss in business 7,500 

Profits 12,000 

Drawings 15,000 

  ¤ßÁ¸® Â£μ[PÎ¼¸¢x £ØÓõUSøÓ PnUQøÚ 
u¯õº ö\´P. 

 ¹. 
ö£õÖ¨¦PøÍ Põmi¾®   
AvP©õP EÒÍ ö\õzxUPÒ 4,000 
ÁoPzvÀ HØ£mh |mh® 7,500 
C»£õ® 12,000 
Gk¨¦PÒ 15,000 

15. (a) From the following particulars prepare a branch 
account showing the profit or loss at the branch. 

 Rs. 

Opening stock at the branch 15,000 

Goods sent to the branch 45,000 

Sales 60,000 

Salaries 5,000 

Other expenses 2,000 
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  Closing stock could not be ascertained but it is 
known that the branch usually sells at cost plus 
20%. The branch manager is entitled to a 
commission of 5% on the profit of the branch before 
charging such commission. 

  ¤ßÁ¸® Â£μ[PÎ¼¸¢x J¸ QøÍ°ß C»õ£ 
|mhzøu AÔ¯ QøÍ PnUQøÚ u¯õ›UPÄ® 

 ¹. 
QøÍ°¼¸¢x Bμ®£ \μUQ¸¨¦ 15,000 
QøÍUS AÝ¨¥k ö\´u \μUS 45,000 
ÂØ£øÚ 60,000 
\®£Í® 5,000 
Cuμ ö\»ÄPÒ 2,000 

  CÖv \μUQ¸¨¦ AÔ¯£hÂÀø». BÚõÀ A¢u QøÍ 
ÁÇUP©õP AhUPzvÀ 20% ÷\ºzx ÂØ£øÚ 
ö\´QÓx. A¢u QøÍ ÷©»õÍ¸US PÈÁõP 
C»õ£zvÀ 5% PnUQh¨£kQÓx AuøÚ PÈ¨£uØUS 
•ßÚº PnUQh¨£kQÓx. 

Or 

 (b) Distinguish between departments and branches. 

  xøÓPøÍ²® QøÍPøÍ²® ÷ÁÖ£kzxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. M/s Kasi housing undertook a contract for  
Rs. 2,50,000 for constructing a building. Following is the 
information regarding the contract during 2013 

 Rs.  Rs. 
Materials issued to site 85,349 Materials at site on   
Plant installed at site 15,000 31st December 2013 1,883

Labour at site 74,375 Cost of work not yet  

Direct expenses 3,167 certified 4,500

Establishment expenses 4,126 Wages O/S on  
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 Rs.  Rs. 
Materials returned   31St Dec 2013 2,400

to stores 549 Direct exps O/S on  

Work certified 1,95,000 31st Dec 2013 240

Plant at the end 11,000   

Cash received from     

contractee 1,80,000   

 Prepare contract account and contractee's account. Show 
how the work-in-progress will appear in the balance 
sheet. 

 Põ] Pmk©õÚ {ÖÁÚ® ¹. 2,50,000 US J¸ Pmihzøu 
PmkÁuØUS J¨£¢u® ö\´ux. 2013 ® Bsiß 
J¨£¢uzvß öuõhº¦øh¯ uPÁÀPÒ R÷Ç 
öPõkUP¨£mkÒÍ 

 ¹.  ¹. 

Pmk©õÚ ChzvØS   31, i\®£º 2013  

ÁÇ[Q¯ \μUS 85,349 Pmk©õÚ ChzvÀ  

ö£õÔø¯ Pmk©õÚ   C¸¢u ö£õ¸ÒPÒ 1,883

ChzvÀ {ÖÂ¯x 15,000 \õßÓÎUP¨£hõu  

Pmk©õÚ   £o 4,500

ChzvÀ £o¯õÍ›ß T¼ 74,375 31 i\®£º 2013 £i  

÷|μi ö\»ÄPÒ 3,167 {¾øÁ¯õÚ T¼ 2,400

E¸ÁõUPa ö\»Ä 4,126 31 i\®£º 2013 ß  

øÁ¨£øÓUS v¸¨¤   £i ÷|μi ö\»Ä 240

AÝ¨£¨£mh \μUS 549   

\õßÖ AÎUP¨£mh £o 1,95,000   

ö£õÔ°ß CÖv ©v¨¦ 11,000   

J¨£¢u® ÁÇ[Q¯Á›h®    

ö£ØÓ öμõUP® 1,80,000   

 J¨£¢u PnUQøÚ²® J¨£¢u® ÁÇ[Q¯Á›ß 
PnUQøÚ²® u¯õº ö\´P. C¸¨¦ {ø»U SÔ¨¤À 
•i¢x® •i¯õ©¾® EÒÍ £o AÍÄ öuõøP°øÚ 
GÆÁõÖ PõmkÁõ´. 
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17. The P. Colliery Co. are lessees of a mine at a dead rent of 
Rs. 4,000 p.a. merging into a royalty of Rs. 2 per tone. 
Dead rent paid in excess of actual royalties is recoverable 
during the five years following the year in respect of 
which such excess was paid. The lease provided that is in  
case of strike and the minimum rental not being reached, 
the actual royalties earned for the year discharged all 
rental obligation for that year. The results of the working 
for the years ended were as follow: 

Year 2008 2009 2010 2011 
Actual royalties (in Rs.) 1,300 3,700 7,000 2,400 
   (Strike 3 months)

 Write up the minimum Rent, royalties payable , Short 
workings allowable and landlord accounts in the books of 
the Colliery co. 

 P. öPõøÍ¯› P®ö£Û ¹. 4,000 Á¸hzvØS SøÓ¢u 
ÁõhøP¯õP J¸ _μ[PzvøÚ J¸ hßÛØS ¹. 2 E›ø© 
öuõøP¯õP SzuøPUS Gkzux. SøÓ ÁõhøPø¯ 
ö\¾zxÁvÀ EÒÍ £ØÓõUSøÓ ¤ßÁ¸® I¢x Á¸h 
Põ»zvØSÒ ªSv¯õP ö\¾zxÁvÀ DkPmi öPõÒÍ¨£h 
÷Ásk®. A¢u SzuøP J¨£¢uzvß £i ÷Áø» {Özu 
|õmPÎÀ SøÓ¢u£m\ ÁõhøP Aøh¯õu £m\zvÀ 
Esø©¯õÚ E›ø© öuõøP ö£Ó¨£mhx. A¢u Á¸hzvÀ 
ÁõhøP ö\¾zu Phø©¨ £mhÁμõÁõº. ¤ßÁ¸® 
BskPÎß •iÄPÒ R÷Ç öPõkUP¨£mkÒÍx 

Á¸h® 2008 2009 2010 2011 
Esø© E›ø© 
öuõøP 

1,300 3,700 7,000 2,400 

   (÷Áø» {Özu |õmPÒ 3 

©õu®) 
18. On 1.1.1993, a firm purchased a Truck on instalment 

system. The cash price of the machinery was Rs. 11,175 
and payment was to be made as follows: Rs. 3,000 was to 
be paid on signing of the agreement and the balance in 
three instalments of Rs. 3000 each at the end of the each 
year. Interest at 5% is charged by the vendor. The firm 
has decided to write off 10% annually on the diminishing 
balance of the cash price. Give journal entries and ledger 
accounts in the books of the purchaser and hire vendor. 
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 J¸ {ÖÁÚ® 1.1.1993 AßÖ uÁøn •øÓ°À J¸ 
ÁõPÚzvøÚ Áõ[Q¯x. A¢u C¯¢vμzvÀ öμõUP Âø» ¹. 
11,175 AøÁ ¤ßÁ¸©õÖ ö\¾zu¨£h ÷Ási¯x.  
¹. 3,000 J¨£¢uzvÀ øPö¯Êzvk® ÷£õx ö\¾zu¨£h 
÷Ásk®. «v öuõøPø¯ Á¸hzvØS ¹. 3,000 ©õP ‰ßÖ 
uÁønPÍõP ö\¾zu¨£h ÷Ásk®. ÂØ£øÚ¯õÍº 
Ámi¯õP 5% PnUQkQÓõº. A¢{ÖÁÚ® öμõUP Âø»ø¯ 
Á¸hzvØS 10% SøÓ¢x ö\À C¸¨¦ •øÓ°À 
÷£õUöPÊxQÓx. SÔ¨÷£mk £vÄPøÍ²® ÷£÷μmk 
PnUSPøÍ²® öPõÒ•uÀ ö\´£Áº HkPÎ¾® 
ÂØ£øÚ¯õÍº HkPÎ¾® u¸P. 

19. On January, 31 1990 a compulsory order for winding up 
was made against X company Ltd. The following 
particulars being disclosed. 

 Book value Est. to produce
 Rs. Rs. 

Cash in hand 100 100
Debtors 4,000 3,600
Buildings 60,000 48,000
Furniture 20,000 20,000
Unsecured creditors                20,000 –
Debentures: 
Secured on buildings              42,000
Secured on. floating charges  10,000
Preferential creditors             6,000
Share capital :  
32000 shares of 10 each    3,20,000

 Estimated liability for bills discounted was Rs. 6,000 
estimated to rank Rs. 6,000. Other contingent liabilities 
were Rs. 12,000 estimated to rank at Rs. 12,000. The 
company was formed on the 1st day of January 1985 and 
has made losses of Rs. 3,13,900. Prepare statement of 
affairs  and deficiency a/c. 
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 áÚÁ› 31, 1990 & À X P®ö£Û ¼ªöhmiØS GvμõP 
Pmhõ¯ Pø»¨¦ Bøn ÁÇ[P¨£kQÓx. ¤ßÁ¸® 
Â£μ[PÒ öPõkUP¨£mkÒÍx 

 Hmk ©v¨¦ Gvº ÷|õUS® EØ£zx

 ¹. ¹. 

øP°¸¨¦ öμõUP® 100 100
PhÚõÎ 4,000 3,600
Pmih® 60,000 48,000
AøÓP»ß 20,000 20,000
¤øn¯©ØÓ PhÚõÎ 20,000 –

Phß£zvμ®: 

Pmihzvß «uõÚ  

¤øn¯® 42,000
ªuUS®  

ö\»ÄPÐUPõÚ ¤øn¯® 10,000

•ßÝ›ø© PhÚõÍºPÒ 6,000

£[S •uÀ :  

32000 £[SPÒ  

¹. 10  Ãu®  3,20,000

 ©õØÖ^mk uÒÐ£i ö\´u ÁøP°À ©v¨¤h¨£k® 
ö£õ¸¨¦ ¹. 6,000, AvÀ ¹. 6,000 ö\¾zu¨£h ÷Ásk®. 
Cuμ {PÌÄ \õº ö£õ¸¨¦ ¹. 12,000 À, ¹. 12,000 
ö\¾zu¨£h ÷Ásk®. A¢u {Ö©® 1985 áÚÁ› •uÀ 
÷uv¯ßÖ öuõh[P¨£mhx CxÁøμ°»õÚ ö£ØÓ |mh® ¹. 
3,13,900. 

 {ø» AÔUøP°øÚ²® £ØÓõUSøÓ PnUQøÚ²® u¯õº 
ö\´P. 

20. The following information is given by Balan, a merchant, 
for the year ended 31.12.1996 

 Rs.  Rs. 
Sales :   Purchases :  
Dept I 70,000 Dept I 43,000
Dept II 30,000 Dept II 25,000
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Stock(1-1-96)  Salary 5,400 
Dept I 3,400 Commission 2,200 
Dept II 1,100 Advertisement 5,800 
Debtors 23,000 Bank charges 120 
Office furniture 1,080 Stationery 2,700 
Rent 1,800 Wages 10,000
Insurance 2,400   

 Provide depreciation at 10% on furniture. Bad debts  
Rs. 300. Create 10% provision for discount on debtors. 
Stock position on 31-12-1996: Dept I Rs. 4,000 and  
Dept II Rs. 1,680. From the above information, prepare 
the departmental trading and profit and loss account. 
Expenses are allocated on the basis of sales. 

 31.12.1996 ß £i v¸. £õ»ß GßÓ J¸ ÁoPº ÁÇ[Q¯ 
¤ßÁ¸® Â£μ[PÒ öPõkzxÒÍøÁ 

 ¹.  ¹. 
ÂØ£øÚ :   öPõÒ•uÀ :  
xøÓ I 70,000 xøÓ I 43,000
xøÓ II 30,000 xøÓ II 25,000
\μUQ¸¨¦ (1-1-96)  \®£Í® 5,400 
xøÓ I 3,400 PÈÄ 2,200 
xøÓ II 1,100 ÂÍ®£μ® 5,800 
PhÚõÎPÒ 23,000   
A¾Á»P AøÓP»ß 1,080 Á[Q Pmhn® 120 
ÁõhøP 1,800 GÊx ö£õ¸ÒPÒ 2,700 
Põ¨¥mk 2,400 T¼ 10,000

 AøÓP»ß «x 10% ÷u´©õÚ® JxUP¨£h  ÷Ásk®. 
ÁõμõPhß ¹. 300. PhÚõÎPÒ «uõÚ uÒÐ£i JxUS 10% 
E¸ÁõUP¨£h ÷Ásk®. 31.12.1996 ß £i Auß \μUQ¸¨¦ 
Â£μ®: xøÓ I&4000; xøÓ II&1680. ÷©÷» SÔ¨¤mh 
Â£μ[PÎ¾¸¢x xøÓÁõ› Â¯õ£õμ ©ØÖ® C»õ£ |mh 
PnUQøÚ u¯õº ö\´P. ö\»ÄPÒ ÂØ£øÚ°ß 
Ai¨£øh°À JxUP¨£h ÷Ásk®. 

———————— 
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 Part A  (10  2 = 20) 

Answer all the questions. 

1. What is Share? 

 £[S GßÓõÀ GßÚ? 

2. Write the meaning of Debenture. 

 PhÜmk £zvμ® Gß£uß ö£õ¸øÍ GÊxP. 

3. What do you mean by Profit Prior to Incorporation? 

 TmkÖÁºUPzvØS •¢øu¯ C»õ£® Gß£uß ö£õ¸Ò 
¯õx? 

4. State the methods of Purchase Consideration. 

 öPõÒ•uÀ ©Ö£¯ß PnUQk® •øÓPøÍ SÔ¨¤kP. 

5. What is Appropriation of Profits? 

 C»õ£[PøÍ JxUSuÀ GßÓõÀ GßÚ? 

6. What is Unclaimed Dividend? 

 ÷Põμ¨£hõu £[Põuõ¯® GßÓõÀ GßÚ? 

Sub. Code 
4BCO5C1 
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7. Define Amalgamation. 

 JßÖ ÷\ºzuÀ Áøμ¯Ö. 

8. What is External Reconstruction? 

 ¦Ó ©Ö^μø©¨¦ GßÓõÀ GßÚ? 

9. Name the methods of valuation of Share. 

 £[SPøÍ ©v¨¤k® •øÓPøÍ ö£¯›kP. 

10. Who are Preferential Creditors?               

 •ßÝ›ø© PhÚõÍºPÒ Gß£Áº ¯õº?  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Anand Ltd has 10,000 redeemable preference 
shares of Rs. 100 each, as part of its share capital. 
The shares became due for redemption. The 
company decided that the whole amount will be 
redeemed out of a fresh issue of equal amount of 
equity shares of Rs. 10 each. Pass journal entries in 
the books of the company.                                  

   BÚ¢z ¼ªöhm ußÝøh¯ £[S •u¼À ¹. 100 
Ãu®. 10,000 «m¦ •ßÝ›ø© £[SPøÍ 
öPõskÒÍx. A¢u £[SPÒ uØö£õÊx «m¦ 
ö\´¯¨£h ÷Ásk® AuØPõP ¹. 10 Ãu® \©E›ø© 
£[SPøÍ AuØS \©©õÚ ©v¨¤À öÁÎ±mk «m¦ 
ö\´¯¨£h ÷Ásk® GÚ A¢u {Ö©® •iÄ ö\´ux. 
A¢u {Ö© HkPÎÀ AuØPõÚ •uØSÔ¨÷£mk 
£vÄPøÍ u¸P. 

Or 

 (b) What are the methods of redemption of Debentures? 

   PhÜmk £zvμ[PøÍ «m¦ ö\´ÁvÀ EÒÍ •øÓPÒ 
¯õøÁ? 
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12. (a) ABC Ltd. took over the business of A and B as a 
going concern and agrees to pay the partners the 
following: 

  (i)  10,000 equity shares of Rs. 100 each at a 
premium of 10% 

  (ii)  5,000, 10% redeemable preference shares of 
Rs. 100 each 

  (iii) Rs. 1,00,000 in cash.  
   Calculate the Purchase Consideration.                                   
   ABC ¼ªöhm A ©ØÖ® B {ÖÁÚz Gkzx öPõsk 

AuØPõP ¤ßÁ¸©õÖ ö\¾zxÁuõP Ehß£mhx. 

   (i) ¹. 100 Ãu® 10% •øÚ©zvÀ 10,000 \© 
E›ø© £[SPÒ. 

   (ii) ¹. 100 Ãu® 5,000 10% «m¦ •ßÝ›ø© 
£[SPÒ  

   (iii) öμõUP® ¹. 1,00,000 

    öPõÒ•uÀ ©Ö£¯øÚ PnUQkP. 

Or 

 (b) Nanda Ltd. took over the business of Ram brothers 
from 1st April, 2014. It got the certificate to 
commence business from 1st February, 2015. The 
company got its certificate of incorporation on  
1st November, 2014. 

  Its sales during the first 5 months of the year were 
double that of remaining mouths. The company 
closes its books on 31st March. 

  Calculate Sales Ratio and Time Ratio.  

   |¢uõ ¼ªöhm μõ® \÷PõuμºPÒ {ÖÁÚzøu H¨μÀ 1 
2014 ÷uv°¼¸¢x GkzxU öPõshx. Ax öuõÈÀ 
öuõh[SÁuØPõÚ \õßÔuø» ¤¨μÁ› 1 2015&À 
ö£ØÓx. A¢u {Ö©® TmkÖÁõUP \õßÔuøÇ |Á®£º 
1 2014 AßÖ ö£ØÓx. Auß •uÀ 5 ©õu ÂØ£øÚ 
©ØÓ ©õu[PÎß ÂØ£øÚø¯ Põmi¾® Cμsk 
©h[PõS® A¢u {Ö©® 31 ©õºa uÚx HkPøÍ 
•izux. ÂØ£øÚ ÂQu® ©ØÖ® Põ» ÂQuzøu 
PnUQkP. 
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13. (a) The following are the ledger balances extracted 
from the books of a company. You are required to 
calculate the managerial remuneration of the 
managing director at 5% of the net profit after 
charging such commission.    

  Net Profit - Rs. 38,786 

  Items considered for calculating the above profit: 

  Provision for Tax - Rs. 30,000 

  MD Remuneration - Rs. 12,000 

  Preliminary Expenses written off - Rs. 4,000 

  Depreciation inadmissible - Rs. 2,880.                                                              

   ¤ßÁ¸® Â£μ[PÒ J¸ {Ö©zvß ÷£÷μmk 

C¸¨¦PÎ¼¸¢x ö£Ó¨£mhx. ÷©»õsø© 

C¯USÚ¸US ÁÇ[P¨£k® ÷©»õsø© Fv¯zøu 

PÈÄ PÈUP¨£mh ¤ÓS EÒÍ {Pμ C»õ£zvÀ 5% &I 

PnUQkP. 

   {Pμ C»õ£® ¹. 38,786 

   ÷©ØTÔ¯ C»õ£zvß PnUQkÁuØS 

GkzxUöPõÒÍ¨£mh CÚ[PÒ  

   Á›UPõÚ JxUS ¹. 30,000 

   ÷©»õs C¯USÚº Fv¯® ¹. 12,000 

   ÷£õUöPÊu¨£mh öuõhUP ö\»ÄPÒ ¹. 4,000 

   AÝ©vUP¨£hõu ÷u´©õÚ® ¹. 2,880. 

Or 

 (b) Explain the various items shown under the head 
'Non-Current Liabilities'. 

   |h¨¦ ö£õÖ¨¦PÒ AÀ»õu uø»¨¤ß RÌ Ch®ö£Ö® 

£À÷ÁÖ CÚ[PøÍ ÂÍUSP. 
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14. (a) Mohan Limited agrees to purchase the business of 
Murugan Limited on the following terms:   

 (i) For each of the 10,000 shares of Rs. 10 each in 
Murugan Limited 2 shares in Mohan limited 
of Rs. 10 each will be issued at an agreed 
value of Rs. 12 per share. In addition, Rs. 4 
per share cash also will be paid. 

 (ii) 8% debentures worth Rs. 80,000 will be issued 
to settle the Rs. 60,000, 9% debentures in 
Murugan Limited. 

  (iii) Rs. 10,000 will be paid toward expenses of 
winding up. 

 Calculate the Purchase Consideration. 

  ÷©õPß ¼ªöhm •¸Pß ¼ªöhmøh ¤ßÁ¸® 
{£¢uøÚPÐhß Áõ[P J¨¦UöPõshx. 

 (i) •¸Pß ¼ªöhmiÀ EÒÍ ¹. 10 Ãu® EÒÍ 
10,000 £[SPÒ JÆöÁõßÔØS® ÷©õPß 
¼ªöhm 2 £[SPÒ ¹. 10 Ãu® ¹. 12&US 
J¨¦UöPõÒÍ¨£mh Âø»US öÁÎ°mhx. 
Czxhß JÆöÁõ¸ £[QØS® ¹.4 
öμõUP©õPÄ® ÁÇ[P¨£mhx. 

 (ii) •¸Pß ¼ªöhmiÀ EÒÍ ¹. 60,000 9% 
PhÜmk £zvμ[PÐUS ÷©õPß ¼ªöhm ¹. 
80,000 ö£õ¸©õÚ•ÒÍ 8% PhÜmk¨ 
£zvμ[PøÍ öÁÎ°mhx. 

  (iii) {Ö© Pø»¨¤ØPõÚ ö\»Ä ¹. 10,000. 

   öPõÒ•uÀ ©Ö£¯ß PnUQkP.  

Or 

 (b) What are the conditions to be satisfied for the 
reduction of Capital? 

   ‰»uÚzøu SøÓ¨ø£ §ºzvö\´²® {£¢uøÚPÒ 
¯õøÁ?  
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15. (a) A firm earned net profits during the last three years 

as follows: 

       Rs.  

  1st Year         72,000 

  2nd Year                         80,000 

      3rd year                          88,000 

      The capital investment of the firm is Rs. 2,00,000. 

      A fair return on the capital, having regard to the 

risk involved is 10%. 

       Calculate the value of goodwill on the basis of  

3 years' purchase of Super Profit. 

   J¸ {ÖÁÚ® Ph¢u 3 Á¸hzvÀ Dmi¯ {Pμ C»õ£® 

¤ßÁ¸©õÖ  

            ¹. 

   •uÀ Á¸h®   72,000 

  Cμshõ® Á¸h®          80,000 

       ‰ßÓõ® Á¸h®                88,000 

   A¢u {ÖÁÚzvß ‰»uÚ •u½k ¹. 2,00,000. 

   •u¼mi¼¸¢x Chº EÒÏmh \›¯õÚ C»õ£ Ãu®  

10 %  

   ªøP C»õ£zvÀ 3 Á¸h öPõÒ•uÀ GÚUöPõsk 

|Øö£¯º ©v¨¤øÚ PnUQkP. 

Or 
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 (b) From the following particulars, compute the value 
per equity share under Net Assets method: 

                                                                                     Rs. 

  Total Assets at market value              49,80,000 

  Total Outside Liabilities                 19,00,000 

  2,00,000 Equity Shares of Rs. 10 each      20,00,000 

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x \© E›ø© £[Qß JßÔß 

©v¨ø£ {Pμ ö\õzx •øÓ°À PnUQkP. 

                                                                       ¹. 

  ö©õzu ö\õzxPÒ \¢øu ©v¨¦              49,80,000 

  ö©õzu öÁÎ¨¦Ó ö£õÖ¨¦PÒ                 19,00,000 

   2,00,000 \©E›ø© £[SPÒ ¹. 10 Ãu®      20,00,000 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Good Luck Ltd. invited applications for 10,000 shares of 
Rs. 100 each at a discount of 5% payable as follows:     

 On application         Rs. 25 

 On allotment           Rs. 34 

 On first call          Rs. 18 

 Oh second call  Rs. 18 

 Applications were received for 9,000 shares and all of 
these were accepted. All moneys were duly received 
except the first call on 300 shares and final call on 500 
shares. 

 Pass journal entries and prepare Balance of Good Luck 
Ltd. 
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Sm»U ¼ªöhm ¹. 100 Ãu® 10,000 £[SPÐUS 5% 
ÁmhzvÀ ö\¾zxÁuØS, Âsn¨£[PÐUS AøÇ¨¦ 

Âkzux. 

Âsn¨£zvÀ   ¹. 25 

JxURmiÀ   ¹. 34 

•uÀ AøÇ¨¦  ¹. 18 

Cμshõ® AøÇ¨¦ ¹. 18 

9,000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mk AøÁ 

AøÚzx® HØÖU öPõÒÍ¨£mhx. •uÀ AøÇ¨¤À 300 

£[SPÐUS® Cμshõ® AøÇ¨¤À 500 £[SPøÍ²® uÂμ 

©ØÓ AøÚzvØPõÚ £n® ö£Ó¨£mhx. AuØPõÚ 

SÔ¨÷£mk £vÄPøÍ u¢x Auß C¸¨¦ {ø» SÔ¨¤øÚ 

u¯õ›UP.  

17. X Ltd. acquired the running business of Y & Co., on the 
basis of the following balance sheet: 
Liabilities Rs. Assets Rs. 

Creditors 52,000 Cash 28,000

Bills Payable 17,000 Stock 32,000

Capital 1,12,000 Debtors 46,000

Reserves 14,000 Fixtures 19,000

 Land and Buildings 45,000

 Plant and Machinery 25,000

 1,95,000  1,95,000

 Purchase consideration was agreed at Rs. 1,30,000 
payable in 10,000 shares of Rs.10 each at 10% premium 
and the balance in cash. 

 Show journal entries in the books of the company and 
also prepare company's balance sheet. 
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 X ¼ªöhm C¯[Q öPõsi¸US® Y & Co &øÁ ¤ßÁ¸® 
C¸¨¦ {ø»SÔ¨¤ß Ai¨£øh°À Áõ[Q¯x. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÚõÎPÒ 52,000 öμõUP® 28,000

ö\¾zxuØS›¯ ©õØÖa^mk 17,000 \μUQ¸¨¦ 32,000

•uÀ 1,12,000 PhÚõÎPÒ 46,000

Põ¨¦PÒ 14,000 ö£õ¸zxuÀPÒ 19,000

  {»® ©ØÖ® Pmih® 45,000

  ö£õÔ ©ØÖ® C¯¢vμ® 25,000

 1,95,000  1,95,000

 J¨¦UöPõÒÍ¨£mh öPõÒ•uÀ ©Ö£¯ß ¹. 1,30,000&I 
10,000 £[SPÒ ¹. 10 Ãu® 10% •øÚ©zvØS® «vø¯ 
öμõUP©õPÄ® ö\¾zu ÷Ási¯x. 

 SÔ¨÷£mk £vÄPøÍ u¢x Auß C¸¨¦ {ø» SÔ¨¤øÚ 
u¯õ›UPÄ®. 

18. Give a specimen form of balance sheet and statement of 
profit and loss of a company according to Company Act. 
{¾® \mhzvß£i C¸¨£ {ø»SÔ¨¦ ©ØÖ® C»õ£ |mh 
AÔUøP°ß ©õv› £iÁzvøÚ u¸P. 

19. Following is the Balance Sheet of Lotus Ltd. as on 31st  
March 2016. 
Liabilities  Rs. Assets Rs. 

Share Capital 2,50,000 Land and Buildings 3,00,000
Reserve 1,00,000 Furniture 2,00,000
Bank Loan 2,00,000 Stock 1,00,000
Creditors 1,50,000 Debtors 50,000

  Profit and Loss a/c    50,000
 7,00,000  7,00,000

 Lotus Ltd. was absorbed by Maui. Ltd. on a purchase 
consideration of Rs. 6,00,000 payable Rs. 4,00,000 in cash 
and 20,000 shares of Rs. 10 each. Liquidation expenses 
were Rs 10,000. Prepare necessary Ledger accounts in 
the books Lotus Ltd. 
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 31 ©õºa 2016&® Bsøh¯ ÷»õmhì ¼ªömiß 

C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£[S •uÀ 2,50,000 {»® ©ØÖ® Pmih® 3,00,000

Põ¨¦ 1,00,000 AøÓP»ß 2,00,000

Á[Q Phß 2,00,000 \μUQ¸¨¦ 1,00,000

PhÚõÍºPÒ 1,50,000 PhÚõÎPÒ 50,000

 C»õ£ |mh PnUS    50,000

 7,00,000  7,00,000

 ÷»õmhì ¼ªöhm ©o ¼ªöhmhõÀ DºUP¨£mk 

AuØPõÚ öPõÒ•uÀ ©Ö£¯ÚõP ¹. 6,00,000&I öμõUP©õP 

¹. 4,00,000 «vø¯ 20,000 £[SPÍõP ¹. 10 Ãu® 

ö\¾zu¨£h ÷Ási¯x. 

 ÷»õmhì ¼ªöhmiß HkPÎÀ ÷uøÁ¯õÚ ÷£÷μk 

PnUSPøÍ u¯õ›UPÄ®. 

20. The following particulars relate to a limited company 
which has gone into voluntary liquidation. You are 
required to prepare the liquidator's final account allowing 
for his remuneration @ 3% on the amount realized and 
2.5% on the amount paid to the unsecured creditors. 

 Share Capital issued:  

 5,000 Preference shares of Rs. 100 each fully paid 

 30,000 equity shares of Rs. 10 each fully paid 

 12,000 equity shares of Rs. 10 each, Rs 8 paid up 

 Assets realized Rs. 9,24,000 excluding amount realized by 
sale of securities held by the secured creditors. 
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 Rs. 

 Preferential creditors        24,000 

 Unsecured creditors                                               8,51,094 

 Secured creditors (security realized Rs. 1,62,000) 1,38,000 

 Debentures having a floating charge on the assets  3,00,000  

 Expenses of liquidation amounted to 9,000 

 A call of Rs. 2 per share on the partly paid equity shares 
was duly paid except in case of one shareholder owning 
1,200 shares.  

 ¤ßÁ¸® Â£μ[PÒ, J¸ Â¸¨£ Pø»¨¤ØS ö\ßÓ 
Áøμ¯ÖUP¨£mh {Ö©zvß Â£μ[PÒ ¤ßÁ¸©õÖ. 
Pø»¨£õÍ¸US Fv¯©õP öuõøP ö£ØÓvÀ  3%&®, 
¤øn¯©ØÓ PhÚõÍºPÐUS ÁÇ[SÁv¼¸¢x 2.5% 
AÝ©vzx Pø»¨£õÍº CÖv PnUQøÚ u¯õ›UPÄ®. 

 £[S •uÀ öÁÎ°h¨£mhx. 

 5,000 •ßÝ›ø© £[SPÒ ¹. 100 Ãu® •ÊÁx® 
ö\¾zu¨£mhx. 

 30,000 \©E›ø© £[SPÒ ¹. 10 Ãu® •ÊÁx® 
ö\¾zu¨£mhx. 

 12,000 \©E›ø© £[SPÒ ¹. 10 Ãu® ¹. 8 ö\¾zu¨£mhx. 

 ¤øn¯ PhÚõÍºPÎh® EÒÍ ö\õzxPÒ ÂØÖö£ØÓx 
uÂμ ©ØÓ ö\õzxPÒ ÂØÖ ö£ØÓx ¹. 9,24,000   

 ¹. 

•ßÝ›ø© PhÚõÍºPÒ 24,000

¤øn¯©ØÓ PhÚõÍºPÒ 8,51,094

¤øn¯ PhÚõÎPÒ (¤øn¯® ÂØÓx ¹. 1,62,000) 1,38,000

ö\õzxPÒ «x ªuUS® ö£õÖ¨¦ PhÜmk 3,00,000

Pø»¨¦ ö\»Ä £zvμ[PÒ  9,000

 £Sv ö\¾zu¨£mh £[S •u¼À, 1,200 £[SPÒ uÂμ ©ØÓ 
AøÚzvØPõÚ £[SPÒ £n® ö£Ó¨£mhx.  

———————— 
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 Section A  (10  2 = 20) 

Answer all questions. 

1. Define the term Cost. 
 AhUPÂø» Áøμ¯ÖUP. 

2. Bring out the key difference between Direct Cost and 
Indirect Cost.  
÷|μia ö\»ÄUS® ©øÓ•Pa ö\»ÄPÒ EÒÍ Ai¨£øh 
÷ÁÖ£õk u¸P. 

3. What do you mean by Stores Ledger? 
 \μUS÷£÷μ GßÓõÀ GßÚ? 

4. Find out the Economic Order Quantity. 
Annual usage  : 6,000 units 

Cost of Material per unit  : Rs.20 

Cost of placing and receiving on 
order  : 

Rs.60 

Annual carrying cost of one unit 10% of inventory 
value 

Sub. Code 
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 ¤ßÁ¸® Â£μ[PÎ¼¸¢x ]UPÚ öPõÒ•uÀ Bønø¯U 

PnURkP. 

Bsk ö©õzu ~PºÄ  : 6,000 A»SPÒ 

J¸ ö£õ¸Îß ö\»Ä  : ¹.20 

J¸ Bøn°ß öPõÒ•uÀ ö\»Ä  ¹.60 

öPõskÁ¸® ö\»Ä 10% \μUS ©v¨¤À

5. Define Over Time. 

 AvP EøÇ¨¦ ÷|μ® Gß£uøÚ Áøμ¯Ö. 

6. Write a short note on Time Study. 

 ÷|μ B´Ä £ØÔa ]ÖSÔ¨¦ ÁøμP. 

7. Mention the meaning of Overhead. 

 ÷©Øö\»ÄPÒ Gß£uß ö£õ¸øÍ u¸P. 

8. What is Absorption of overhead? 

 ÷©Øö\»Ä «m¦ GÚ¨x ¯õx? 

9. Give the meaning of Abnormal Loss. 

 A\õuõμn |mh® Gß£uß ö£õ¸øÍ u¸P. 

10. Bring out the meaning of Work certified. 

 •iUP¨£mh £o– Áøμ¯Ö. 
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 Section B (5  5 = 25) 

Answer all questions. 

11. (a) Briefly explain the general Principles of Cost 
Accounting. 

   AhUPÂø»U PnUQ¯¼ß Ai¨£øhU 
÷Põm£õkPøÍ _¸[P ÂÍUSP. 

Or 

 (b) Examine the Limitations of Cost Accounting. 

   AhUPÂø»U PnUQ¯¼ß SøÓ£õkPøÍ B´P. 

12. (a) What are the objectives of Purchase Department? 

    öPõÒ•uÀ xøÓ°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Material ‘A’ is used as follows: 
Maximum usage in a 
month 

600 units 

Minimum usage in a 
month 

400 units 

Average usage in a month 450 units 

Lead Time : Maximum 6 months, 
minimum 2 months 

Re-order Quantity : 1,500 units 

Maximum re-order period 
for emergency purchases 

1 month 

 Calculate 

 (i) Re-order Level 

 (ii) Maximum Level 

 (iii) Minimum Level 

 (iv) Average Stock level 

 (v) Danger Level 
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  ‰»¨ö£õ¸Ò A ¤ßÁ¸©õÖ £¯ß£kzu¨£mhx 

J¸ ©õuzvß Ea\£m\ 
£¯ß£õk 

600 A»SPÒ 

J¸ ©õuzvß SøÓ¢u 
AÍÄ¨ £¯ß£õk 

400 A»SPÒ 

J¸ ©õuzvß \μõ\› 
£¯ß£õk 

450 A»SPÒ 

•ßÚo ÷|μ® : Ea\ AÍÄ 6 ©õu[PÒ, 
SøÓ¢u AÍÄ 2 ©õu[PÒ 

 ©Ö Bøn : 1,500 A»SPÒ 

AÁ\μ {ø»UPõÚ 

AvP£m\Põ» AÍÄ: 
1 ©õu® 

  (i) ©Ö Bøn AÍÄ 

  (ii) E¯º  AÍÄ 

  (iii) SøÓ¢u  AÍÄ 

  (iv)  \μõ\› AÍÄ 

  (v)  A£õ¯® AÍÄ BQ¯ÁØøÓU PnUQkP.  

13. (a) Bring out the different methods of calculating 
Labour turnover. 

   öuõÈ»õÍº ©õÖ® ÂQuzøuU PnUQk® •øÓPøÍ 
öÁÎUöPõnºP. 

Or 

 (b) From the following data given by the Personnel 
Department, calculate the Labour Turnover Rate by 
applying: 

  (i) Separation Method 

  (ii) Replacement Method 

  (iii) Flux Method 
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   No. of workers on the payroll: 

   At the beginning of the period  :   900 

   At the end of the period : 1,100 

   During the month, 10 workers left; 40 workers 
were discharged and 150 workers were 
recruited. Of these, 25 workers are recruited 
in the vacancies of those leaving while the rest 
were engaged for an expansion scheme. 

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x £o¯õÍº xøÓ°¼¸¢x 

öuõÈ»õÍº ©õÖ® ÂQuzvøÚ 

  (i) ¤›zuÀ •øÓ 

  (ii) ©õØÖuÀ •øÓ ©ØÖ® 

   (iii) ¤ÍUì •øÓ°À PnUQkP. 

  \®£Í¨£mi¯À£i öuõÈ»õÎPÎß GsoUøP : 

   Bμ®£|õÎÀ öuõÈ»õÍº GsoUøP  :   900 

    CÖv|õÎÀ öuõÈ»õÍº GsosøP : 1,100 

    |h¨£õsiÀ, 10 öuõÈ»õÍºPÒ £oø¯ 

Âmkaö\ßÓÚº. ÷©¾®, 40 £o¯õÍºPÒ 

£o}UP® ö\´¯¨£mhÚº. ¦vuõP÷\ºUP¨£mh 

150 £o¯õÍºPÎÀ, 25 ÷£º Põ¼°hzøu¨ 

§ºzv ö\´ÁuØPõPÄ®, «v¨÷£º Â›ÁõUP¨ 

£oPÐUPõPÄ® ÷\ºUP¨£mkÒÍÚº. 

14. (a) Describe the Principles of Apportionment of 
Overheads. 

   ÷©Øö\»ÄPøÍ¨ £Qº¢uÎzu¼ß ÷Põm£õkPøÍU 

TÖP. 

Or 
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 (b) Calculate the direct material percentage rate for 
overhead absorption from the following: 

 Rs. 

Factory overhead budgeted for 2010 3,00,000

Cost of direct material estimated to be consumed 
during 2010 

5,00,000

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x ÷©Øö\»ÄPÒ 

£Qº¢uÎzuÀ ÃuzvøÚU PõsP. 

 ¹. 

2010–À Gvº£õºUP¨£k® Bø»÷©Øö\»ÄPÒ 3,00,000

2010–¼¸¢x Gvº£õºUP¨£k® ÷|μi 

‰»¨ö£õ¸mPÒ 

5,00,000

15. (a) The following data is available in respect of Job 
No.876: 

  Direct Materials Rs.17,000; Wages 160 hours at 
Rs.50 per hour. Variable overheads incurred for all 
jobs Rs.80,000 for 2,000 labour hours. Fixed 
overheads are absorbed at Rs.20 per hour. 

  Find out the profit or loss from the job if the job is 
billed for Rs.40,000. 

   £oGs. 876 öuõhº£õÚ Â£μ[PÒ 

   ÷|μi ‰»¨ö£õ¸mPÒ ¹.17,000; T¼ ©oö¯õßÖUS 

¹.50 Ãu® 160 ©oPÒ. AøÚzx £oPÐUS©õÚ 

©õÖ£k® ÷©Øö\»ÄPÒ 2,000 ©oPÐUS ¹.80,000. 

{ø»¯õÚ ÷©Øö\»ÄPÒ ©oö¯õßÖUS ¹.20 Ãu® 

«mP¨£mhx.  

£mi¯¼h¨£mh öuõøP ¹.40,000 GÛÀ  C»õ£ 

|mhzøuU PõsP. 

Or 
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 (b) What are the causes for difference the Profit shown 
in Cost A/c and Financial A/c? 

   AhUPÂø»U PnUQ¯¼ß C»õ£•® {v{ø»U 

PnUQ¯¼ß C»õ£•® ÷ÁÖ£hU Põμn[PÒ ¯õøÁ? 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. The cost of sale of Product A is made up as follows: 

 Rs.  Rs. 

Materials used in 
manufacturing 

60,000 Indirect 
Expenses - 
Factory 

1,000

Materials used in 
primary packing 

10,000 Administration 
Expenses 

1,250

Materials used in selling 
the product 

1,500 Depreciation 
on Office 
building and 
Equipment  

750

Materials used in the 
factory 

750 Depreciation 
on Factory 
building 

1,750

Materials used in the 
office 

1,250 Selling 
expenses 

3,500

Labour required in 
producing 

10,000 Freight on 
materials 
purchased 

5,000

Labour required for 
factory supervision 

2,000 Advertisement 1,250

 Assuming that all the products manufactured are sold, 
what should be the selling price to obtain a profit of 20% 
on selling price? 
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EØ£zv¨ ö£õ¸Ò A–ß ö\»ÄPÒ ¤ßÁ¸©õÖ 

 ¹.  ¹. 

EØ£zv°À 
£¯ß£kzu¨£mh 
‰»¨ö£õ¸mPÒ 

60,000 Bø»°ß 
©øÓ•Pa 
ö\»ÄPÒ 

1,000

ö£õv ö\´u¼À 
£¯ß£kzu¨£mh 
‰»¨ö£õ¸mPÒ 

10,000 {ºÁõPa 
ö\»ÄPÒ 

1,250

ÂØ£øÚUPõP 
£¯ß£kzu¨£mh 
ö£õ¸ÒPÒ 

1,500 A¾Á»PU 
Pmih®  ©ØÖ® 
P¸ÂPÒ «uõÚ 
÷u´©õÚ® 

750

Bø»°À 
£¯ß£kzu¨£mh 
ö£õ¸mPÒ 

750 Bø»U Pmih® 
«uõÚ 
÷u´©õÚ® 

1,750

A¾Á»PzvÀ 
£¯ß£kzu¨£mh 
ö£õ¸mPÒ 

1,250 ÂØ£øÚa 
ö\»ÄPÒ 

3,500

EØ£zvUPõÚ T¼ 10,000 ‰»¨ö£õ¸mPÒ 
«uõÚ 
yUSUT¼ 

5,000

÷©Ø£õºøÁ T¼ 2,000 ÂÍ®£μ® 1,250

 EØ£zv ö\´¯¨£h AøÚzx A»SPÐ® ÂØ£øÚ 
ö\´¯¨£mk ÂmhuõPU Pozx ÂØ£øÚ Âø»°À 20% 
C»õ£® QøhUP ÷Áskö©ÛÀ ÂØ£øÚ Âø» ¯õx ? 

17. Two components A and B are used as follows: 
Average consumption 40 units 

Normal usage 50 units per week 
each 

Minimum usage 25 units per week 
each 

Maximum usage 75 units per week 
h
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each 

Re-order quantity A : 300 units 

 B : 500 units 

Re-order period A : 4 to 6 weeks 

 B : 2 to 4 weeks 

Maximum lead time for emergency 
purchases 

A : 1 day 

 B : 2 days 

 Calculate 

 (a) Re-order Level 

 (b) Minimum Level 

 (c) Maximum Level 

 (d) Average Stock Level and 

 (e) Danger Level 

 Cμsk ‰»¨ö£õ¸mPÒ A ©ØÖ® B ¤ßÁ¸©õÖ 
£¯ß£kzu¨£mhÚ. 

\μõ\›¨ £¯ß£õk 40 A»SPÒ 

\õuõμn¨ £¯ß£õk JÆöÁõßÖ® 

Áõμö©õßÖUS 50 
A»SPÒ 

SøÓ¢u AÍÄ¨ £¯ß£õk JÆöÁõßÖ® 

Áõμö©õßÖUS 25 
A»SPÒ 

E¯μÍÄ¨ £¯ß£õk JÆöÁõßÖ® 

Áõμö©õßÖUS 75 
A»SPÒ 

©Ö Bøn A»SPÒ A : 300 A»SPÒ 

 B : 500 A»SPÒ 

©Ö Bøn Põ»® A : 4 •uÀ 6 
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Áõμ[PÒ 

 B : 2 •uÀ 4 
Áõμ[PÒ 

AÁ\μ{ø»UPõÚ AvP£m\ Põ» 
AÍÄ 

A : 1 |õÒ 

 B : 2 |õmPÒ 

 (A) ©Ö Bøn AÍÄ 

 (B) SøÓ¢u AÍÄ 

 (C) E¯º AÍÄ 

 (D) \μõ\› AÍÄ ©ØÖ® A£õ¯ AÍÄ BQ¯ÁØøÓU 
PnUQkP. 

18. The standard production in a factory is 10 units per hour 
for a day of 8 hours. The wage is Rs.6 per day. Bonus 
rated on efficiency is paid according to a scale as follows: 

Level of efficiency Bonus

Upto 60% of standard Nil 

Above 60% and upto 75% 5% 

Above 75% and upto 90% 10% 

Above 90% and upto 100% 15% 

 For an increase of every 1% of efficiency beyond 100% the 
bonus also rises by 1%. 

 Output of 3 workers on a day was as follows: 
 A -  40 units 
 B - 75 units 
 C - 100 units 

 Calculate the earnings of the workers. 
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 Kº Bø»°ß 8 ©o÷|μ® öPõsh |õÐUPõÚ uμ{ø» 
AÍÄ 10 A»SPÍõS®. |õöÍõßÔß T¼ Ãu® ¹.6 
vÓÚi¨£øh°»õÚ ÷£õÚì öuõøP ¤ßÁ¸©õÖ 
©v¨¤h¨£kQÓx. 

vÓÚÍÄ 
÷£õÚì

60% Áøμ Nil 

60% US® ÷©À 75% Áøμ 5% 

75% US® ÷©À 90% Áøμ 10% 

90% US® ÷©À 100% Áøμ 
15% 

 EØ£zvzvÓÛÀ 100%US® ÷©À Põn¨£k® JÆöÁõ¸ 1% 
AvP›¨¤ØS® ÷£õÚì Ãu•® 1% AvP›UP¨£kQÓx. 

‰ßÖ £o¯õÍºPÎß EØ£zv A»SPÒ ¤ßÁ¸©õÖ : 

 A -  40 A»SPÒ 

 B - 75 A»SPÒ 

 C - 100 A»SPÒ 

 öuõÈ»õÍºPÎß T¼ø¯U PnUQkP. 

19. In a factory, there are two service departments I and II 
and three production departments A, B and C. In April 
2012, the departmental expenses were 

Departments A 
Rs. 

B 
Rs. 

C 
Rs. 

I 
Rs. 

II 
Rs. 

 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

 The expenses of the service departments are allotted on a 
percentage basis as  follows: 

 A B C I II

I 30 40 15 - 15

II 40 30 25 5 - 

 Prepare a statement showing distribution of the expenses 
of the two service departments on a percentage basis by 
Repeated distribution method. 
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J¸ {ÖÁÚzvÀ 3 EØ£zvz xøÓPÐ®  (A, B and C) 2 

÷\øÁzxøÓPÐ® I and II C¯[SQßÓÚ. H¨μÀ 2012À 
xøÓ\õº¢u ö\»ÄPÍõÁÚ. 

xøÓPÒ A 
Rs. 

B 
Rs. 

C 
Rs. 

I 
Rs. 

II 
Rs. 

 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

 ÷\øÁz xøÓPÎß ö\»ÄPÒ EØ£zvz xøÓPÐUS 
¤ßÁ¸® ÃuzvÀ £Qº¢uÎUP¨£mhÚ. 

 A B C I II

I 30 40 15 - 15

II 40 30 25 5 - 

 Cμsk ÷\øÁ xøÓPÎß ö\»ÄPÒ  Â{÷¯õQUP¨£k® 

AÔUøPø¯ «sk® Â{÷¯õP •øÓ°À u¯õ›UPÄ®. 

20. 100 units are introduced into Process I at a cost of 
Rs.9,600 and an expenditure of Rs.4,800 is incurred. 
From the past experience, it is ascertained that wastage 
normally arises to the extent of 15% of units introduced. 
The wastage is having a scrap value of Rs.10 per unit. 
The actual output of Process I is 90 units, transferred to 
Process II. Prepare Process I Account, Abnormal Gain 
Account and Normal Loss Account. 

£i•øÓ I À 100 A»SPÒ ¹.9,600 ©v¨¤À 
Emö\¾zu¨£mhÚ. ÷©¾® ¹.4,800 ö\»Âh¨£mhx. 
•ßÝ£Á Ai¨£øh°À PÈÁõÚx 15% C¸USö©ÚU 
PoUP¨£kQÓx. PÈÁõÚx Kμ»S ¹.10  US 

ÂØP¨£kQÓx. £i•øÓ I À EØ£zv ö\´¯¨£mh 90 

A»SPÒ £i•øÓ II À Emö\¾zu¨£mhÚ.  £i•øÓ I, 
A\õuõμn C»õ£® ©ØÖ® \õuõμn |mh® BQ¯ 
PnUSPøÍz u¯õ›UP. 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define ‘Valid Contract’. 

 ‘ö\À uS J¨£¢u®’ Áøμ¯Ö. 

2. What is ‘Fraud’? 

 ‘÷©õ\i’ GßÓõÀ GßÚ? 

3. Give the meaning of ‘Contract of Indemnity’. 

 ‘DmkÖv J¨£¢u®’ Gß£uß ö£õ¸Ò u¸P. 

4. What is ‘Right of Subrogation’? 

 ‘Phß £ØÖ›ø© ©õØÔmk E›ø©’ GßÓõÀ GßÚ? 

5. Define ‘Bailment’. 

 ‘J¨£øhÄ’ Áøμ¯Ö. 

6. What do you mean by ‘Pledge’? 

 ‘AhS’ GßÓõÀ GßÚ? 

Sub. Code 
4BCO5C3 
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7. Who is an ‘Agent’? 

 ‘•PÁº’ Gß£Áº ¯õº? 

8. Define ‘Travelling Agent’. 

 ‘¤μ¯õÚ •PÁº’ Áøμ¯Ö. 

9. What is meant by ‘Bill of Lading’? 

 ‘P¨£À μ^x’ GßÓõÀ GßÚ? 

10. What is ‘Caveat Emptor’? 

 ‘Caveat Emptor’ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) ‘‘No Consideration No Contract’’ – Explain. 

   ‘©Ö£¯ß CÀø»÷¯À J¨£¢u® CÀø»’ – ÂÍUSP. 

Or 

 (b) State the remedies for breach of contract. 

   J¨£¢u •ÔÂØPõÚ £›Põμ[PøÍ ÂÍUSP. 

12. (a) Indicate the features of a contract of guarantee. 

   EzvμÁõu J¨£¢uzvß ]Ó¨¤¯À¦PøÍ SÔ¨¤kP. 

Or 

 (b) Point out the types of Guarantee. 

   EzvμÁõuzvß ÁøPPøÍ SÔ¨¤kP. 
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13. (a) What are the rights of Pawnor? 

   AhSøÁ¨£Á›ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) Distinguish between Bailment and Pledge. 

   J¨£øhÄ, AhS – ÷ÁÖ£kzxP. 

14. (a) State the kinds of agents. 

   •PÁºPÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Mention the liabilities of principal towards third 
parties. 

   ‰ßÓõ® |£¸US öuõhº£õÚ •uÀÁ›ß  

ö£õÖ¨¦UPøÍ SÔ¨¤kP. 

15. (a) What are the rights of an unpaid seller? 

   ö\¼zu¨£hõ ÂØ£øÚ¯õÍ›ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) Describe the essentials of a Contract of Sale. 

   ÂØ£øÚ J¨£¢uzvß CßÔ¯ø©¯õU TÖPøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the essential elements of a valid contract? 

 ö\ÀuS J¨£¢uzvß ‰¼UTÖPÒ ¯õøÁ? 

17. Distinguish between Contract of Indemnity and Contract 
of Guarantee. 

 DmkÖv J¨£¢u®, EzvμÁõu J¨£¢u® – ÷ÁÖ£kzxP. 
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18. State the duties of a Bailor. 

 J¨£øhÄ ö\´|›ß Phø©PøÍ TÖP. 

19. Explain the different modes of termination of agency. 

 •Pø© }UP¨£h¼ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

20. What are the differences between Sale and Agreement to 
sell? 

 ÂØ£øÚ ©ØÖ® ÂØ£øÚUPõÚ Ehß£iUøP Cøh÷¯¯õÚ 
÷ÁÖ£õkPÒ ¯õøÁ? 

 
 

———————— 
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 Section A  (10  2 = 20) 

Answer all the questions. 

1. What is Income Tax? 

2. How many heads are there under total income? Name 
them. 

3. Define the term "Person". 

4. What is mean by "Previous Year"? 

5. Name the deductions allowed U/s 16 in the income Tax 
Act. 

6. Give the meaning of "Standard Rent". 

7. Define the term "Profession". 

8.  What do you mean by Block of Assets? 

Sub. Code 

4BCOE1A 
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9.  State the meaning of "Cost of Improvement". 

10. What is TDS? 

 Section B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain Income along with its features. 

   

Or 

 (b) How tax acts as a Source of Revenue to 
Government. 

   

12. (a) Who is an Assessee? Describe the types of an 
Assessee. 

   

Or 

 (b) How will you decide the Residential Status of an 
Individual? 

   

13. (a) From the following, Calculate Taxable Portion of 
HRA of Ms. Mithran working in Chennai 

  Basic salary       Rs. 10,000 pm 

          DA (forming part)  Rs.   3,000 pm 

          HRA                Rs.   2,000 pm 

          Actual Rent Paid   Rs.   3,000 pm 

Or 

 (b) Calculate Annual Rental Value from the particulars 
given below: 
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  Actual Rent       Rs.   7,000 pm 

  FRV               Rs. 66,000 pa 

          MRV               Rs. 60,000 pa 

          Standard Rent     Rs. 69,000 pa 

  Assessee could not realise rent for two months and 
house also remained vacant for 2 months during the 
previous year 2018-19.  

   

14. (a) From the following P & L Account, Calculate 
Income from Business for the Assessment Year 
2019-20. 

Liabilities Rs. Assets Rs.
To Rent 4,000 By Gross profit 25,000
To Salary 5,000 By business income 45,000
To Donation  8,000 By income from 

Lottery 
25,000

To Depreciation 5,000  
To Income Tax 2,000  
To Patents 
(acquired  
before 1.4.2007) 

14,000  

To Net Profit 57,000  
 95,000  95,000

  (i) Depreciation to be allowed Rs. 10,000 

  (ii) An Expenditure of Rs. 1,500 approved by the 
IT authority is not shown in P and L Account. 

   

Or 
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 (b) From the following information, Compute the 
Amount of Depreciation Allowable for the  
AY 2019-20. 

WDV on furniture on 1.4.2018 1,10,000
Furniture purchased on 10.06.2018 15,000
Furniture purchased on 18.01.2019 20,000
Part of Furniture Sold in Feb, 2019 3,000
Rate of Depreciation 10%

15. (a) Compute the Taxable Capital Gain. 

  (i) Cost of Acquisition of Residential House  
(2002-03) Rs. 3,50,000 

  (ii) Sale Consideration on 5.10.2018 Rs. 13,00,000 

  (iii) Commission paid to Broker Rs. 1,00,000 

  (iv) Cost of Acquisition of a New House purchased 
in December 2018 Rs. 4,00,000 

  The Cost Inflation Index in 2002-03 was 105;  
2017-18 was 272; 2018-19 was 280. 

Or 

 (b) From the following particulars, Calculate Income 
from Other Sources. 

  (i) Rs. 25,000 interest from Post Office Savings 
Bank Account. 

  (ii) Rs. 25,000 from 10% debenture of listed tea 
company. 

  (iii) Rs. 4,000 interest received from National 
Development Bonds. 

  (iv) Rs. 2,500 received as interest from debentures 
of a Co-operative Society. 

  (v) 10% tax-free debentures of Chennai Municipal 
Corporation Rs.25,000 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Write the historical background of Income Tax Act. 

17. Mr. Sankaralingam left India for the first time on 15th  
December 2018 and returned back to India on 2nd  
February 2019. Determine his Residential Status for the 
AY 2019-20. 

18. Mr. Rosan is employed as an Engine Driver in Southern 
Railway. He is getting Rs. 7,500 p.m. as Basic Pay,  
Rs. 2,500 p.m. as Dearness Pay and Rs. 2,500 as 
Dearness Allowance. He received the following allowance 
also. 

 (a) Rs. 1,650 as Running Allowance. 

 (b) Rs. 200 p.m per Child as Education Allowance for 
the education of his Two Sons. 

 (c) one of these sons is living in Hostel on whom  
Mr. john is spending Rs. 800 p.m. he is getting  
Rs. 500 p.m as Hostel Allowance to meet his son's 
hostel expenses. 

 (d) Rs. 250 p.m. as City Compensatory Allowance. 

 (e) Rs. 400 p.m. as Uniform Allowance, whole of it is 
spent for official purpose. 

 (f) Rs. 1,250 p.m. as House Rent Allowance, Mr. John 
has taken a house for his residence at Coimbatore 
and pays Rs. 1,550 p.m. as rent. 

 (g) He contributes 10% of his Basic Pay and Dearness 
Pay to his statutory provident fund and the 
southern railway also contributes a similar amount. 

 Compute the Salary Income of Mr. Rosan for the 
Assessment Year 2019-20. 
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19. Following is the income and expenditure account of 
Antony & Co, Chartered Accountants. 

 Calculate Income from Profession from the details given 
below. 

 Income and Expenditure Account 

Expenditures Rs. Incomes Rs.
Charity and 
Donation 

1,00,000 Audit Fees 3,00,000

Subscription to 
Journals 

2,000 Examination Fees 25,000

Institute Fee 4,000 Fee for other 
accounts work 

40,000

Office Rent 5,000 Dividend from UTI 35,000
Drawings 50,000  
Electricity Bill 9,000  
Salary to Trainee 20,000  
Net income 2,10,000  
 4,00,000  4,00,000

 Rs. 5,000 can be claimed as depreciation for office assets 
as per income tax provision. 

20. What are the incomes that can be taxed under the head 
Other Sources? Explain briefly. 

  

———————— 
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 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. Define the term Total Income. 

 ö©õzu Á¸©õÚ® GßÓ ö\õÀø» Áøμ¯Ö. 

2. What is the meaning of Inter-Head Adjustments? 

 C¸ uø»¨¦PÐUS Cøh°»õÚ \›UPmhÀPÒ GßÓõÀ 
GßÚ? 

3. Give any two deductions of Profits and Gains under 
Business and Profession. 

 ÁºzuP® ©ØÖ® ÁõÌUøP öuõÈÀ «uõÚ »õ£[PÒ ©ØÖ® 
Buõμ[PÐUPõÚ Cμsk Á› Â»USPøÍ u¸P. 

Sub. Code 

4BCOE2A 
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4. Mr. Alex informs you that his total income computed 

under the Income Tax Act is Rs. 80,000. You are required 

to calculate his Tax Liability for the AY 2019-20. 

 v¸.Aö»Uì Á¸©õÚ Á›a \mhzvß RÌ PnUQh¨£mh 

ö©õzu Á¸©õÚ® ¹.80,000 BS®. 2019&20 ©v¨¥mk 
BskUPõÚ AÁμx Á›¨ö£õÖ¨ø£ PnUQkP. 

5. Expand the term CBDT. 

 CBDT GßÓ £uzvøÚ Â›ÁõUSP. 

6. What do you mean by Bond Washing Transactions? 

 Ps xøh¨¦ |hÁiUøPPÒ GßÓõÀ GßÚ? 

7. Define Self Assessment. 

 _¯©v¨¥k – Áøμ¯Ö. 

8. What is the Time Limit for making the Assessment under 

section 143(1)? 

 ¤›Ä 143(1) Cß RÌ ©v¨¥k ö\´ÁuØPõÚ Põ» Áμ®¦ 

GßÚ? 

9. What is deduction of Tax at Source? 

 BuõμzvÀ C¸¢x ¤izu® GßÓõÀ GßÚ? 

10. State the meaning of "Permanent Account Number". 

 {μ¢uμ PnUS Gs Gß£uß ö£õ¸Ò u¸P. 
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 Section B  (5 × 5 = 25) 

Answer all the  questions. 

11. (a) What is the Meaning of `Set-Off and Carry Forward' 
of Business Losses? How to adjust Business Losses? 

  ÁoP |mh[PøÍ Dk ö\´uÀ ©ØÖ® •ß÷ÚõUQ 
Gkzxa ö\À¾uÀ GßÓõÀ GßÚ? ÁoP |mh[PøÍ 
GÆÁõÖ \› ö\´Áx? 

Or 

 (b) Compute Taxable Income and Loss to be C/F: 

  (i) Business Profit for the Previous Year 2018-19    

       Rs. 20,000 

  (ii) B/F Business Loss of 2016-17  Rs. 10,000 

  (iii) Capital Loss on Shares  Rs. 60,000 

  (iv) Loss from Self-Occupied House (u/s 24)           

       Rs. 5,000 

  Á› ÂvUPUTi¯ Á¸©õÚ® ©ØÖ® •ß÷ÚõUQ 
Gkzxa ö\À¾® |mh[PøÍ PnUQkP. 

  (i) •¢øu¯ Bsk 2018&19 PõÚ ÁoP »õ£®  

       ¹. 20,000 

  (ii) 2016-&17® Bsiß •ß öPõnμ¨£mh ÁoP 

|mh®   ¹. 10,000 

  (iii) £[SPÎß ‰»® ‰»uÚ |mh® ¹. 60,000 

  (iv) ö\õ¢u Si°¸¨¦ Ãmi¼¸¢x HØ£mh |mh® 

(u/s 24)   ¹. 5,000 
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12. (a) Compute the total income of Mr. Ram from the 
particulars given below. 

Interest on Securities (Gross) 27,000

Rental value of a house Rs.7,500 p.m. Self-acquired 
but transferred to H.U.F. common pool. Income from 
this house (computed) is 

25,200

Share from firm in which he has 1/3rd Share 45,000

Commission received by his wife from such firm for 
acting as its selling agent. 

25,000

 v¸.μõªß ö©õzu Á¸©õÚzøu R÷Ç öPõkUP¨£mkÒÍ 
ÂÁμ[PÎ¼¸¢x PnUQkP. 

£zvμ[PÒ «uõÚ Ámi (ö©õzu®) 27,000

Ãmiß ÁõhøP ©v¨¦ ©õuzvØS ¹.7,500 _¯©õP 
Áõ[Q¯x  BÚõÀ H.U.F. GßÓ ö£õxÂß RÌ 
öPõskÁμ¨£mhx. C¢u Ãmi¼¸¢x 
(PnUQh¨£mhx) Á¸©õÚ®. 

25,200

J¸ Tmk {ÖÁÚzvÀ CÁ¸US £[S EÒÍx. CvÀ 
CÁμx £[S 1/3 

45,000

{ÖÁÚzvÀ Auß ÂØ£øÚ •PÁμõP ö\¯À£mhuØPõP 
AÁμx ©øÚÂ A¢u {ÖÁÚzvhª¸¢x ö£ØÓ Pªåß

25,000

Or 

 (b) Compute the Book Profit of a firm (Partners are 
Chartered Accountants) (FAS) from the details 
given below. 

  Profit earned by the firm in the year 2018-19 (after 
charging the following amounts)  Rs. 5,00,000. 

  (i) Interest on Capital to Partners @ 18%  
    Rs. 54,000. 

  (ii) Remuneration to Working Partners as per 
Partnership deed   Rs. 1,00,000. 
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  (iii) Donation to an approved educational 
institution    Rs. 1,00,000 

  (iv) Business Expenses  Rs. 5,000 

  (v) Income Tax    Rs. 1,000. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x J¸ 
{ÖÁÚzvß ¦zuP »õ£zøu (TmhõÎPÒ £mh¯ 
PnUPõÍºPÒ) (FAS) PnUQkP. 

  2018&19®  BsiÀ {ÖÁÚ® Dmi¯ »õ£® 
(¤ßÁ¸® öuõøPPøÍ Á`¼zu ¤ÓS) ¹. 5,00,000  

  (i) TmhõÎPÐUPõÚ •uÀ «uõÚ Ámi @ 18%    

  
       ¹.54,000. 

  (ii) Tmk £zvμ £i EøÇUS® TmhõÎPÐUPõÚ 
Fv¯®    ¹. 1,00,000. 

  (iii) A[RP›UP¨£mh PÀÂ {ÖÁÚzvØS 
|ßöPõøh    ¹. 1,00,000. 

  (iv) ÁoP ö\»ÄPÒ  ¹. 5,000 

  (v) Á¸©õÚ Á›   ¹. 1,000. 

13. (a) What are the powers of commissioner (Appeals)? 

  Bøn¯õÍ›ß (÷©À•øÓ±k) AvPõμ[PÒ GßÚ? 

Or 

 (b) Mention the various Income Tax Authorities. 

  £À÷ÁÖ ÁøP¯õÚ Á¸©õÚÁ› AvPõ›PøÍU 
SÔ¨¤kP. 

14. (a) Explain the Consequences of Best Judgement 
Assessment. 

  ]Ó¢u wº¨¦ ©v¨¥miß ÂøÍÄPøÍ ÂÍUSP. 

Or 



A–9659 

  

  6

 (b) Discuss the following.                    

  (i) E-Filing               

  (ii) PAN 

  ¤ßÁ¸ÁÚÁØøÓ¨ £ØÔ ÂÁõvUPÄ®. 

  (i) ªß uõUPÀ 

  (ii) £õß 

15. (a) What are the payments covered under the TDS 
Mechanism and the rates for deduction of tax at 
source? 

  i.i.Gì. •øÓ°ß RÌ EÒÍ ö\¾zxÀPÒ ©ØÖ® 
Buõμzv¼¸¢x Á› ¤izu ÂQu[PÒ GßÚ? 

Or 

 (b) What is the difference between PAN and TAN? 

  PAN US® TAN US® GßÚ Âzv¯õ\®. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following particulars, compute the Total Income 
of Mr. David for the Assessment year 2019-20. 

 Rs.

Loss from House Property -10,000

Short Term Capital Gain on sale of Shares 1,05,000

Long Term Capital Loss on sale of Bonds -85,000

Other sources : Interest on Govt. Securities 10,000

 The Assessee has unabsorbed depreciation of Rs. 25,000 
being brought forward from 2016-17.  Assessee had closed 
the business and all the assets have been disposed of. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 2019&20 ©v¨¥mk 
BsiØPõÚ v¸.÷hÂm ö©õzu Á¸©õÚzøu 
PnUQk[PÒ. 

 ¹.

Ãmk ö\õzv¼¸¢x CÇ¨¦ - 10,000

£[SPÎß ÂØ£øÚ ‰»® SÖQ¯ Põ» ‰»uÚ 
Buõ¯® 

1,05,000

£zvμ[PÎß ÂØ£øÚ°À }sh Põ» ‰»uÚ CÇ¨¦ - 85,000

¤Ó Buõμ[PÒ : Aμ_ £zvμ[PÒ «uõÚ Ámi 10,000

 ©v¨¥mhõÍº DºUP¨£hõu ÷u´©õÚ©õÚ ¹.25,000 I 
2016&17 Bsi¼¸¢x •ß öPõnμ¨£mhx BS®. 
©v¨¥mhõÍº ÁoPzøu ‰iÂmk Auß AøÚzx 
ö\õzxUPÐ® ÂØP¨£mhÚ. 

17. Compute the Tax Liability of Mr. Rahim from the 
particulars given below.        

 (a) Business Income                          Rs. (+) 1,50,000 

 (b) Loss from Self Occupied House   Rs. (-)   30,000 

 (c) Short Term Capital Gain from Jewellery  

       Rs. (+)    8,000 

 (d) Short Term Capital Gain from Shares which are 
subject to Securities Transaction Tax (+) 65,000 

 v¸.μïªß Á›¨ ö£õÖ¨ø£ R÷Ç öPõkUP¨£mkÒÍ 
ÂÁμ[PÎ¼¸¢x PnUQkP. 

 (A) ÁoP Á¸©õÚ®   ¹. (+) 1,50,000 

 (B) ö\õ¢u Si°¸¨¦ Ãmi¼¸¢x CÇ¨¦ ¹. (-)   30,000 

 (C) |øPPÎ¼¸¢x SÖQ¯ Põ» ‰»uÚ Buõ¯® 

       ¹. (+)    8,000 

 (D) £zvμ £›ÁºzuøÚ Á›US Em£mh £[SPÎ¼¸¢x 
SÖQ¯ Põ» ‰»uÚ Buõ¯® (+) 65,000 
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18. Who can act as Assessing Officers and what powers they 
have? 

 Á› ÂvUS® AvPõ›/©v¨¥mk AvPõ›PÍõP ¯õº 
ö\¯À£h •i²®, AÁºPÐUS GßÚ AvPμõ[PÒ 
EÒÍÚ? 

19. What is Assessment of Income? Explain various types of 
Assessments. 

 Á¸©õÚ ©v¨¥k GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 
©v¨¥kPøÍ ÂÍUSP. 

20. Explain the procedure for Advance Tax Payable by an 
Assessee on his own accord. 

 J¸ ©v¨¥mhõÍº uÚx ö\õ¢u Â¸¨£¨£i ö\¾zu 
÷Ási¯ AmÁõßì Á›UPõÚ |øh•øÓø¯ ÂÍUSP. 

  
———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Write note on Non Banking Assets. 

 Á[Q \õμõu ö\õzxUPÒ SÔzx SÔ¨¦ GÊxP. 

2. What is rebate on bills discounted? 

 uÒÐ£i ö\´¯¨£mh ¤ÀPÐUPõÚ uÒÐ£i GßÓõÀ 
GßÚ? 

3. Give the meaning of surrender value. 

 \μnøhuÀ ©v¨¤ß ö£õ¸øÍz u¸P. 

4. What do you understand by life assurance fund? 

 B²Ò Põ¨¥mk {v¯zuõÀ }Âº ¦›¢xUöPõÒÁx GßÚ? 

5. Define double account system. 

 CμmøhU PnUS •øÓø¯ Áøμ¯ÖUPÄ®. 

6. Trace the meaning of development reserve. 

 ÁÍºa] C¸¨¦UPõÚ ö£õ¸øÍU PshÔ¯Ä®. 

Sub. Code 
4BCO6C1 
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7. Define a holding company. 

 ¤i¨¦ {ÖÁÚzøu Áøμ¯ÖUPÄ®. 

8. State the meaning of minority interest. 

 ]Ö£õßø© {Ö©zvß ö£õ¸øÍU TÖ[PÒ. 

9. Mention the types of farm record. 

 £søÚ £vÂß ÁøPPøÍ U SÓ¨¤kP. 

10. Stevedoring Charges - explain. 

 \μUS ö£mhP Põ¨¦ Pmhn[PÒ – ÂÍUSP. 

 Section B (5 × 5 = 25) 

Answer All questions. 

11. (a) On 31st  March, 1998 a bank held the following bills, 
discounted by it earlier. 

Date of bill 
1998 

Term of bill 
(months) 

Discounted @ % 
p.a. 

Amount of 
bill 

January, 17 4 17 7,30,000 

February, 7 3 18 14,60,000 

March 9 3 17.5 3,64,000 

   You are required to calculate the rebate of bills 
discounted. 

  31.3.1998 AßÖ Á[Q°ß ©õØÖa^mkUPÒ ¤ßÁ¸©õÖ. 

1998 
©õØÖa^mk 

÷uv 

Põ»® 
(©õu®) 

Ámh® 
BskUS 

öuõøP
¹. 

áÚÁ›, 17 4 17 7,30,000

¤¨μÁ›, 7 3 18 14,60,000

©õºa 9 3 17.5 3,64,000

  Á[Q°À PÈÄ ö\´¯¨£mh ©õØÖa^miß «uõÚ 
uÒÐ£i°øÚ PnUQkP. 

Or 
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 (b) Explain the major kinds of deposits usually 
accepted by Banks and shown under section 3 

   ö£õxÁõP Á[QPÍõÀ HØÖUöPõÒÍ¨£mh ©ØÖ® 
¤›Ä 3–ß RÌ Põmh¨£k® •UQ¯ ÁøP¯õÚ 
øÁ¨¦øÍ ÂÍUSP. 

12. (a) From the following particulars, prepare the profit 
and loss account of ABC Bank Ltd. for the year 
ending 31-03-2017: 

 Rs. 

Interest on deposits 80,000

Commission (Cr.) 2,500

Interest on loans 62,250

Sundry charges (Dr.) 2,500

Rent and taxes 5,000

Establishment charges 12,500

Discount on Bills discounted 37,250

Interest on Overdraft 40,000

Interest on Cash Credit 58,000

Auditors' fees 875

Directors' fees 400

Bad debts to be written off 7,500

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 31,03,2017–Ehß 
•iÁøh²® BsiØPõÚ H¤] Á[Q ¼ªöhmiß 
»õ£ |mhU PnUøPU u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. 

øÁ¨¦UPõÚ Ámi 80,000

PÈÄ (ÁμÄ) 2,500

PhßPÐUPõÚ Ámi 62,250
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ÂÁμ[PÒ ¹. 

£Ø£» Pmhn[PÒ (£) 2,500

ÁõhøP ©ØÖ® Á›PÒ 5,000

ìuõ£Ú Pmhn[PÒ 12,500

PÈÄ ö\´¯¨£mh ©õØÖa^miß PÈÄ 37,250

Á[Q ÷©ÀÁøÓ¨ £ØÔß «x Ámi 40,000

£nU Phß «x Ámi 58,000

uoUøP¯õÍ›ß Pmhn® 875

C¯US|ºPÎß Pmhn® 400

ÁõμõUPhß ÷£õUS GÊv¯x 7,500

Or 

 (b) The following balances are extracted from the books 

of ABL Life Insurance Corporation. 

  Life insurance funds on 3 1.3.2006 Rs.1.600 lakhs 

  Net Liabilities as per valuation Rs.1,200 lakhs 

  Interim Bonus paid Rs.150 lakhs 

  You are required to show 

  (i)  the valuation Balance Sheet as on 31.3.2006 

and 

  (ii)  the distribution statement. 
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   ¤ßÁ¸® C¸¨¦PÒ H¤GÀ B²Ò Põ¨¥k 
{ÖÁÚzvß ¦zuUPzv¼¸¢x GkUP¨£mhøÁ. 

   B²Ò Põ¨¥k {v 31.3.2006  AßÖ ¹.1,600 
»m\[PÒ 

   ©v¨¥miß£i {Pμ ö£õÖ¨¦PÒ ¹.1,200 »m\[PÒ 

   CøhUPõ» ÷©¿v¯® ö\¾zv¯x ¹.150 »m\[PÒ 

   }Âº Põmh÷Ási¯x 

  (i)  31.3.2006 ÷uv°mh ©v¨¥k C¸¨¦ 
{ø»USÔ¨¦ ©ØÖ®  

  (ii)  £Qº¢uÎUS® AÔUøP. 

13. (a) H Ltd acquired 40,000 shared of S Ltd, on  
1st October, 2017 at Rs.7,80,000. H Ltd., value the 
machinery at Rs. 2,50,000 and current assets at 
Rs.2,75,000. Calculate minority interest. 

Liabilities Rs. Assets Rs. 

Shares of Rs. 10 each 5,00,000 Land 5,00,000

General Reserve as on 1.4.2017   2,00,000 Machinery 3,00,000

P & L A/c         1,50,000    Current Assets 2,00,000

(+) profit for 2016-17  50,000 2,00,000  

Creditors 1,00,000  

 10,00,000  10,00,000

   1.10.2017 AßÖ Ga. ¼ªöhm. 40,000 £[SPøÍ 
Gì ¼ªöhmiß C¸¢x Áõ[Q¯x, C¯¢vμ ©v¨¦ 
¹.2,50,000 ©ØÖ® |h¨¦ ö\õzxUPÒ ¹.2,75,000. 
]Ö£õßø© {ÖÁÚzøu £[QøÚ PnUQkP.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S •uÀ ¹.10 Ãu® 5,00,000 {»® 5,00,000 

ö£õxUPõ¨¦ 1.4.2017  2,00,000 C¯¢vμ® 3,00,000 
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»õ£ |mh P/S 1,50,000    |h¨¦a 

ö\õzxUPÒ

2,00,000 

(+) »õ£® (2016-–17) 50,000 2,00,000   

PhÜ¢÷uõº 1,00,000   

 10,00,000  10,00,000 

Or 
 (b) Balance sheet as on 31.12.2017 

Liabilities H Ltd 
Rs. 

 S. Ltd 
Rs. 

 Assets H Ltd
Rs. 

S. Ltd
Rs. 

Share capital 
of Rs. 10 each 

1,00,000  50,000  Sundry 
Creditors 

65,000 60,000

Profit and loss 
A/c 

20,000  5,000  Investment: 

General 
reserve 

10,000  4,000  5,000 share 
in ‘S’ ltd 

75,000

Sundry 
creditors 

10,000  1,000   

 1,40,000  60,000   1,40,000 60,000

  H Ltd., acquired the shares of ‘S’ Ltd., on 
31.12.2017. Prepare Consolidated Balance Sheet. 

    31.12.2017 AßÖ C¸¨£{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 
ö£õÖ¨¦PÒ Ga ¼ªm 

¹. 
 Gì. 

¼ªm 
¹. 

 ö\õzxUPÒ Ga ¼ªm
¹. 

Gì. 
¼ªm

¹. 
£[S •uÀ 
¹.10 Ãu® 

1,00,000  50,000  £Ø£» 
ö\õzxUPÒ 

65,000 60,000

»õ£ |mh 
P/S 

20,000  5,000  •u½kPÒ 

ö£õxUPõ¨¦ 10,000  4,000  5,000 £[SPÒ 
Gì 
¼iöhmiß 

75,000

£Ø£» 
PhÜ¢÷uº 

10,000  1,000   

 1,40,000  60,000   1,40,000 60,000
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14. (a) The Southern Railway built a station 20 years ago 
at cost of Rs. 40,000. Owings to increase in the cost 
of labour and materials, a similar station would now 
cost of Rs.60,000. The station, having proved 
inadequate for the increased traffic, is rebuilt at 
accost of Rs.1,40,000. Old material to the value of 
Rs.4,000 are utilized in the new construction and 
included in the above cost. The remaining old 
material sold for Rs.6,000. Apportion the new 
expenditure between capital and revenue. 

    öuØS öμ°À÷Á 20 BskPÍUS •ß¦ J¸ 
{ø»¯zøu Pmi¯x Auß ©v¨¦ ¹,40,000. 
öuÈ»õÍº ©ØÖ® ö£õ¸mPÎß Âø»ø¯ 
AvP›¨£uØPõÚ E›ø©PÒ EÒÍ A÷u 
{ø»¯zvØS uØ£÷õøu¯ Âø» ¹.60,000 C¢u 
{ø»¯® AvP›zx Á¸® ÷£õUSÁμzvØS 
Cøh²μõP EÒÍuõP {¹¤UP¨£mh {ø»°À 
¦x¨¤UP ¹.1,40,000 GÚ {ºn°zux. ¹.4,000-/ 
©v¨¦ÒÍ £øÇ¯ ö£õ¸ÒPÒ ¦v¯ Pmk©õÚzvÀ 
£¯ß£kzu¨£mk ÷©ØPsh ö\»ÂÀ 
÷\õºUP¨£mkÒÍÚ. «u•ÒÍ ¹.6,000 ©v¨¦ÒÍ 
£øÇ¯ ö£õ¸ÒPÒ ÂØP¨£mhx. ‰»uÚzvØS® 
Á¸Áõ´US® Cøh°»õÚ ¦v¯ ö\»øÁ¨ 
¤›UPÄ®. 

Or 

 (b) Mention the advantages of Double Accounts 
System. 

   CμmøhU PnUS •øÓ°ß |ßø©PøÍ 
GkzxøμUPÄ®. 

15. (a) S.S Jalaganga commenced a voyage on June 1.2018 
from Mumbai to New York and back. The voyage 
was completed on July 31.2018. It carried a 
consignment of handloom textiles on its outward 
journey and wheat on its return journey. The ship 
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was insured at annual premium of Rs. 24,000. From 
the particulars draw up the Voyage Account: Port 
charges Rs.5,000; Coal Rs.30,000; Wages and 
salaries Rs.50,000; Store purchases Rs.8,600; 
sundry expenses Rs.5,500; Depreciation (annual) 
Rs.96,000; Freight earned(out) Rs.1,30,000: freight 
earned(Return) Rs.70,000 Address communiaction 
5% on outward and 4% on return Freight. Passage 
money received Rs.10,000. Primage is 5% on freight. 
The manger is entitled to a 5% commission, on the 
profit earned, after charging such a commission. 
Stores and coal on hand were valued at Rs.30,000 
July 31. 

   Gì. Gì. á»P[Põ P¨£À áüß 1, 2018  AßÖ 
•®ø£°¼¸¢x {³¯õºUS ö\ßÓx. Auß £¯n® 
31.7.2018  AßÖ •iÁøh¢ux. Auß öÁÎ¨¦Ó 
£¯nzvÀ øPzuÔ áÄÎ ©ØÖ® v¸®¦® £nzvÀ 
÷Põxø© BQ¯øÁ öPõsk ö\ßÓx. P¨£À 
{ÖÁÚ® BskUS Põ¨¥k •øÚ©® ¹.24,000 US 
ö\´ux. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x P¨£À 
÷£õUSÁμzx PnUQøÚ u¯õ›UP. xøÓ•PU 
Pmhn® ¹.5,000, {»UP› ¹.30,000, T¼²® 
\®£Í•® ¹.50,000, öPõÒ•uÀ ¹,8,600, £Ø£» 
ö\»ÄPÒ ¹.5,500 ÷u´©õÚ® (BskUS) ¹.96,000, 
\μUQß ‰»® Á¸©õÚ® ¹.1,30,000 (öÁÎ¦Ó) 
\μUQß ‰»® Á¸©õÚ® (v¸®£) ¹.70,000. 

   •PÁ› öuõhº¦ 5% öÁÎ¨¦ÓzvÀ ©ØÖ® \μUQß 
«x 4% (v¸®£ ÁøP°À) £zv°ß £n® ö£ØÓx 
¹,10,000 \μUSPÎÀ 5% ÷©»õÍ¸US PÈÄ 5% \μUS 
©ØÓ® {»UP› 31.7–À 30,000 

Or 

 (b) Explain the special features of Farm Accounting. 

   £sønU PnUQß ]Ó¨¦ A®\[PøÍ ÂÍUSP. 
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 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. The following ledger balances of Mumbai bank as at 31st 

March, 2017, are given below. Prepare Profit & Loss 

Account and Balance Sheet as per the requirements of 

Law. 

 Rs. 

(‘000) 

 Rs. 

(‘000) 

Statutory 

Reserve 

1,200 Cash 225

Bad debts 

written off 

128 Interest Earned 550

Operating 

Expertise 

182 Balance with 

Reserve Bank 

2,030

Current 

Accounts 

20,245 Balance with 

Foreign banks 

1,206

Interest paid 160 Bills for collection 1,500

Deposit 

Accounts 

6,920 Borrowings from 

banks 

6,482

Profit and loss 

account B/F 

229 Cash Credits and 

Overdrafts 

15,457

Bills 

receivable for 

Customers 

1,500 Investments 9,882

Discount 244 Bills discounted 6,228
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 Rs. 

(‘000) 

 Rs. 

(‘000) 

Endorsements 
and 
guarantees 

575 Premises 2,217

Commission 45 Share Capital 2,000

 The following further information is furnished: 

 (a) Rebate on bills discounted to be provided of 
Rs.64,000 

 (b) The bank had paid an interim dividend of Rs. 
2,00,000 during the year. 

 ¤ßÁ¸® ÂÁμ[PÒ •®ø£ Á[Q°Ýøh¯ 31.3.2017 ® 
Bsk •i¯ EÒÍøÁ. Cuß ‰»® »õ£ |mh P/S ©ØÖ® 
C¸¨¦ {ø»U SÔ¨¤øÚ \mh•øÓ¨£i u¯õ›UPÄ®. 

 ¹. 
(‘000) 

 ¹. 
(‘000) 

\mh•øÓ 
Põ¨¦ 

1,200 öμõUP® 225

ÁõμõUPhß 
÷£õUöPÊv¯x 

128 Ámi ö£ØÓx 550

|øh•øÓ 
ö\»ÄPÒ 

182 ©zv¯ Á[Q°ß 
C¸¨¦ 

2,030

|h¨¦ 
PnUSPÒ 

20,245 Á[Q C¸¨¦ 
(öÁÎ|õmiÀ) 

1,206

Ámi 
ö\¾zv¯x 

160 Á`¾USÒÍ ©õØÖa 
^mkPÒ 

1,500

øÁ¨¦ PnUS 6,920 Á[Q°h® ö£ØÓ 
Phß 

6,482

»õ£ |mh P/S 229 öμõUP Phß ©ØÖ® 
÷©ÀÁøμ¨£ØÖ 

15,457
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 ¹. 
(‘000) 

 ¹. 
(‘000) 

ö£ÖÁuØS›¯ 
©õØÖa^mk 

1,500 •u½kPÒ 9,882

uÒÐ£i 244 uÒÐ£i ö\´¯¨£mh 
©õØÖa^mk 

6,228

÷©ö»ÊuÀ 
©ØÖ® 
Gvºö£õÖ¨¦ 

575 ÁÍõP® 2,217

PÈÄ 45 £[S©uÀ 2,000

 TkuÀ ÂÁμ[PÒ ¤ßÁ¸©õÖ 

 (A) PÈÄ ö\´¯¨£mh ©õØÖa^mkUS›¯ uÒÐ£i 
¹.64,000 

 (B) |h¨¦ BsiÀ CøhUPõ» £[Põuõ¯® ¹.2,00,000 
Á[Q ö\¾zv¯x. 

17. From the following balances extracted from the books of 
the LIC as at 31.03.2018, Prepare a Revenue A/c for the 
year ending 31.03.2018 in the prescribed form. 

Particulars Rs. Particulars Rs. 

Claims by 
death 

3,30,000 Life Assurance Fund 
(1.4.2017) 

63,31,000

Claims by 
maturity 

2,15,000 Premiums 20,65,000

Salaries 44,200 Bonus in reduction of 
premiums 

1,000

Travelling 
Exp 

1,200 Income Tax on 
Interest and 
Dividends 

5,700

Directors' 
fees 

8,700 Agents and 
Canvasser's 
allowance 

26,500
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Particulars Rs. Particulars Rs. 

Auditor's 
Fees 

1,000 Printing and 
Stationery 

13,900

Medical 
fees 

52,000 Postage and 
Telegrams 

14,300

Commission 2,18,000 Receipt Stamps 2,300 

Rent 2,800 Reinsurance 
premiums 

40,950 

Law 
Charges 

200 Interest and Dividend 
(Gross) 

2,72,000 

Advertising 4,300 Policy Renewal Fees 9,600 

Bank 
Charges 

1,500 Assignment Fees 540 

General 
Charges 

2,000 Endowment Fees 690  

Surrenders 47,500 Transfer Fees 1,400 

  Provide Rs. 1,500 Thousands for depreciation of 
furniture and Rs. 2,20,000 Thousands for 
depreciation on investments. 

 B²m Põ¨¥k PÇPzvß HkPÎ¼¸¢x 31.3.2018 AßÖ 
GkUP¨£mh C¸¨¦PøÍU öPõsk Á¸Áõ´ P/S – I 
31.3.2018 BskUS £›¢xøμUP¨£mh ÁiÁzvÀ 
u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

CÓ¨¦US›¯ 
E›ø© öuõøP 

3,30,000 B²m Põ¨¥k 
{v (1.4.17) 

63,31,000

•vºa]UPõÚ 
E›ø© öuõøP 

2,15,000 •øÚ©® 20,65,000
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ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

\®£Í® 44,200 •øÚ©zvÀ 
SøÓUP¨£mh 
÷©¿v¯® 

1,000

÷£õUSÁμzx 
ö\»ÄPÒ 

1,200 Á¸©õÚ Á› 
Ámi ©ØÖ® 
£[Põuõ¯® 

5,700

C¯USÚ¸US›¯ 
Pmhn® 

8,700 •PÁº ©ØÖ® 
£μ¨¦øμ¯õº 
£iPÒ 

26,500

uoUøP¯¸UPõÚ 
Pmhn® 

1,000 Aa_ 
GÊxö£õ¸Ò 

13,900

©¸zxÁU 
Pmhn® 

52,000 u£õÀ u¢v 
ö\»ÄPÒ 

14,300

PÈÄ 2,18,000 ö£ØÓ 
•zvøμPÒ 

2,300 

ÁõhøP 2,800 ©Ö Põ¨¥mk 
•øÚ©® 

40,950 

\mha ö\»ÄPÒ 200 Ámi ©ØÖ® 
£[Põuõ¯® 
(ö©õzu®) 

2,72,000 

ÂÍ®£μ® 4,300 Põ¨¥k £õ¼] 
¦x¨¤zuÀ 

9,600 

Á[Q Pmhn® 1,500 Ch©v¨¦ 
Pmhn® 

540 

ö£õxa ö\»ÄPÒ 2,000 AÓUPmhøÍ 
Pmhn® 

690  

J¨£øhÄ 
öuõøP 

47,500 ©õØÖ ö\»ÄPÒ 1,400 

 AøÓP»ß «x ¹.1,500 ÷u´©õÚ® •u½k «x® 
¹.2,20,000 }USP. 
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18. The following balances appearing in the books of 
Universal Electric Supply Corporation Ltd. as on 
31.12.2017 

Particulars Rs. Particulars Rs. 

Equity 
Shares 

6,00,000 Stores on Hand 6,000

Debentures 2,00,000 Cash in Hand 4,000

Lands on 
31.12.2017 

1,50,000 Cost of Generation of 
Electricity 

30,000

Lands 
purchased 
during the 
Year 

60,000 Cost of Distribution 
of Electricity 

9,000

Mains 
including 
cost of 
laying 
31.12.2017 

1,60,000 Sale of Current 1,50,000

Mains 
expended 
during the 
year 

76,000 Meter Rent 5,000

Machinery 
on 
31.12.2017      

5,50,000 Rent, Rates and 
Taxes 

12,000

Machinery 
purchased 
during the 
year 

66,000 Establishment 
Expenses 

21,000
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Particulars Rs. Particulars Rs. 

Sundry 
Creditors        

1,000 Interest on 
Debentures 

10,000

Depreciation 
Fund A/c         

2,50,000 Interim Dividends 20,000

Sundry 
Debtors for 
Current 
supplied          

40,000 Depreciation 20,000

Debts 500 Net Revenue A/c 
Balance on 
31.12.2017 

28,500

  From the above balances, prepare the    

  (a)  Revenue Account  

  (b)  Net Revenue Account  

  (c)  Capital Account  

  (d)  General Balance Sheet 

 ²ÛÁºéÀ ªß £QºÄ PÇPzvß (Áøμ¯ÖUP¨£mhx) 
31.12.2017 AßøÓ¯ C¸¨¦PÒ ¤ßÁ¸©õÖ. Cuß ‰¾®  

 (A) Á¸Áõ´ P/S 

 (B) {Pμ Á¸Áõ´ P/S 

 (C) •uÀP/S 

 (D) ö£õx C¸¨¦ øP°¸¨¦  u¯õ›UP. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

£[S •uÀ 
(\õuõμn®) 

6,00,000 \μUQ¸¨¦ 6,000

PhÜmk¨ 
£zvμ[PÒ 

2,00,000 øP°¸¨¦ öμõUP® 4,000
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ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

{»® 
31.12.2017 À 

1,50,000 ªß C¯UPa 
ö\»ÄPÒ 

30,000

|h¨¦ 
BsiÀ 
Áõ[Q¯ {»® 

60,000 ªß £QºÄ 
ö\»ÄPÒ 

9,000

•ußø© ªß 
ö£mi 
AhUP® 
31.12.2017 

1,60,000 ÂØ£øÚ 
ö\´¯¨£mh 
ªß\õμ® 

1,50,000

•ußø© ªß 
ö£mi |h¨¦ 
BsiÀ 

76,000 ªß ö£mi ÁõhøP 5,000

C¯¢vμ® 
31.12.2017 À 

5,50,000 ÁõhøP Á›, ©ØÖ® 
ÂQu[PÒ 

12,000

|h¨¦ 
BsiÀ 
C¯¢vμ® 

66,000 {ÖÄøPa ö\»ÄPÒ 21,000

£Ø£» 
PhÛ¢÷uõºPÒ 

1,000 PhÛmk £zvμ «x 
Ámi 

10,000

÷u´©õÚ {v 
P/S 

2,50,000 CøhUPõ» 
£[Puõ¯® 

20,000

£Ø£» 

PhÚõÎPÒ 

|h¨¤À 

ªß\¨øÍ 

40,000 ÷u´©õÚ® 20,000

Cuμ 

PhÚõÎPÎß 

I¯UPhß 

500  31.12.2015 À {Pμ 

Á¸Áõ´ C¸¨¦ 

28,500
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19.  The Balance Sheets of H Ltd. and S Ltd. as at 31st  

December, 2014 are as follows: 

Liabilities H Ltd 

Rs. 

S Ltd 

Rs. 

 Assets H Ltd

Rs. 

S Ltd

Rs. 

Share capital 

Rs.10 each 

1,00,000 50,000  Sundry 

Assets 

66,250 69,100

General Reserve 9,000 10,000  Goodwill - 10,000

P&L A/c 12,250 11,500  Shares in 

S Ltd 

70,000 –

Creditors 15,000 7,600   

 1,36,250 79,100   1,36,250 79,100

 In case of “S” Ltd., profit for the year ended 31st  

December 2014 is Rs.6,000 and transfer to reserve is 

Rs.2,500. The holding of F! Ltd. in S Ltd. is 90% Acquired 

on 30th  June 2014. Write off from sundry assets of H Ltd 

Rs.9,000. Also write of Rs. 3,100 from the sundry assets 

of S Ltd out of the current year's profits. Prepare a 

consolidated Balance Sheet of "H" Ltd. and its subsidiary. 
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J¸[Qøn¢u C¸¨¦{ø»U SÔ¨¤øÚ RÌÁ¸® 

31.12.2014 H ¼ªmiÀ ©ØÖ® S ¼ªmiß C¸¨¦{ø»U 
SÔ¨¦ Á¸©õÖ. 

ö£õÖ¨¦PÒ H Ltd 
¹. 

S Ltd 
¹. 

 ö\õzxUPÒ H Ltd
¹. 

S Ltd
¹. 

£[S•uÀ ¹. 10 
Ãu® 

1,00,000 50,000  £Ø£» 
ö\õzxUPÒ

66,250 69,100

ö£õxUPõ¨¦ 9,000 10,000  |Øö£¯º - 10,000

»õ£ |mh P/S 12,250 11,500  S ß 
£[SPÒ 

70,000 –

PhÜ¢÷uõº 15,000 7,600   

 1,36,250 79,100   1,36,250 79,100

31.12.2014&B® Bsiß »õ£® ¹. 6,000 S Ltd &US›¯x 

¹.2,500 I Põ¨¤ØS ©õØÔ¯x . H Ltd 90%. £[SPøÍ 

30.6.2014 AßÖ S Ltd &® Áõ[Q¯x. £Ø£» ö\õzxUPÎÀ 

H Ltd ¹. 9,000 I }UQ¯x. A÷u ÷£õÀ S Ltd ¹. 3,100 I 

}UQ¯x CvÀ |h¨£õsk »õ£®. H¼ªmiß 
J¸[Qøn¢u C¸¨¦{ø» SÔ¨ø£ u¯õ›UP. 

20. From the information given below prepare a Corp Account 
to ascertain the gross profit made by this section of the 
farm 

 Rs. 

Opening Stock 

Grains 8,000

Seeds  600

Fertilizer                                                             3,000

Purchase 8,200

Seeds  1,800
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 Rs. 

Fertilizers                                                           32,000

Sale of Grain  3,300

Grain distributed as wages 3,700

Wages paid in cash 4,300

Grains used by the proprietor 2,700

Grains consumed by the live stock section 1,900

Repairs and maintenance of farm machinery 2,500

Corp insurance 600

Closing Stocks 

Grains                                                                 3,700

Seeds  300

Fertilizers 400

 RÌÁ¸® ÂÁμ[PÎ¼¸¢x ÂÁ\õ¯ PnUQøÚ Auß 
•øÓ°À u¯õ›zx ö©õzu »õ£zøu PõsP. 

 ¹. 

öuõhUP \μUQ¸¨¦ 

uõÛ¯[PÒ 8,000

ÂøuPÒ 600

Eμ[PÒ                                                    3,000

öPõÒ•uÀ 8,200

ÂøuPÒ 1,800

Eμ[PÒ 32,000

uõÛ¯ ÂØ£øÚ 3,300

uõÛ¯[PÒ £QºÄUS T¼ 3,700

öμõUP©õP ö\¾zv¯ T¼ 4,300
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 ¹. 

E›ø©¯õÍº £¯ß£kzv¯ uõÛ¯[PÒ 2,700

÷|μi £[Qß ‰»® |Pμ¨£k® uõÛ¯[PÒ 1,900

£søn°ß C¯¢vμ £Êx£õº¦® £μõ©›¨¦® 2,500

ÂÁ\õ¯ Põ¨¥k 600

CÖv \μUQ¸¨¦ 

uõÛ¯[PÒ 3,700

ÂøuPÒ 300

Eμ[PÒ 400

 

 

 

 
———————— 

 



  

A–9657   

B.Com. DEGREE EXAMINATION, APRIL 2021 &
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MANAGEMENT ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions.  

1. Define Management Accounting. 
"÷©»õsø© PnUQ¯À' Áøμ¯Ö. 

2. Distinguish between Management Accounting and 
Financial Accounting. (any two) 

 ÷©»õsø© PnUQ¯¾US® {v°¯À PnUQ¯¾US® 
EÒÍ ÷ÁÖ£õkPÎÀ CμsiøÚU TÖP. 

3. State the nature of Financial Statement. 
{v{ø»U TØÔß C¯À¦PøÍ TÖP. 

4. Define Ratio Analysis. 
ÂQuõa\õμ £S¨£õ´Âß ÁøμÂ»UPn® u¸P. 

5. Bring out the Advantages of Fund Flow Statement. 
{v÷¯õmh B´Âß |ßø©PÒ u¸P. 

6. Give the meaning of Cash Flow Statement. 
öμõUP Kmh AÔUøP°ß ö£õ¸øÍ u¸P. 

Sub. Code 
4BCO6C2 
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7. Define the term budget. 
ÁμÄ ö\»Ä vmh® Gß£uß ÁøμÂ»UPn® u¸P. 

8. Enumerate the steps in budgetary control. 
ÁμÄ ö\»Ä vmh® u¯õº£kzu¨£k® £iPøÍ ÂÍUSP. 

9. What are the advantages of Marginal Costing? 
©õÖ£mk AhUPÂ¯¼ß |ßø©PÒ ¯õx? 

10. What is Break even point? 
C»õ£ |mh©ØÓ ¦ÒÎ GßÓõÀ GßÚ? 

 Section B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the functions of Management Accounting. 

  ÷©»õsø© PnUQ¯¼ß £oPøÍ ÂÍUSP. 

Or 

 (b) What are Advantages of Management Accounting? 

  ÷©»õsø© PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

12. (a) What is meant by analysis and interpretation of 
Financial Statements? 

  {v{ø» AÔUøP £S¨£õ´Ä ©ØÖ® ÂÍUP[PÒ 
GßÓõÀ GßÚ? 

Or 

 (b) Calculate the stock turnover ratio from the 
following: 

  Cost of goods sold Rs.65,000, 
  Sales Rs.1,00,000, 
  Average stock Rs.15,000. 

  \μUQ¸¨¦ _ÇØ] ÂQuzøuU PnUQkP. 
  AhUP ö\»Ä ¹.65,000; 
  ÂØ£øÚ ¹.1,00,000; 
  \μõ\› \μUQ¸¨¦ ¹.15,000. 
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13. (a) Define cash flow statement. What are its objectives? 
  öμõUP Kmh AÔUøP Áøμ¯Ö. Auß ÷|õUP[PÒ 

¯õøÁ? 

Or 
 (b) Calculate cash flow operations: 
  Net profit Rs.1,00,000; Loss on Sale of Machinery 

Rs.10,000; Depreciation on Building Rs.4,000; 
Depreciation on Machines Rs.5,000; Formation 
expenses w/off Rs.5,000; Provision for taxation 
Rs.10,000. Goodwill w/off Rs.5,000; Gain on sale of 
building Rs.8,000. 

  ö\¯ÀÁÈ öμõUPzøu PõsP: 
  {Pμ C»õ£® ¹.1,00,000;  G¢vμ® ÂØÓvÀ |mh® 

¹.10,000; Pmih ÷u´©õÚ® ¹.4,000; G¢vμ 
÷u´©õÚ® ¹.5,000; Aø©¨¦ ö\»ÄPÒ 
÷£õUöPÊu¨£mhx ¹.5,000; Á› JxURk ¹.10,000; 
|Øö£¯º ÷£õUöPÊu¨£mhx ¹.5,000; Pmih® 
ÂØÓvÀ Buõ¯® ¹.8,000. 

14. (a) What is master budget? Explain. 
  •ußø© ÁμÄ ö\»Ä vmh® GßÓõÀ GßÚ? 

ÂÍUSP. 

Or 
 (b) From the following particulars from January to 

June. Prepare production budget.  
Month: Jan Feb March April May June July 

Sales (units): 10,000 12,000 16,000 20,000 24,000 24,000 20,000 

  Finished goods equal to half the sales of next month 
will be in stock at the end of each month. Assume it 
is the company's first year of business. 

  RÌUPõq® Â£μ[PøÍU öPõsk, áÚÁ› •uÀ 
áüß Áøμ°»õÚ Põ»zxUS EØ£zv vmh® 
u¯õ›UP.  

©õu® : áÚÁ› ¤¨μÁ› ©õºa H¨μÀ ÷© áüß áüø» 

ÂØ£øÚ 
(A»SPÒ) : 10,000 12,000 16,000 20,000 24,000 24,000 20,000 

  JÆöÁõ¸ ©õu CÖv°¾® Akzu ©õu ÂØ£øÚ°À 
£õv \μUQ¸¨£õP C¸UP ÷Ásk®. C¢u Bskuõß 
{ÖÁÚzvß •uÀ Â¯õ£õμ Bsk GÚU öPõÒP. 
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15. (a) What are the limitations of Marginal Costing? 

  ©õÖ£õk AhUPÂ¯¼ß SøÓPÒ ¯õøÁ? 

Or 

 (b) Fixed cost Rs.1,00,000; P/V ratio - 20%. Calculate 
BEP. 

  {ø»a ö\»ÄPÒ ¹.1,00,000;  C»õ£ AÍÄ ÂQu® 
20%. C»õ£ |mh©ØÓ \©{ø»¨ ¦ÒÎø¯ PnUQkP. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. State the meaning and objectives of Management 
Accounting. 

 ÷©»õsø© PnUQ¯¼ß ö£õ¸Ò ©ØÖ® ÷|õUP[PøÍ 
TÖP. 

Or 

17. Following are the details of the trading activities of Arun: 
Stock velocity - 8 months; Debtors velocity - 3 months; 
Creditors velocity - 2 months; Gross profit ratio - 25%. 
Gross profit for the year Rs.4,00,000. Bills receivable 
Rs.25,000, Bills payable Rs.10,000. Closing stock is 
Rs.10,000 more than the opening stock. 

 Find out (a) Sales, (b) Debtors, (c) Creditors, (d) Closing 
stock. 

 A¸s Gß£Á›ß Â¯õ£õμ |hÁiUøPPÎß Â£μ[PÒ 
¤ßÁ¸©õÖ: 

 \μUQ¸¨¦ Ãa_ & 8 ©õu[PÒ; PhÚõÎPÒ Ãa_ & 3 ©õu[PÒ; 
PhÜ¢÷uõº Ãa_ & 2 ©õu[PÒ; ö©õzu C»õ£ ÂQu® & 25%. 
CÆÁõsiØPõÚ ö©õzu C»õ£® ¹.4,00,000. ÁμÄUS›¯ 
©õØÖa^mk ¹.25,000; ö\¾zxuØS›¯ ©õØÖa^mk 
¹.10,000; CÖv \μUQ¸¨¦ öuõhUP \μUQ¸¨ø£ Põmi¾® 
¹.10,000 AvP® GÛÀ ¤ßÁ¸ÁÚÁØøÓ PnUQkP. 

 (A)  ÂØ£øÚ,  (B) PhÚõÎPÒ,  (C) PhÜ¢÷uõº, 
(D)   CÖv \μUQ¸¨¦.  
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18. Prepare a cash flow statement, from the following 

Balance Sheet. 
Liabilities 2016 

Rs. 
 2017 

Rs. 
 Assets 2016 

Rs. 
2017 
Rs. 

Share capital 2,00,000  2,50,000  Cash 30,000 47,000

Creditors 70,000  45,000  Debtors    1,20,000 1,15,000

P & L A/c. 10,000  23,000  Stock 80,000 90,000

    Land 50,000 66,000

 2,80,000  3,18,000   2,80,000 3,18,000

 ¤ßÁ¸® C¸¨¦ {ø»U SÔ¨ø£ öPõsk öμõUP Kmh 
AÔUøP u¯õμõUS.  

ö£õÖ¨¦PÒ 
2016 
¹. 

 2017 
¹. 

 ö\õzxUPÒ 2016 
¹. 

2017 
¹. 

£[S •uÀ 2,00,000  2,50,000  öμõUP® 30,000 47,000

PhÜ¢÷uõº 70,000  45,000  PhÚõÎPÒ  1,20,000 1,15,000

C»õ£ |mh P/S 10,000  23,000  \μUQ¸¨¦ 80,000 90,000

    {»® 50,000 66,000

 2,80,000  3,18,000   2,80,000 3,18,000

19. Draw up a Flexible budget for the production at 75% and 

100%. Capacity on the basis of the following data for 50% 

activity. 

 Per unit 

(Rs.) 

Materials 100.00   

Labour 50.00 

Variable expenses (direct) 10.00 

Administrative expenses (50% fixed) 40.00 

Selling and distribution expenses (60% fixed) 50.00 

Present production 50% activity - 1000 units  
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RÌUPõq® 50% ö\¯À£õmiß Ai¨£øh°À 75% ©ØÖ® 

100% vÓß öPõsh ö|QÌÄÖ {vzvmh® u¯õ›UPÄ®. 

 J¸ A»QØS 

¹. 

‰»¨ö£õ¸Ò 100.00   

T¼ 50.00 

©õÖ® ö\»Ä (÷|μi) 10.00 

{ºÁõPa ö\»Ä (50% {ø»¯õÚx) 40.00 

ÂØ£øÚ ©ØÖ® £QºÄ ö\»Ä 

(60% {ø»¯õÚx) 
50.00 

uØ÷£õøu¯ EØ£zv (50% ö\¯À£õk) & 1000 A»SPÒ 

20. From the following particulars, compute Material 

variances. 

 (a) Material cost variance 

 (b) Material price variance and 

 (c) Material usage variance 

 Quantity of materials purchased 3000 units. 

 Value of materials purchased      Rs.9,000. 

 Standard quantity of materials required: 

 Per tonne of output  30 units 

 Standard rate of material  Rs.2.50 per unit 

 Opening stock of material  Nil 

 Closing stock of material  500 units 

 Output during the period  80 tonnes 



A–9657 

  

  7

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x ‰»¨ö£õ¸Ò ©õÖ£õmøh 

PnUQkP. 

 (A) ‰»¨ö£õ¸Ò AhUP ÷ÁÖ£õk 

 (B) ‰»¨ö£õ¸Ò Âø» ÷ÁÖ£õk    ©ØÖ® 

 (C) ‰»¨ö£õ¸Ò £¯ß£õmk ÷ÁÖ£õk 

 ‰»¨ö£õ¸Ò öPõÒ•uÀ ö\´u AÍÄ  & 3,000 A»SPÒ 

 ‰»¨ö£õ¸Ò öPõÒ•uÀ ©v¨¦          & ¹.9,000. 

 ÷uøÁ¨£k® ‰»ö£õ¸ÒPÎß uμ AÍÄ: 

 J¸ hß EØ£zvUS ÷uøÁ¯õÚx  & 30 A»SPÒ 

 ‰»¨ö£õ¸Îß uμ ©v¨¦ & ¹.2.50 (J¸ A»QØS) 

 öuõhUP ‰»ö£õ¸Îß \μUQ¸¨¦  & JßÖªÀø» 

 CÖv ‰»ö£õ¸Ò \μUQ¸¨¦  & 500 A»SPÒ 

 A¢u Á¸hzvß EØ£zv°ß AÍÄ  & 80 hß 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define on Factory as per Factories Act, 1948. 

 öuõÈØ\õø» \mhÂv 1948–ß £i öuõÈØ\õø» Gß£øu 
Áøμ¯Ö. 

2. Who is called as Young Person in Law? 

 \mhzvÀ CøÍbº GßÓøÇUP¨£k£Áº ¯õº? 

3. What do you meant by Trade Union? 

 öuõÈØ\[P® GßÓõÀ GßÚ? 

4. What does Wages Means according to the Minimum 
Wages Act? 

 SøÓ¢u£m\ Fv¯ \mhzvß £i Fv¯® GßÓõÀ GßÚ? 

Sub. Code 
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5. List out any four authorities under the Industrial 
Disputes Act, 1947. 

 öuõÈÀxøÓz uPμõÖ \mh® 1947 ß RÌ 4 AvPõ›PøÍ¨ 
£mi¯¼kP. 

6. Define Strike. 

 "÷Áø» {Özu®' Áøμ¯Ö. 

7. Give the meaning of Accident. 

 "Â£zx' Gß£uß ö£õ¸øÍ u¸P. 

8. Who are covered under the Workmen's Compensation 
Act, 1923? 

 öuõÈ»õÍºPÎß CÇ¨¥mka \mhzvß RÌ 1923 Á¸÷Áõº 
¯õº? 

9. EPF Stands for? Denote with Year of enactment. 

 EPF Â›ÁõUP® GßÚ? Ax C¯ØÓ¨£mh Á¸hzøuU 
SÔ¨¤kP. 

10. Define the term employment injury used in ESI. 

 ESI– ß £i "Põ¯®' GßÓ ö\õÀ Áøμ¯øÓ u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the rules regarding working hours for 
Adults under Factories Act. 

  öuõÈØ\õø» \mhzvßRÌ Á¯x Á¢÷uõº ÷Áø» 
÷|μ® öuõhº£õÚ ÂvPøÍ ÂÍUSP. 

Or 
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 (b) Depict the powers of Inspectors. 

  B´ÁõÍ›ß AvPõμ GÀø»PøÍU SÔ¨¤kP. 

12. (a) State the liabilities of Trade Unions. 

  öuõÈØa\[P[PÎß ö£õÖ¨¦PÒ £ØÔ Áøμ¯ÖUP. 

Or 

 (b) Describe the procedure for fixing wages under the 
Minimum Wages Act. 

  SøÓ¢u£m\ Fv¯ \mhzvß RÌ Fv¯[PøÍ 
{ºn°¨£uØPõÚ |øh•øÓø¯  ÂÁ›UP. 

13. (a) Differentiate between Strike and Lockout. 

  ÷Áø»{Özu® öuõÈØ\õø» PuÁøh¨¦ 
÷ÁÖ£kzxP. 

Or 

 (b) Discuss the power and duties of Authorities under 
the Industrial Disputes Act, 1947. 

  öuõÈØxøÓ uPμõÖ \mh® 1947–ß RÌ AvPõ›PÎß 
GÀø»PÒ ©ØÖ® Phø©PÒ £ØÔ GkzxøμUP. 

14. (a) Write short note on Disablement. 

  C¯»õø© SÔzx SÔ¨¦øμUP. 

Or 

 (b) ‘‘Employer refuses to pay compensation to  a 
workman  under   workman's Compensation Act" – 
Discuss. 

  CÇ¨¥k ÁÇ[P ©ÖUS® •u»õÎUS £o¯õÍº 
CÇ¨¥mka \mhzvß RÊÒÍ |øh•øÓø¯ 
ÂÍUPÄ®. 

15. (a) Enumerate the rules regarding contribution under 
ESI Act, 1948. 

  öuõÈ»õÍº DmkÖv Põ¨¥mka \mh® 1948–ß 
£[PÎ¨¦ öuõhº£õÚ ÂvPøÍ ÂÁõvUP. 

Or 
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 (b) What are the benefits of Provident Fund Scheme? 

  Á¸[Põ» øÁ¨¦ {v vmhzvß |ßø©PÒ 
GßöÚßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss briefly about the Health provisions under the 
Factories Act, 1948. 

 öuõÈØ\õø» \mh® 1948–ß RÌ _Põuõμ HØ£õkPÒ £ØÔ 
Â›ÁõP ÂÁõvUPÄ®. 

17. Explain the provisions relating to wages in kind and 
Minimum wages payable at Factories Act, 1948. 

 öuõÈØ\õø» \mh® 1948–ß £i ö\¾zu ÷Ási¯ Fv¯ 
ÁøPPÒ ©ØÖ® SøÓ¢u£m\ Fv¯ ÂvPÒ £ØÔ 
ÂÍUP©õP TÖP. 

18. Enumerate the statutory prohibition of strikes and lock–
outs. 

 ÷Áø»{Özu® ©ØÖ® PuÁøh¨¦ BQ¯ÁØÔß 
\mhŸv¯õÚ uøhPÒ £ØÔ GkzxøμUP. 

19. Describe the rules regarding workman’s compensation. 

 £o¯õÍ›ß CÇ¨¥møh ©Ö^μø©US® ÂvPøÍ  
ÂÁ›UP. 

20. State the general provisions regarding benefits under the 
ESI Act. 

 ESI \mh® öuõhº£õÚ |ßø©PÒ £ØÔ ö£õxÂvPøÍ¨ 
£mi¯¼kP. 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer ALL questions. 

1. Define ‘ audit’. 

 ‘uoUøP’ Áøμ¯Ö. 

2. What is ‘Continuous Audit’? 

 ‘öuõhº uoUøP’ GßÓõÀ GßÚ? 

3. Give the meaning of ‘Internal Check’. 

 ‘APa÷\õuøÚ’ Gß£uß ö£õ¸øÍ u¸P. 

4. What are ‘Audit Files’? 

 ‘uoUøP ÷Põ¨¦PÒ’ GßÓõÀ GßÚ? 

5. Define ‘Vouching’. 

 ‘\õßÓõ´Ä’ Áøμ¯Ö. 

Sub. Code 
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6. What do you mean by ‘Voucher’? 

 ‘Buõμa^mk’ GßÓõÀ GßÚ? 

7. How will you verify ‘Investments’? 

 •u½kPøÍ GÆÁõÖ \›£õº¨£õ´? 

8. How will you value ‘Plant and Machinery’? 

 C¯¢vμ[PÒ ©ØÖ® ö£õÔPøÍ GÆÁõÖ ©v¨¥k 
ö\´Áõ´? 

9. State the liabilities for negligence. 

 PÁÚU SøÓÂß ö£õÖ¨¦PøÍ TÖP. 

10. What are the liabilities to third Parties?  

  ‰ßÓõ® |£¸UPõÚ ö£õÖ¨¦PÒ ¯õøÁ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the advantages of Audit. 

   uoUøP°ß |ßø©PøÍ TÖP. 

Or 

 (b) Indicate the various types of Audit. 

   uoUøP°ß £À÷ÁÖ ÁøPPøÍ SÔ¨¤kP. 

12. (a) Distinguish between ‘Internal check and Internal 
control. 

   APa÷\õuøÚ, APUPmk¨£õk ÷ÁÖ£kzxP. 

Or 
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 (b) Mention the procedure foe Audit. 

   uoUøP ö\´ÁvÀ EÒÍ |øh•øÓPøÍ SÔ¨¤kP. 

13. (a) Vouching is the backbone of auditing. – Explain. 

   ‘‘\õßÓõ´Ä Gß£x uoUøP°¯¼ß •xöP¾®¦’’ – 
ÂÍUSP. 

Or 

 (b) State the duties of an auditor while vouching. 

   \õßÓõ´Âß ö£õÊx uoUøP¯õÍ›ß Phø©PøÍ 
ÂÍUSP. 

14. (a) What are the procedures to be followed while 
verifications of sundry debtors? 

   £Ø£» PhÚõÎPøÍ \›£õºzu¼ß ö£õÊx EÒÍ 
|øh•øÓPÒ ¯õøÁ? 

Or 

 (b) Compare valuation of assets with verification of 
assets. 

   ö\õzxUPøÍ ©v¨¤hø» ö\õzxUPøÍ 
\›£õºzu÷»õk J¨¤kP. 

15. (a) What are the criminal liabilities of an auditor? 

   J¸ uoUøP¯õÍ›ß Q›ªÚÀ ö£õÖ¨¦UPÒ 
¯õøÁ? 

Or 

 (b) Examine the liabilities for misfeasance. 

   AvPõμzøu uÁÓõP £¯ß£kzxÁuß öuõhº£õÚ 
ö£õÖ¨¦UPøÍ ÂÍUSP.  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. List out the qualities of an auditor. 

 uoUøP¯õÍ›ß uSvPøÍ £mi¯¼kP. 

17. Explain the contents of audit programme. 

 uoUøP vmhzvß ö£õ¸ÍhUPzøu ÂÍUSP. 

18. How will you vouch cash transactions? 

 öμõUP |hÁiUøPPøÍ GÆÁõÖ \õßÓõ´Ä ö\´Áõ´? 

19. State the procedure for verification of liabilities. 

 ö£õÖ¨¦UPøÍ \›£õºzu¼À EÒÍ |øh•øÓPøÍ 
ÂÍUSP. 

20. Discuss the liabilities of an auditor. 

 uoUøP¯õÍ›ß ö£õÖ¨¦UPøÍ ÂÁ›. 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Entrepreneur. 

 öuõÈÀ •øÚ÷Áõº – C»UPn® u¸P. 

2. Who is drone entrepreneur? 

 ‘£Çø© öuõÈÀ •øÚ÷Áõº’ Gß£Áº ¯õº? 

3. What is business idea? 

 Â¯õ£õμ ÷¯õ\øÚ GßÓõÀ GßÚ? 

4. Define sole proprietorship. 

 uÛ¯õÒ ÁoP® – C»UPn® u¸P. 

5. What is meant by seed capital? 

 ‰» •uÀ GßÓõÀ GßÚ? 

Sub. Code 
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6. Expand NSIC. 

 NSIC Â›ÁõUP® u¸P. 

7. What do you mean by project report? 

 vmh AÔUøP £ØÔ } AÔÁx ¯õx? 

8. Define project Appraisal. 

 ‘vmh ©v¨¥k’ – C»UPn® u¸P. 

9. Who is a women entrepreneur? 

 “ ö£s öuõÈÀ •øÚ÷Áõº” Gß£Áº ¯õº? 

10. What is industrial sickness? 

 “öuõÈØxøÓ ÷|õ´” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the qualities of an entrepreneur. 

  öuõÈÀ •øÚ÷Áõ›ß uSvPøÍ ÂÍUSP. 

Or 

 (b) Entrepreneurship as a career – Discuss. 

  öuõÈÀ •øÚÄ Gß£x Kº ÁõÌUøP – ÂÁõv. 

12. (a) How to start business? 

  Â¯õ£õμzøu GÆÁõÖ Bμ®¤¨£õ´? 

Or 

 (b) What are the steps involved in the process of 
product selection? 

  EØ£zv¨ ö£õ¸øÍ ÷uº¢öuk¨£vÀ EÒÍ £À÷ÁÖ 
£i{ø»PÒ ¯õøÁ? 
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13. (a) Describe the main activities of DIC. 

  DIC °ß •UQ¯ |hÁiUPøÍ ÂÁ›. 

Or 

 (b) Briefly explain the functions of commercial banks. 

  ÁoP Á[QPÎß £oPøÍ _¸UP©õP ÂÍUSP. 

14. (a) Explain the contents of the project report. 

  vmh AÔUøP°ß EÒÍhUPzvøÚ ÂÁ›. 

Or 

 (b) Write short note on : Technical Appraisal. 

  ]Ö SÔ¨¦ ÁøμP : öuõÈÀ~m£ ©v¨¥k 

15. (a) Explain the various phases of EDPs. 

  EDP°ß £À÷ÁÖ £i{ø»PøÍ ÂÍUSP. 

Or 

 (b) What are the problems faced by women 
entrepreneur in India? 

  C¢v¯õÂÀ ö£s öuõÈÀ •øÚ÷ÁõºPÒ \¢vUS® 
Cøh³ÖPÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the various types of entrepreneurs. 

 öuõÈÀ •øÚ÷Áõ›ß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

17. Elucidate the factors that influence plant location. 

 Ch Aø©øÁ wº©õÛUS® PõμoPÒ SÔzx ÁøμP. 
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18. Explain the various incentives available to small scale 
industries. 

 ]Ô¯ AÍÄ öuõÈØ\õø»PÐUS QøhUPUTi¯ £À÷ÁÖ 
ÁøP¯õÚ FUPzöuõøP°øÚ ÂÍUSP. 

19. Briefly describe the various sources of finance. 

 £À÷ÁÖ ÁøP¯õÚ {v Buõμ[PøÍ _¸UP©õP ÂÁõv. 

20. Explain the causes of sickness in small scale industries 
and their remedial measures. 

 ]Ö öuõÈØ\õø»PÎß ö|õi¨¦ {ø»US EshõÚ 
Põμn[PÒ ©ØÖ® Av¼¸¢x «ÒÁuØS›¯ ÁÈÁøPPÒ 
SÔzx ÂÍUSP. 

 
 
 
 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Marginal Product. 

 CÖv{ø» EØ£zv Áøμ¯Ö. 

2. What is Isoquant? 

 \© AÍÄ EØ£zv ÷Põk GßÓõÀ GßÚ? 

3. Write a note on Implicit Cost. 

 ©øÓ•P ö\»Ä SÔzx ]Ö SÔ¨¦ ÁøμP. 

4. Learning Curve – Define. 

 PØÓÀ Áøμ÷Põk – Áøμ¯Ö. 

5. Bring out the meaning of Supply Schedule. 

 ÁÇ[PÀ AmhÁøn°ß ö£õ¸øÍ öÁÎöPõnºP. 

6. State the Law of Supply. 

 ÁÇ[PÀ Âv°øÚ SÔ¨¤kP. 

Sub. Code 
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7. Define Monopoly. 

 HP÷£õP E›ø©°øÚ – Áøμ¯Ö. 

8. What do you mean by Free entry and exit? 

 Pmk£õhØÓ ~øÇÄ ©ØÖ® öÁÎ÷¯ØÓ® SÔzx }Âº 
AÔ¢ux GßÚ? 

9. How will you define Monopolistic Competition? 

 •ØÖ›ø©¨ ÷£õmi°øÚ } GÆÁõÖ Áøμ¯Ö¨£õ´? 

10. State the meaning of Equilibrium. 

 \©{ø» ¦ÒÎ°ß ö£õ¸øÍ TÖP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mention the reasons for the operation of Law of 
Diminishing Returns. 

   SøÓÄ¸® Á¸Áõ´ Âv ö\¯À£h Põμn[PøÍU 
SÔ¨¤kP. 

Or 

 (b) What are the uses of Production Function? 

   EØ£zv £S¨£õ´Âß £¯ßPÒ ¯õøÁ? 

12. (a) Distinguish between Fixed cost and Variable Cost. 

   {ø» ö\»øÁ²® ©õÖ£k® ö\»øÁ²® ÷ÁÖ£kzxP. 

Or 

 (b) Write short note on : 

  (i) Production Overhead and 

  (ii) Selling Overhead. 

  ]Ö SÔ¨¦ ÁøμP : 

  (i) EØ£zv ÷©Øaö\»Ä 

  (ii) ÂØ£øÚ ÷©Øa ö\»Ä. 
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13. (a) How Elasticity of Supply is measured? 

   AÎ¨¤ß ö|QÌÄ vÓß GÆÁõÖ ©v¨¤h¨£kQÓx. 

Or 

 (b) Prepare a Supply Schedule with imaginary figures. 

   PØ£øÚ¯õÚ GsPÐhß Kº ÁÇ[PÀ AmhÁøn 

u¯õº¨£kzxP. 

14. (a) What are the features of Perfect Competition? 

   xÀ¼¯ ÷£õmi°ß ußø©PÒ ¯õøÁ? 

Or 

 (b) Bring out the different forms of Price 
Discrimination. 

   Âø»÷£u® Põmku¼ß ÁøPPøÍ öÁÎöPõnºP. 

15. (a) What is the position of Monopolistic competitive 
firm in the short run? 

   SÖQ¯ Põ»zvÀ HP÷£õP÷£õmi {ÖÁÚzvß {ø» 

¯õx? 

Or 

 (b) Distinguish between Perfect Competition and 
Monopolistic Competition. 

   xÀ¼¯ ÷£õmiø¯ HP÷£õP ÷£õmi°À C¸¢x 

÷ÁÖ£kzxP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the Law of Variable Proportions. 

 ©õÖ® AÍÄ Âvø¯ ÂÍUSP. 

17. List out the different types of Costs and explain them 
briefly. 

ö\»ÄPÎß ÁøPPøÍ _¸[P ÂÍUSP. 

18. Discuss the Determinants of Elasticity of Supply. 

 AÎ¨¤ß ö|QÌÄ vÓøÚ wº©õÛUS® PõμoPÒ ¯õøÁ? 

19. How does a Monopoly firm determine its price? 

 HP÷£õP E›ø©°À Âø» GÆÁõÖ {ºn°UP¨£kQÓx? 

20. Explain the Equilibrium of a Monopolistic firm in the 
Long run. 

}sh Põ»zvÀ HP÷£õP ÷£õmi {ÖÁÚzvß \©{ø»¨ 
¦ÒÎø¯ ÂÍUSP. 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is called pro term secretary? 

 uØPõ¼P ö\¯»º Gß£Áº ¯õº? 

2. Who is called ‘Executive Secretary’? 

 ‘‘ö\¯À ö\¯»º’’ Gß£Áº ¯õº? 

3. What do you mean by company? 

 ‘‘{Ö©®’’ GßÓõÀ GßÚ? 

4. What is meant by prospectus? 

 uPÁÀ AÔUøP GßÓõÀ GßÚ? 

5. Who are regional directors? 

 ©sh» C¯US|ºPÒ ¯õº? 

6. What do you understand by the term “Share warrants”? 

 £[S Áõμsm GßÓõÀ GßÚ? 

Sub. Code 
4BCOA3 



A–10142

  

  2

7. Define the term meeting. 

 Tmh® Áøμ¯Ö. 

8. What is statutory report? 

 \mh¨§ºÁ AÔUøP GßÓõÀ GßÚ? 

9. What do you mean by proper notice? 

 •øÓ¯õÚ AÔÂ¨¦ GßÓõÀ GßÚ? 

10. What is resolution? 

 wº©õÚ® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) Write a note on dismissal of a company secretary. 

   {Ö©a ö\¯»º £uÂ }UP® SÔzx ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) What are the duties of a company secretary towards 
shareholders of the company? 

   {Ö© £[SuõμºPÐUPõÚ, {Ö©a ö\¯»›ß Phø©PÒ 

¯õøÁ? 

12. (a) Controller of capital issues restrict the flow of 
foreign capital. Discuss. 

   ‰»uÚ Pmk¨£õmk Bøn¯º A¯À|õmk ‰»uÚ 

ÁμÄPøÍ uøh ö\´QÓõº. ÂÍUSP. 

Or 

 (b) What is the role of promoters? 

   ÷uõØÖÂ¨£õÍºPÎß £[S ¯õx? 
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13. (a) State the secretarial procedure in relation to 
allotment of shares. 

   £[S JxURk ö\´ÁvÀ ö\¯»›ß |øh•øÓPøÍ 

ÂÁ›. 

Or 

 (b) What are the procedures to be adopted for 
commencement of business? 

   öuõÈÀ öuõh[SÁvÀ ö\¯»º ¤ß£ØÓ ÷Ási¯ 

|øh•øÓPÒ ¯õøÁ? 

14. (a) What are the objects of statutory meeting? 

   \mh¨§ºÁ Tmhzvß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the rules regarding proxies? 

   £PμõÒ \®£¢u¨£mh \mh åμzxPÒ ¯õøÁ? 

15. (a) What is Agenda? And what are the objects of 
preparing Agenda? 

   {PÌa] {μÀ GßÓõÀ GßÚ? Ax u¯õ›UP¨£k® 

÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the uses of minute book? 

   Tmh |hÁiUøP¨ ¦zuPzvß £¯ßPÒ ¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the procedure for appointment of a company 
secretary. 

 {Ö©a ö\¯»›ß {¯©ÚzvÀ EÒÍ £i{ø»PøÍ ÂÍUSP. 

17. Industries (Development and Regulation) Act – Discuss. 

 öuõÈØ\õø» (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh® – 
ÂÁõv. 

18. What are the contents of memorantum of association? 

 Aø©¨¦ •øÓ÷¯miß EÒÍhUP® ¯õøÁ? 

19. What is voting? Under what conditions voting is 
preferred by chairman? 

 ÁõUPÎ¨¦ GßÓõÀ GßÚ? uø»ÁμõÀ G¢ua `Ç¼À 
ÁõUPÎ¨¦ •ßÝ›ø© ÁÇ[P¨£kQÓx. 

20. Discuss in detail about chairman’s speech. 

 uø»Á›ß ÷£a_ SÔzx Â›ÁõP ÂÁõv. 

 

 

 
———————— 
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U.G. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations

Commerce 

Allied — SECRETARIAL PRACTICE — II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Who can become a member? 

 ¯õº EÖ¨¤ÚμõP»õ®? 

2. What is impersonation of a member? 

 ‘EÖ¨¤Úº BÒ©õÓõmh®’ GßÓõÀ GßÚ? 

3. Define ‘Director’. 

 ‘C¯US|º’ Áøμ¯Ö. 

4. Give the meaning of ‘Special Audit’. 

 ‘]Ó¨¦ uoUøP’ Gß£uß ö£õ¸Ò u¸P. 

5. What is ‘Casual Returns’? 

 ‘uØPõ¼P uõUPÀPÒ’ GßÓõÀ GßÚ? 

6. Define ‘Circular’. 

 ‘_ØÓÔUøP’ Áøμ¯Ö. 
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7. Give the meaning of ‘Dividend’. 

 ‘£[Põuõ¯®’ Gß£uß ö£õ¸øÍ u¸P. 

8. Define ‘Bonus shares’. 

 ‘ªøP £[SPÒ’ Áøμ¯Ö. 

9. What is meant by ‘Voluntary winding up’? 

 ‘uõ÷©  •ßÁ¢x Pø»zuÀ’ GßÓõÀ GßÚ? 

10. Define ‘Defunct Company’. 

 ‘ö\¯¼Ç¢u {Ö©®’ Áøμ¯Ö. 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How to become a member? 

   J¸Áº GÆÁõÖ {Ö©zvÀ EÖ¨¤ÚμõP»õ®? 

Or 

 (b) State the rights of members. 

   EÖ¨¤ÚºPÎß E›ø©PøÍ TÖP. 

12. (a) Indicate the levels of management. 

   ÷©»õsø©°ß {ø»PøÍ SÔ¨¤kP. 

Or 

 (b) Mention the qualifications of an auditor. 

   uoUøP¯õÍ›ß uSvPøÍ SÔ¨¤kP. 
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13. (a) What are periodic returns? 

   •øÓ¯õÚ uõUPÀPÒ GßÓõÀ GßÚ? 

Or 

 (b) State the various types of reports. 

   AÔUøP°ß £À÷ÁÖ ÁøPPøÍ TÖP. 

14. (a) Point out the rules regarding dividends. 

   £[Põuõ¯® öuõhº£õÚ \mhÂvPøÍ SÔ¨¤kP. 

Or 

 (b) Indicate the duties of secretary regarding payment 
of dividends. 

   £[Põuõ¯® ÁÇ[SuÀ öuõhº£õÚ ö\¯»›ß 

Phø©PøÍ SÔ¨¤kP. 

15. (a) State the duties of a liquidator. 

   J¸ {Ö© Pø»¨£õÍ›ß Phø©PøÍ TÖP. 

Or 

 (b) Write a note on ‘modes of Windings’. 

   ‘{Ö©U Pø»¨¤ß •øÓPÒ’ £ØÔ SÔ¨¦ ÁøμP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the liabilities of members. 

 EÖ¨¤ÚºPÎß ö£õÖ¨¦UPøÍ ÂÁ›. 

17. State the duties of an auditor. 

 uoUøP¯õÍ›ß Phø©PøÍ TÖP. 
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18. Explain the different types of returns. 

 uõUPÀPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

19. List out the kinds of dividends. 

 £[Põuõ¯zvß ÁøPPøÍ £mi¯¼kP. 

20. What are the powers of a liquidator? 

 J¸ {Ö©U Pø»¨£õÍ›ß AvPõμ[PÒ ¯õøÁ? 

 

 

 
———————— 
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U.G. DEGREE EXAMINATION, APRIL 2021 & 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you understand by accounting? 

 “PnUQ¯À” Gß£x £ØÔ }Âº AÔÁx ¯õx? 

2. What do you mean by Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

3. Name the various kinds of Cash Book. 

 öμõUP HkPÎß ÁøPPøÍ u¸P. 

4. What is Petty Cash Book? 

 ]À»øÓ öμõUP Hk GßÓõÀ GßÚ? 

5. What is Bank Reconciliation Statement? 

 Á[Q \›UPmk® £mi¯À GßÓõÀ GßÚ? 

Sub. Code 
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6. List any two reasons for difference between Pass Book 
and Cash Book. 

 Á[Q ö\Àö»mkUS® öμõUP HmkUS® Cøh°»õÚ 

÷ÁÖ£õmiØPõÚ Põμn[PÒ CμsiøÚ £mi¯¼kP. 

7. What is Suspense Account? 

 AÚõ©zx PnUS GßÓõÀ GßÚ? 

8. What is Casting Errors? 

 Áõº¨¦ ¤øÇPÒ GßÓõÀ GßÚ? 

9. Give the meaning of the term" Provision". 

 “JxUS” GßÓ £uzvß ö£õ¸Ò u¸P. 

10. What does Adjusting Entries Mean? 

 “\›UPmk¨£vÄPÒ” Gß£vß ö£õ¸Ò GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Give Journal Entries for the following Transactions. 

2019 
Jun 

1 Kumar Started Business with 
Cash 

Rs.1,00,000

 2 Paid Salary for the staff Rs.5,000

 3 Cheque received from Kaniyan Rs.10,000

 4 Deposited the above Cheque into Bank 

 5 Sold Good to Krishnar for Cash Rs.60,000

 8 Paid Arun by Cheque Rs.2,500

 15 Purchases from Ganesh Rs.25,000
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  ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£mk £vÄPøÍ 
u¸P. 

2019 
áüß 

1 S©õº öμõUPzxhß öuõÈÀ 
öuõh[Q¯x 

¹.1,00,000

 2 FÈ¯ºPÐUS Fv¯® ÁÇ[Q¯x ¹.5,000

 3 PÛ¯Ûhª¸¢x ö£Ó¨£mh 
Põ÷\õø» 

¹.10,000

 4 ÷©ØPsh Põ÷\õø»ø¯ Á[Q°À öh£õ]m 
ö\´ux 

 5 Q¸èn¸US öμõUPzxUS ÂØÓ 
\μUS“ 

¹.60,000

 8 Põ÷\õø» ‰»® £n® ö\¾zv¯ 
A¸s 

¹.2,500

 15 P÷næhª¸¢x öPõÒ•uÀ ¹.25,000

Or 

 (b) Distinguish between Book-Keeping and Accounting. 

  ¦zuP £vÄ ©ØÖ® PnUQ¯À BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

12. (a) What is Subsidiary Books? Explain the different 
types of Subsidiary Books. 

  xøn HkPÒ GßÓõÀ GßÚ? xøn HkPÎß 
£À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Enter the following transactions in the Cash Book. 

2019 
May 

1 Cash in Hand Rs.10,100

 3 Cash Sales Rs.10,600
 5 Received from Vinoth on A/c Rs.2,800
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 7 Paid into Bank Rs.20,000
 12 Paid for Postage Rs.200
 15 Received interest on investment Rs.200
 18 Cash pruchase Rs.5,000
 20 Withdrew from Bank for expenses Rs.2,700

 R÷Ç öPõkUP¨£mkÒÍ |hÁiUøPPøÍ öμõUP¨ ¦zuPzvÀ 
GÊuÄ® : 

2019 
÷© 

1 øP°¸¨¦ öμõUP® ¹.10,100

 3 öμõUP ÂØ£øÚ ¹.10,600

 5 Â÷Úõz PnUQ¼¸¢x ö£ØÓx ¹.2,800

 7 Á[Q°À ö\¾zu¨£mhx ¹.20,000

 12 Ag\À Pmhn® ö\¾zv¯x ¹.200

 15 •u½miÀ ö£Ó¨£mh Ámi ¹.200

  18 öμõUP öPõÒ•uÀ ¹.5,000

 20 ö\»ÂÚ[PÐUPõP Á[Q°À C¸¢x 
Gkzux 

¹.2,700

  

13. (a) State the need for preparation of Bank 
Reconciliation Statement. 

  Á[Q \›UPmk® £mi¯À u¯õ›UP ÷Ási¯uß 
AÁ]¯® GßÚ?  

Or 

 (b) From the following information, prepare a Bank 
Reconciliation Statement: 

  (i) Balance as per Cash Book Rs.12,500 

  (ii) Cheque deposited but yet to be collected        
Rs. 1,200 
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  (iii) Cheque issued but not presented for payment     
Rs.  900 

  (iv) Bank paid Insurance Premium Rs.500 

  (v) Bank Charges Rs.140 

  (vi) Interest on investment collected by Bank        
Rs.  200 

  (vii) Direct deposit by a Customer 800 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Á[Q \›UPmk® 
£miø¯z u¯õ›UPÄ®. 

  (i) öμõUP Hmiß £i C¸¨¦ ¹.12,500. 

  (ii) Á[Q ö\¾zv÷¯ Põ÷\õø» CßÝ® Á`À 

ö\´¯¨£hÂÀø» ¹.1,200 

  (iii) ÁÇ[P¨£mh Põ÷\õø» CßÝ® 

£n©õUP¨£hÂÀø» ¹.900 

  (iv) Á[] ö\¾zv¯ Põ¨¥mk ¤Ÿª¯® ¹.500 

  (v) Á[Q Pmhn® ¹.140 

  (vi) Á[Q Á`À ö\´u •u½k «uõÚ Ámi- ¹. 200 

  (vii) Á[Q°À J¸ ÁõiUøP¯õÍ›ß ÷|μi øÁ¨¦ 

¹.800 

14. (a) Pass necessary Rectifying Journal Entries to rectify 
the following errors, which were discovered after 
the preparation of Trial Balance: 

  (i) A Sale of Rs.400 to Baby, was wrongly credited 
to her account. 

  (ii) A Purchase of Rs.134 had been posted to 
creditor's account as Rs.l20. 

  (iii) The Total of Returns inward book for 
December had been Cast Rs.200 short 

  (iv) The Sales Book was undercast by Rs.500 

  (v) Salaries Paid Rs. 2,416 posted in Salaries 
Account as Rs. 2,461 
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  C¸¨£õ´Ä u¯õ›UP¨£mh ¤ßÚº Psk¤iUP¨£mh 
¤ßÁ¸® ¤øÇPøÍ \› ö\´¯ ÷uøÁ¯õÚ v¸zu 
£vÄPøÍ u¸P. 

  (i) ÷£¤US  ¹.400 ÂØ£øÚ, AÁμx PnUQÀ 
uÁÓõP ÁμÄ øÁUP¨£mhx. 

  (ii) öPõÒ•uÀ ¹.134 PhÚõÎ°ß PnUQÀ GÚ 

¹.120 GÚ GkzxU öPõÒÍ¨£mhx. 

  (iii) i\®£¸UPõÚ EÒ v¸¨£ Hmiß ö©õzu® 

¹.200 SøÓÁõP C¸¢ux 

  (iv) ÂØ£øÚ Hk ¹.500 SøÓÁõP 
©v¨¤h¨£mkÒÍx. 

  (v) \®£Í® ÁÇ[Q¯x ¹.2,416 \®£ÍU PnUQÀ 

¹.2,461 GÚ Gkzx GÊu¨£mhx 

Or 

 (b) The following errors were found in the books of 
Prabhakar & Sons. Give the necessary entries to 
correct them. 

  (i) Salary of Rs. 2,000 paid to a Mohan due to him 
has been debited to his personal account. 

  (ii) Rs. 3,000 paid in Cash for a typewriter was 
charged to office expenses account. 

  (iii) Rs. 10,000 paid for furniture purchased has 
been charged to Purchase account. 

  (iv) Repairs made were debited to Building 
account for Rs. 500. 

  (v) An Amount of Rs. 1,000 withdrawn by the 
Proprietor for his personal use has been 
debited to trade expenses account. 

  (vi) Rs. 400 Received from Shanthi & Co has been 
wrongly entered as Shajahan & Co., 
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  ¤μõ£Pº Aß \ßì HkPÎÀ ¤ßÁ¸® ¤øÇPÒ 
Psk¤iUP¨£mhx. AÁØøÓ \› ö\´¯ ÷uøÁ¯õÚ 
v¸zu £vÄPøÍ u¸P. 

  (i) ÷©õPÝUS ö\¾zv¯ \®£Í®  ¹.2,000 –I 
AÁμx PnUQÀ £ØÖ øÁUP¨£mkÒÍx. 

  (ii) umha_¨ ö£õÔUS ö\¾zv¯ öμõUP® ¹.3,000 –
I A¾Á»P ö\»ÄPÒ PnUQÀ GÊu¨£mhx. 

  (iii) AøÓUP»ß Áõ[P ö\¾zv¯ öμõUP® ¹.10,000 
–I öPõÒ•uÀ PnUQÀ GÊu¨£mhx. 

  (iv) £Êx£õº¨¦ ö\»Ä ¹.500 –I Pmih® PnUQÀ 
£ØÖ øÁUP¨£mhx. 

  (v) E›ø©¯õÍμõÀ ö\õ¢u £¯ß£õmkUS  

GkUP¨£mh öuõøP ¹.1,000 Â¯õ£õμ ö\»Ä 
PnUQÀ £ØÖ øÁUP¨£mhx. 

  (vi) \õ¢v Aß ÷PõÂh® ö£ØÓ öuõøP  ¹.400 –I 
uÁÖu»õP åõáPõß Aß ÷Põ £v¯¨£mhx. 

15. (a) Prepare a Profit & Loss Account from the following 
extracted from the Trial Balance of  
Mr. Seetharaman for the year ending 31.12.2019. 

Purchases 1,00,000 Discount Allowed 400
Salary 4,000 Bad debts 1,200
Insurance 2,000 Telephone Charges 1,100
Wages 1,500 Gas, Water & Fuel 500
Advertisement 1,400 Trade Expenses 900
Office Rent 1,000 Gross Profit 22,000
Carriage Inwards 800 Rent Received 1,000
Printing and  
stationery 

1,200 Sales  1,40,000

Salesmen’s Salary 3,200   
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  31.12.2019 Ehß •iÁøh²® BsiØPõP  
v¸. ^uõμõ©Ûß C¸¨£õ´ÂÀ ¤›zöukUP¨£mh 
ÁØÔ¼¸¢x C»õ£ |mhU PnUøP u¯õ›UPÄ®.  

öPõÒ•uÀ 1,00,000 uÒÐ£i AÎzux 400
\®£Í® 4,000 ÁõμõUPhß 1,200
Põ¨¥k 2,000 öuõø»÷£]  

Pmhn[PÒ 
1,100

T¼ 1,500 G›Áõ², }º ©ØÖ® 
G›ö£õ¸Ò 

500

ÂÍ®£μ® 1,400 ÁºzuP ö\»ÄPÒ 900
A¾Á»P ÁõhøP 1,000 ö©õzu »õ£® 22,000
EÒ v¸¨£® 800 ÁõhøP ö£ØÓx 1,000
Aa_ ©ØÖ® 
GÊxö£õ¸Ò 

1,200 ÂØ£øÚ 1,40,000

ÂØ£øÚ¯õÍº 
\®£Í® 

3,200   

Or 

 (b) From the following particulars of Mrs. Rahamath, 
Prepare a Balance sheet. 

Capital 1,00,000 Sundry Debtors 40,000
Building 1,10,000 Loan from Mr. Ram 10,000
Bills Receivable 7,000 Investments 6,000
Furniture 5,000 Drawing by Raja 6,000
Cash in Hand 5,400 Net Profit 77,800
Cash at Bank 2,000 Closing Stock 14,000
Bills Payable 5,000 Sundry Creditors 31,600
Plant and  
Machinery 

9,000 Gross Profit 28,910
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  v¸©v μí©zvß ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 

C¸¨¦{ø»U SÔ¨¦ u¯õ›UPÄ®. 

‰»uÚ® 1,00,000 £Ø£» PhÚõÎPÒ 40,000

Pmih® 1,10,000 v¸. μõªhª¸¢x 

Phß  

10,000

ö£ÖumS›¯ ©õØÖ 

^mk 
7,000 •u½kPÒ  6,000

AøÓP»ß 5,000 μõáõÂß Gk¨¦PÒ 6,000

øP°¸¨¦ öμõUP® 5,400 {Pμ »õ£® 77,800

Á[Q°¸¨¦ öμõUP® 2,000 CÖv \μUQ¸¨¦ 14,000

ö\¾zuØS›¯ 

©õØÖ^mk 
5,000 £Ø£» PhÜ¢÷uõº 31,600

ÁÍõP® ©ØÖ® 

C¯¢vμ[PÒ 
9,000 ö©õzu »õ£® 28,910

 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following balances of Shriman, Prepare a Trial 
Balance as on 31.12.2019. 

Shirman’s Capital 15,000 Purchases  15,000

Drawings 1,000 Sales 20,000

Bank Balance 2,000 Printing and Stationery 6,000

Bank Overdraft 5,000 Loan from Amir 8,000

Discount Allowed 1,000 Loan to Zaheer 3,000

Discount Earned 2,000 Machinery 10,000

Salary 5,000 Cash in Hand 7,000
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 ÿ©õÛß ¤ßÁ¸® C¸¨¦PÎ¼¸¢x 31.12.2019 ß £i 
C¸¨£õ´Ä u¯õº ö\´P. 

ÿ©õÛß ‰»uÚ® 15,000 öPõÒ•uÀ 15,000
Gk¨¦PÒ 1,000 ÂØ£øÚ 20,000
Á[Q C¸¨¦ 2,000 Aa_ ©ØÖ® 

GÊxö£õ¸Ò 
6,000

Á[Q 
÷©ÀÁøμ¨£ØÖ 

5,000 A«›hª¸¢x Phß 8,000

uÒÐ£i AÎzux 1,000 áõR¸US Phß 3,000
uÒÐ£i ö£ØÓx 2,000 C¯¢vμ® 10,000
\®£Í® 5,000 øP°¸¨¦ öμõUP® 7,000

17. Entre the following transactions of a trader in a Three 
Column Cash Book. 

2019 
Nov, 

1 Nizam started business with Rs.1,00,000

 2 Deposited into Bank Rs.95,000
 5 Purchased a Building for Rs.70,000 

and paid by Cheque 
 10 Purchased Machine Rs.20,000 and 

paid by Cheque 
 25 Paid Freight Rs.50
 29 Withdraw from Bank for Personal 

use 
Rs.500

 30 Cleared Electricity Bill Rs.90

 J¸ ÁºzuP›ß ¤ßÁ¸® |hÁiUøPPøÍ •¨£zv öμõUP 
HmiÀ EÒÎhÄ®. 

2019 
|Á, 

1 {áõ® ¹.1,00,000 I öPõsk öuõÈÀ 
öuõh[QÚõº. 

 2 Á[Q°À öh£õ]m ö\´¯¨£mhx ¹.95,000 
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 5 J¸ Pmih® ¹.70,000US Áõ[P¨£mhx. AuØPõP 
Põ÷\õø» ‰»®  ö\¾zu¨£mhx, 

 10 C¯¢vμ® ¹.20,000  AuØPõP Põ÷\õø» ‰»®  
ö\¾zu¨£mhx, 

 25 \μUS Pmhn® ö\¾zv¯x ¹.50 

 29 ö\õ¢u £¯ß£õmiØPõP Á[Q°À C¸¢x Gkzux 

¹.500 

 30 ªß\õμ Pmhn® ö\¾zv¯x ¹.90 

18. Prepare a Bank Reconciliation Statement from the 
following data on 31.11.2019. 

 (a) Balance as per Bank Pass Book Overdraft Rs. 9,204 
 (b) Cheques drawn on 30.11.2019 but not cleared till 

Dec. 2019 Rs.3,225, Rs.745 and Rs. 926. 
 (c) Bank overdraft interest charged on 28.11.2019 not 

entered in the cash book Rs. 1,610 
 (d) Cheques received amounting to Rs.35 entered in 

cash book twice. 
 (e) Cheques received on 29.11.2019 entered in cash 

book but not deposited into Bank Rs. 11,322 and  
Rs. 1,730. 

 (f) A periodic payment by the Bank for the Rs.80 
understanding  instruction not entered in the cash 
book. 

 (g) Cheques deposited on 30.11.2019 discounted but the 
entry was not made in the cash book Rs.1,890 

 31.11.2019 AßøÓ¯ ¤ßÁ¸® uμÄPÎ¼¸¢x Á[Q 
\›UPmk® £miø¯z u¯õ›UPÄ®. 

 (A) Á[Q ö\À÷»miß £i ÷©ÀÁøμ £ØÖ C¸¨¦ 
¹.9,204 

 (B) 30.11.2019 AßÖ Áøμ¯¨£mh Põ÷\õø»PÒ BÚõÀ 
i\®£º 2019 Áøμ £n©õUP¨£hõuøÁ •øÓ÷¯ 
¹.3,225, ¹.745, ©ØÖ® ¹.926. 



A–10144

  

  12

 (C) 28.11.2019 AßøÓ¯ Á[Q ÷©ÀÁøμ£ØÖ «uõÚ 
Ámi ¹.1,610 CßÝ® öμõUP HmiÀ 
GÊu¨£hÂÀø». 

 (D) ¹.35 ©v¨¤»õÚ ö£Ó¨£mh Põ÷\õø»PÒ Cμsk  

•øÓ öμõUP HmiÀ GÊu¨£mhx. 

 (E) 29.11.2019 AßÖ ö£Ó¨£mh Põ÷\õø»PÒ ¹.11,322 

©ØÖ® ¹.1,730 öμõUP HmiÀ GÊu¨£mhx. BÚõÀ 

Á[Q°À ö\¾zu¨£hÂÀø». 

 (F) Á[Q¯õÀ ¦›¢xnºÄ AÔÄÖzu¼ß£i SÔzu 

Põ»[PÎÀ ö\¾zu¨£mh ¹.80 öμõUP HmiÀ 

GÊu¨£hÂÀø». 

 (G) 30.11.2019 AßÖ öh£õ]m ö\´¯¨£mh Põ÷\õø»PÒ 

¹.1,890 Ámh® ö\´¯¨£mhx. BÚõÀ öμõUP HmiÀ 

GÊu¨£hÂÀø». 

19. In taking out a Trial Balance a Book-Keeper finds that 
the total exceeds the credit total by Rs. 352. This was 
posted to a suspense account credit side and the following 
errors were discovered. Prepare Rectifying Entries and 
the Suspense Account. 

 (a) Sales Day Book was overcast by Rs. 100 

 (b) A Sale of Rs. 50 to Sriram was wrongly debited to 
Srikrishna. 

 (c) General Expenses Rs. 18 was posted as Rs. 80 

 (d) Cash received from Govind was debited to his 
account as Rs. 150. 

 (e) The Purchases Day Book total of One Page was 
carried forward to the next Rs. 1,235 was entered as 
Rs. 1,325. 
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 J¸ PnUPõÍº C¸¨¦ B´Ä u¯õ›US® ÷£õx ÁμÄ 
TmhÀ ¹.352 AvP©õP C¸¢uøu AÔ¢uõº. AuøÚ 
AÚõ©zx PnUQß ÁμÄ £UPzvÀ GÊv¯x® ¤ßÁ¸® 
¤øÇPÒ Psk¤iUP¨£mhx. v¸zu £vÄPÒ u¢x 
AÚõ©zx PnUøPz u¯õ›UPÄ®. 

 (A) ÂØ£øÚ Hk ¹.100 AvP©õP Tmh¨£mhx. 

 (B) ÿμõ®–US ÂØÓx ¹.50 uÁÖu»õP ÿ Q¸ènõ 
PnUQÀ £ØÖ GÊu¨£mhx. 

 (C) ö£õx ö\»ÄPÒ ¹.18, ¹.80 GÚ Gkzx GÊu¨£mhx. 

 (D) ÷PõÂ¢vh® C¸¢x ö£ØÓ öμõUP® ¹.150 AÁº 
PnUQÀ £ØÖ øÁUP¨£mhx. 

 (E) öPõÒ•uÀ Hk J¸ £UPzv¼¸¢x ©Ö£UP® 

GÊx®÷£õx ¹.1,235–US £v»õP uÁÓõP ¹.1,325 
GÚ GÊu¨£mhx. 

20. Prepare Trading, Profit and Loss A/c and Balance Sheet 
from the following Ledger Balances extracted from the 
Books of Mr. John for the year ended 31.12.2019. 

Debit Balance Rs. Credit Balance Rs.
Opening Stock 2,00,000 Capital 10,00,000
Machinery 4,00,000 Sales 9,00,000
Purchases 7,00,000 Purchase Returns 10,000
Sales Returns 10,000 Creditors 2,90,000
Wages 20,000  
Salaries 50,000  
Office Rent 20,000  
Insurance 10,000  
Debtors 5,00,000  
Cash 40,000  
Bank 2,50,000  
 22,00,000  22,00,000
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 Adjustments : 

 (a) Closing stock is valued at Rs.2,00,000 

 (b) Outstanding Salaries Rs.10,000  

 (c) Prepaid Insurance Rs.5,000 

 (d) Provide 10% Depreciation on Machinery. 

 31.12.2019 Ehß •iÁøh¢u BsiØPõÚ v¸. áõÛß 
HkPÎÀ GkUP¨£mh ¤ßÁ¸® ÷£÷μk C¸¨¦PÎ¼¸¢x 
Â¯õ£õμ PnUS. C»õ£ |mh PnUS ©ØÖ® C¸¨¦{ø»U 
SÔ¨¦ BQ¯ÁØøÓz u¯õ›UPÄ®. 

£ØÖ C¸¨¦ ¹. ÁμÄ C¸¨¦ ¹.

öuõhUP \μUQ¸¨¦ 2,00,000 •uÀ  10,00,000

C¯¢vμ® 4,00,000 ÂØ£øÚ 9,00,000

öPõÒ•uÀ 7,00,000 öPõÒ•uÀ v¸¨£® 10,000

ÂØ£øÚ v¸¨£® 10,000 PhÜ¢÷uõº 2,90,000

T¼ 20,000  

\®£Í® 50,000  

A¾Á»P ÁõhøP 20,000  

Põ¨¥k 10,000  

PhÚõÎPÒ 5,00,000  

öμõUP®  40,000  

Á[Q 2,50,000  

 22,00,000  22,00,000

 \›UPmkuÀPÒ : 

 (A) CÖv \μUQ¸¨¦ ¹.2,00,000 

 (B) {¾øÁ°¾ÒÍ \®£Í® ¹.10,000 

 (C) •ßTmi ö\¾zv¯ Cß`μßì ¹.5,000  

 (D) C¯¢vμ® «x 10% ÷u´©õÚ® AÝ©vUP. 
 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Baumol's principle? 

 ö£õÆ÷©õÀ uzxÁ® GßÓõÀ GßÚ? 

2. State the meaning of business economics. 

 ÁoP¨ ö£õ¸Î¯¼ß ö£õ¸øÍU TÖP. 

3. What is equi marginal utility? 

 \© CÖv{ø»¨ £¯ß£õk GßÓõÀ GßÚ? 

4. What is marginal utility? 

 CÖv{ø»¨ £¯ß£õk GßÓõÀ GßÚ? 

5. State the meaning of demand. 

 ÷uøÁ Gß£vß ö£õ¸øÍU TÖP. 

6. What is effective demand? 

 EÖvz ÷uøÁ Gß£x ¯õx? 
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7. What is indifference schedule? 

 \©÷|õUS £mi¯À GßÓõÀ GßÚ? 

8. What is indifference curve? 

 \©÷|õUS ÁøÍ÷Põk GßÓõÀ GßÚ? 

9. Explain the term demand forecasting. 

 ÷uøÁ •ßPo¨¦ Gß£øu ÂÍUSP. 

10. What is expert's opinion poll method of forecasting? 

 {¦nº P¸zx Kmk•øÓ •ßPo¨¦ •øÓ GßÓõÀ 
GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions. 

11. (a) Define Business Economics. Discuss the role and 
responsibility of a Business economist. 

  Â¯õ£õμ¨ ö£õ¸Íõuõμ® Áøμ¯Ö. Auß 
ö\¯À£õkPÒ ©ØÖ® ö£õÖ¨¦UPøÍ GÊxP. 

Or 

 (b) Profit is the prime motive of any business - Discuss. 

  Â¯õ£õμzvß •UQ¯÷|õUP® C»õ£®&ÂÁ›. 

12. (a) Mention the limitations of law of diminishing 
marginal utility. 

  SøÓ¢x ö\À CÖv{ø»¨ £¯ß£õmk Âv°ß 
SøÓ£õkPøÍ öu›ÂUP. 

Or 

 (b) Describe the Law of Equi-marginal utility. 

  \© CÖv{ø» £¯ß£õmk Âv&ÂÁ›. 
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13. (a) State and explain the law of demand. 

  ÷uøÁ Âv°øÚU TÔ ÂÍUSP. 

Or 

 (b) Explain demand curve. 

  ÂÁ›: ÷uøÁ ÁøÍ÷Põk. 

14. (a) Discuss the shape of the short-run and long run cost 
curves of a firm. 

  {ÖÁÚzvß SÖQ¯ Põ» ©ØÖ® }sh Põ» ö\»ÄU 
÷PõkPÎß ÁiÁzøu ÁõvUPÄ®. 

Or 

 (b) Explain the concept of budget line. 

  ÁμÄ ö\»Ä ÷Põk GßÓ P¸zvøÚ ÂÍUSP. 

15. (a) Explain the methods of demand forecasting. 

  ÷uøÁ •ßPo¨¦ •øÓPøÍ ÂÍUSP. 

Or 

 (b) State the objectives of short-term demand 
forecasting. 

  SÖQ¯ Põ» ÷uøÁ •ßPo¨¤ß SÔU÷PõÒPøÍU 
TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the scope of Business Economics. 

 ÁoP ö£õ¸Î¯¼ß ö\¯Ø£μ¨ø£ ÂÁ›UP. 

17. Explain the law of Diminishing marginal utility. 

 SøÓ¢x ö\À CÖv{ø»¨ £¯ß£õmk Âv&ÂÁ›. 
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18. State the factors that determine elasticity of demand. 

 ÷uøÁ ö|QÌa]ø¯ {ºn°US® £À÷ÁÖ PõμoPøÍ 
TÖP. 

19. Enumerate the practical uses of the concept ‘Consumer 
Equilibrium’. 

 ‘~Pº÷Áõº \©{ø»’ GßÓ P¸zvß |øh•øÓ £¯ßPøÍ 
GÊxP AÀ»x £mi¯¼kP. 

20. Define demand forecasting. What are the factors involved 
in demand forecasting? 

 ÷uøÁ •ßPo¨¦ Áøμ¯Ö. AuØS›¯ PõμoPÒ ¯õøÁ? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Account current? 
 |øh•øÓ PnUS GßÓõÀ GßÚ? 

2. What is Grace days? 
 P¸øn |õmPÒ GßÓõÀ GßÚ? 

3. What are capital receipts? 
 ‰» uÚ ÁμÄ GßÓõÀ GßÚ? 

4. Define : Revenue receipts. 
 Áøμ¯Ö : Á¸Áõ´ ÁμÄ. 

5. What is Debtors ledger? 
 PhÚõÎPÒ ÷£÷μk GßÓõÀ GßÚ? 

6. What is creditors ledger? 
 PhÜ¢÷uõº ÷£÷μk GßÓõÀ GßÚ? 

7. What are the features of single entry? 
 KØøÓ¨ £vÂß ußø©PÒ ¯õøÁ? 
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8. What is conversion method? 
 ©õØÓ® •øÓ GßÓõÀ GßÚ? 

9. What is meant by Annuity? 
 Á¸hõ¢u® GßÓõÀ GßÚ? 

10. What is wear and tear? 
 AouÀ ©ØÖ® QÈuÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions. 

11. (a) Under what circumstances account current is 
prepared? 

   G¢öu¢u `Ì{ø»PÎÀ |øh•øÓU PnUS 
u¯õ›UP¨£kQÓx? 

Or 

 (b) Kasthuri ownes Viji the following sums of money 
due on the dates stated : 

   Rs. 400 due on 5th January. 2009. 
  Rs. 200 due on 20th January, 2009. 
  Rs. 800 due on 4th February, 2009. 
  Rs. 100 due on 26th February. 2009. 
  Rs. 50 due on 10th March, 2009.   

   Calculate such a date when payment may be made 
by Kasthuri in one instalment resulting in no loss to 
either party.  

   Pìy› RÌUPsh ÷uvPÎÀ RÌUPsh öuõøPPøÍ 
ÂâUS öPõkUP ÷Ási²ÒÍx. 

   ¹. 400, 2009 áÚÁ›, 5–À öPõkUP ÷Ási²ÒÍx 
  ¹. 200, 2009 áÚÁ›, 20–À öPõkUP ÷Ási²ÒÍx 
  ¹. 800, 2009 ¤¨μÁ›, 4–À öPõkUP ÷Ási²ÒÍx 
  ¹. 100, 2009 ¤¨μÁ›, 26–À öPõkUP ÷Ási²ÒÍx 
   ¹. 50, 2009 ©õºa, 10–À öPõkUP ÷Ási²ÒÍx 

    ¯õ¸US® |mh÷©Ø£hõ©À Pìy›¯õÀ J÷μ ÷uv°À 
GÀ»õ uÁønPøÍ²® ö\¾zuÂ¸®¤ÚõÀ •vºÄ 
÷uvø¯ PnUQkP. 
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12. (a) What are the uses of income and expenditure 
account? 

   Á¸©õÚ ö\»Ä PnUQß £¯ßPÒ ¯õøÁ? 

Or 

 (b) From the following particulars, calculate the 
amount to be shown in the Income and Expenditure 
A/c during the year 2014-15 : 

 Rs. 

Subscription received in 2014-15 for :  

2013 – 14 10,000

2014 – 15 90,000 

2015 – 16 8,000

Subscription outstanding in 2013 – 14 15,000

Subscription outstanding in 2014 – 15 20,000

Subscription received in advance in 2013-14 : 

For 2014 – 15 13,000

For 2015 – 16                                      4,000

Life membership subscription received in 2014 – 15  2,000

   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PøÍ öPõsk 2014 – 
15–® BsiØPõÚ Á¸Áõ´ – ö\»Âß PnUQÀ 
GÆÁõÖ ÷uõßÖ® GßÖ PnUQkP. 

 Rs. 

\¢uõ ö£ØÓx 2014-15 :  

2013 – 14 10,000

2014 – 15 90,000 

2015 – 16 8,000

\¢uõ öPõk£h ÷Ási¯x 2013 – 14 15,000

\¢uõ öPõk£h ÷Ási¯x 2014 – 15 20,000
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\¢uõ •ßTmi ö£ØÓx 2013-14 : 

2014 – 15 13,000

2015 – 16                                      4,000

ÁõÌ|õÒ EÖ¨¤Úº \¢uõ ö£ØÓx 2014 – 15  2,000

13. (a) What are the uses of self balancing system? 

   uõ÷Ú C¸¨¦ \›UPmk® •øÓ°ß £¯ßPÒ ¯õøÁ? 

Or 

 (b) From the following details prepare Bought ledger 
adjustment account in General Ledger. 

 Rs. 

Creditors (1.1.2008) Cr. 25,000

Creditors (1.1.2008) Dr. 200

Credit purchases 25,200

Discount allowed to debtors  1,100

Purchase returns 700

Cash paid to creditors  13,000

Bills accepted for creditors 7,500

Cash purchases 4,300

Transfer from debtors to creditors Ledger 1,200

Cash sales                                        7,000

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö£õx¨ ÷£÷μmiÀ 
öPõÒ•uÀ ÷£÷μmka \›UPmkuÀ PnUS 
u¯õ›UPÄ®. 

 ¹. 

PhÜ¢÷uõºPÒ (1.1.2008) ÁμÄ 25,000

PhÜ¢÷uõºPÒ (1.1.2008) £ØÖ 200

Phß öPõÒ•uÀ 25,200
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 ¹. 

PhÚõÎPÐUS AÎzu uÒÐ£i 1,100

öPõÒ•uÀ v¸¨£® 700

PhÜ¢÷uõ¸USU öPõkzu öμõUP® 13,000

PhÜ¢÷uõ¸UPõP HØP¨£mh Esi¯À 7,500

öμõUP öPõÒ•uÀ 4,300

PhÚõÎPÎhª¸¢x PhÜ¢÷uõºPÒ  
÷£÷μmkUS ©õØÔ¯x 

1,200

öμõUP ÂØ£øÚ                               7,000

14. (a) What are the difference between single entry 
system and double entry system? 

   JØøÓ¨ £vÄ •øÓUS® Cμmøh¨ £vÄ •øÓUS® 
EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) A trader who does not keep proper books of accounts 
gives you the following particulars : 

 1.1.2007 31.12.2007

 Rs. Rs. 

Debtors 5,300 8,800

Creditors 1,500 1,950

Stock 1,700 1,900

Fixed assets 2,140 1,740

  Other particulars : 
 Rs. 

Total sales (Cash sales Rs. 500) 10,000

Total purchases (Cash Rs. 2,050) 4,500

General expenses                  1,000
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Drawings 300

Cash balance                        410

Payment for fixed assets            500

  He had drawn goods of Rs. 500 for his personal use. 
Interest on capital @ 5% p.a. Prepare Trading profit 
and loss a/c for the year ended 31.12.2007 and a 
balance sheet on that date. 

   J¸ Â¯õ£õμ uÚx öuõÈÀ |hÁiUøPUPõÚ 
E£¯£v÷ÁkPøÍ øÁzv¸UPõ©À AÁμx öuõÈÀ 
£ØÔ¯ ÂÁμ[PøÍ RÌUPshÁõÖ u¸QÓõº. 

 1.1.2007 31.12.2007

 ¹. ¹. 

PhÚõÎPÒ 5,300 8,800

PhÜ¢÷uõº 1,500 1,950

\μUQ¸¨¦ 1,700 1,900

{ø»¯õÚ ö\õzxUPÒ 2,140 1,740

  ¤Ó ÂÁμ[PÒ : 

 ¹. 

ö©õzu ÂØ£øÚ (öμõUP ÂØ£øÚ ¹. 500) 10,000

ö©õzu öPõÒ•uÀ (öμõUP ¹. 2,050) 4,500

ö£õxa ö\»ÄPÒ 1,000

Gk¨¦PÒ 300

öμõUP C¸¨¦ 410

{ø»¯õÚ ö\õzxUPÐUS ö\¾zv¯x 500

  uÚx ö\õ¢u E£÷¯õPzvØPõP \μUS Gkzux ¹. 500. 

•uÀ «uõÚ Ámi BsiØS 5%. 31.12.2007–À 
•iÄÖ® BsiØPõÚ Â¯õ£õμ, »õ£ |mh 
PnUSPøÍ²® AßøÓ¯ ÷uv°À, C¸¨¦{ø»U 
SÔ¨ø£²® u¯õ›UPÄ®. 
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15. (a) Explain: Straight line method of depreciation. 
   ÂÁ› ÷|º÷Põmk •øÓ ÷u´©õÚ®. 

Or 

 (b) On 1.1.05 a company purchased 5 machines at  
Rs. 10,000 each. On 1.7.07 the company purchased 
another 2 machines for Rs. 10,000 each and paid  
Rs. 1,000 for installation expenses. Accounts are 
closed on 31st December every year. Annual 
depreciation is 10%. On 31.12.07 the company sold 
the machines purchased on 1.1.05 for Rs. 30,000. 
Prepare Machinery account on diminishing balance 
method. 

   1.1.05 AßÖ J¸ {Ö©® I¢x C¯¢vμ[PøÍ 

JÆöÁõßÖ® ¹. 10,000 Ãu® Áõ[Q¯x. 1.7.07 
AßÖ A¢u {Ö©® ÷ÁÖ Cμsk C¯¢vμ[PøÍ 

JÆöÁõßÖ® ¹. 10,000 Ãu® Áõ[Q ö£õ¸zxuÀ 

ö\»ÁõP ¹. 1,000 ö\¾zv¯x. JÆöÁõ¸ Bsk® 

i\®£º 31 À PnUSPÒ •iUP¨£mhx. Bsk 

÷u´©õÚ® 10 \uÃu®. 1.1.05 AßÖ Áõ[Q¯ 

C¯¢vμVVPøÍ A¢u {Ö©® ¹. 30,000 ØS ÂØÓx. 
SøÓ¢u ö\À C¸¨¦ •øÓ°À C¯¢vμ P/S 
u¯õ›UPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mr. Saleem in Account Current with Kareem and the 
following transactions have taken place between January 
1 and April 30 :      

 January 1   Received goods from Kareem Rs. 3,067 
due end of February 

 January 19 Sold goods to Kareem Rs. 1,269 due end 
of April. 

 February 3 Paid cash to Kareem Rs. 1,300 

 February 12 Received goods from Kareem Rs. 4,985 
due end of March. 
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 February 26  Accepted Kareem’s draft Rs. 3,500 at  

2 months due 

 March 21  Received Cash from Kareem Rs. 1,900. 

 April 5  Received goods from Kareem Rs. 2,763 

due end of July. 

 Prepare Account Current to be rendered by Saleem to 

Kareem as at 30th April, reckoning interest at 6% pa.                

v¸. \½®, PŸ® Gß£Á¸hß PnUQ¯À Kmh® 

øÁzxÒÍõº. RÌUPshøÁ AÁºPÎøh÷¯  

 áÚÁ› 1   •uÀ H¨μÀ 30 Áøμ |øhö£ØÓ 
|hÁiUøPPÒ 

 áÚÁ› 1  PŸªh¸¢x ö£ØÓ \μUS ¹. 3,067, 
¤¨μÁ› Pøh]°À öPõkUP 
÷Ási²ÒÍx 

 áÚÁ› 19  PŸ•US ÂØ£øÚ ¹. 1,269, H¨μÀ 
Pøh]°À öPõkUP ÷Ási²ÒÍx 

 ¤¨μÁ› 3  öμõUP® ö\¾zv¯x ¹. 1,300 

 ¤¨μÁ› 12  PŸªhª¸¢x ö£ØÓ \μUS ¹. 4,985 ©õºa 
Pøh]°À öPõkUP ÷Ási¯x 

 ¤¨μÁ› 26  PŸªß ©õØÖa^mk ¹. 3,500 US 2 ©õu 
uÁøn°À 

 ©õºa 21  öμõUP® ö£ØÓx (PŸªhª¸¢x) ¹. 1,900. 

 H¨μÀ 5  PŸªhª¸¢x \μUS ö£ØÓx ¹. 2,763 
áüø» Pøh]°À öPõkUP ÷Ási¯x 

v¸. \½®, PŸ•US H¨μÀ 30 Áøμ AÎUP÷Ási¯ 

PnUQ¯À Kmhzøuz u¯õº ö\´P. 6% Ámi BskUS 
PnUQkP.                



A–10330

  

  9

17. The following particulars relate to the Pudukottai club 

for the year ended 31.12.2006 and you are required to 

prepare Income and expenditure and Balance sheet. 

Summary of Cash Book 

 Rs.  Rs. 

Balance from last year  2,350 Salaries 1,200

Entrance fees  300 Electricity 120

Subscriptions :  Newspaper etc 525

2005 – 50  Fixed deposits  2,500

2006 – 3,500  Utensils 200

2007 – 75 3,625 Creditors 1,000

Profits from refreshments 100 Balance on 31.12.06 1,150

Locker rent             200  

Sundry income           120  

 6,695  6,695

 The assets and liabilities on January 2006 were : 

 Utensils Rs. 800; Furniture Rs. 2,500, Consumable stores 

Rs. 350, Creditors Rs. 1,200. 

 On 31.12.06 the value of consumable stores was Rs. 700, 

Creditors Rs. 550, the subscriptions outstanding were  

Rs. 75 and the interest accrued on fixed deposits was 

estimated at Rs. 25. 
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RÌUPsh ÂÁμ[PÒ 2006 i\®£º 31–À •iÄØÓ 
BsiØS ¦xU÷Põmøh QÍ¨ø£ ÷\º¢uøÁ¯õS®. 
CÁØÔ¼¸¢x Á¸©õÚ ö\»Ä PnUøP²® C¸¨¦{ø»U 
SÔ¨ø£²® u¯õ›UP. 

öμõUP Hmiß _¸US® 

 ¹.  ¹. 

Bμ®£ C¸¨¦ 2,350 \®£Í® 1,200
~øÇÄU Pmhn® 300 ªß\õμ® 120

\¢uõUPÒ :  ö\´vzuõÒ 525

2005 – 50  {ø» øÁ¨¦UPÒ 2,500

2006 – 3,500  £õzvμ[PÒ 200

2007 – 75 3,625 PhÜ¢÷uõº 1,000
]ØÖsi°À ö£ØÓ »õ£® 100 31.12.06 –À C¸¨¦ 1,150

ö£mhP ÁõhøP            200  
£ÀÁøP Á¸©õÚ® 120  

 6,695  6,695

 áÚÁ 1, 2006–À ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ. 

 £õzvμ[PÒ ¹. 800, ©øÚz xøn¨ö£õ¸mPÒ ¹. 2,500, 
~PμUTi¯ \õ©õßPÒ ¹. 350, PhÜ¢÷uõº ¹. 1,200. 
31.12.06 –À ~PμUTi¯ \õ©õßPÎß ©v¨¦ ¹. 700, 
PhÜ¢÷uõºPÒ ¹. 550, Áμ÷Ási¯ \¢uõ ¹. 75, 
{ø»øÁ¨¦z öuõøP «x ÷\º¢xÒÍ ©v¨¤h¨£mh Ámi 
¹. 25. 

18. Find out total purchase and total sales from the following 
details by making necessary account : 

 Rs. 

Opening balance of sundry debtors 50,000

Opening balance of sundry creditors 30,000

Cash collected from sundry debtors 3,00,000

Discount received 1,500

Cash paid to sundry creditors 20,000
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 Rs. 

Discount allowed 5,000

Return inwards 6,000

Return outwards 8,000

Closing balance of sundry debtors 35,000

Closing balance of sundry creditors 25,000

Cash purchase 12,000

Cash sales 24,000

 ÷uøÁ¯õÚ PnUSPøÍ u¯õº ö\´x ö©õzu öPõÒ•uÀ 

©ØÖ® ö©õzu ÂØ£øÚø¯ PõsP. 

 ¹. 

£Ø£» PhÚõÎPÒ – öuõhUP C¸¨¦ 50,000

£Ø£» PhÜ¢÷uõº – öuõhUP C¸¨¦ 30,000

£Ø£» PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 3,00,000

ö£ØÓ uÒÐ£i 1,500

£Ø£» PhÜ¢÷uõ¸US AÎzu öμõUP® 20,000

AÎzu uÒÐ£i 5,000

EÒ v¸¨£® 6,000

öÁÎz v¸¨£® 8,000

£Ø£» PhÚõÎPÒ – CÖv C¸¨¦ 35,000

£Ø£» PhÜ¢÷uõº – CÖv C¸¨¦ 25,000

öμõUP öPõÒ•uÀ 12,000

öμõUP ÂØ£øÚ 24,000
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19. Mr. Ram commenced business on 1.4.2000 with a capital 

of Rs. 37,500. He immediately bought furniture for  

Rs. 6,000. During the year, he borrowed Rs. 7,500 from 

his wife as loan. He has withdrawn Rs. 10,800 for his 

family expenses. From the following particulars you are 

required to prepare. Trading and Profit and Loss Account 

and Balance Sheet as on 31 March 2001. 

Particulars Rs. 

Cash received from sundry debtors 60,500

Cash paid to sundry creditors  87,500

Cash sales 50,000

Cash purchases 20,000

Carriage inwards 2,250

Discount allowed to Sundry debtors 2,000

Salaries  2,500

Office expenses 2,000

Advertisement  2,500

Closing balance of Sundry debtors  37,500

Closing balance of Sundry creditors 25,000

Closing stock 17,500

Closing cash balance  21,950

 Provide 10% depreciation on furnitures. 



A–10330

  

  13

 v¸. μõ® 1.4.2000 AßÖ ¹. 37,500 •uÀ øÁzx 

Â¯õ£õμ® öuõh[QÚõº. AÁº EhÚi¯õP Áõ[Q¯ 

AøÓP»Ûß ©v¨¦ ¹. 6,000, Bsiøh°À AÁº uÚx 

©øÚÂ°hª¸¢x ¹. 7,500 PhÚõP¨ ö£ØÓõº. AÁº uÚx 

Sk®£ ö\»ÄUPõP ¹. 10,800 v¸®£ Gkzuõº. 

 RÌPsh ÂÁμ[PøÍU öPõsk 2001 ©õºa 31 ® |õ÷Íõk 

•iÁøh²® BsiØS›¯ Â¯õ£õμ C»õ£ |mh 
PnUøP²® A¢|õøÍ¯ C¸¨¦ {ø»USÔ¨ø£²® u¯õº 
ö\´P. 

ÂÁμ[PÒ ¹. 

£Ø£» PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 60,500

£Ø£» PhÜ¢÷uõ¸US AÎzux 87,500

öμõUP ÂØ£øÚ 50,000

öμõUP öPõÒ•uÀ 20,000

EÒyUSU T¼ 2,250

£Ø£» PhÚõÎPÐUS AÎzu uÒÐ£i 2,000

\®£Í® 2,500

A¾Á»Pa ö\»ÄPÒ 2,000

ÂÍ®£μ® 2,500

£Ø£» PhÚõÎPÎß CÖv C¸¨¦ 37,500

£Ø£» PhÜ¢÷uõ›ß CÖv C¸¨¦ 25,000

CÖv \μUQ¸¨¦ 17,500

CÖv øP öμõUP® 21,950

 AøÓP»ß «x 10% ÷u´©õÚ® AÝ©vUP. 



A–10330

  

  14

20. A company whose accounting year is the calendar year 
purchased on 1st April 2004 machinery costing Rs. 30,000. 

 It purchased further machinery on 1st October 2004 
costing Rs. 20,000 and on 1st July 2005 costing  
Rs.  10,000. On 1st January 2006, one third of the 
machinery installed on 1st April 2004 became obsolete 
and was sold for Rs. 3,000. 

 Show how machinery account would appear in the books 
of the company, it being given that machinery was 
depreciated under Fixed Instalment Method at 10% pa. 

J¸ {Ö©® uÚx BskU PnUøP Põ»shº Bsk 
•øÓ°À øÁzxÒÍx. 1.4.2004 AßÖ J¸ C¯¢vμzøu 
¹. 30,000 US Áõ[Q¯x. 

1.10.2004 AßÖ «sk® J¸ C¯¢vμzøu ¹. 20,000 
US®, 1.7.2005 AßÖ ÷ÁÖ J¸ C¯¢vμzøu ¹. 10,000 
US Áõ[Q¯x. 1.4.2004 AßÖ Áõ[P¨£mh C¯¢vμ® 
£¯ß£hõu `Ì{ø»°À, AvÀ ‰ßÔÀ J¸ £Sv 
C¯¢vμ® 1.1.2006 AßÖ ¹. 3,000 US ÂØP¨£mhx. 

{Ö© ¦zuPzvÀ C¯¢vμU PnUøP u¯õº ö\´P. 
C¯¢vμzøu {ø»z uÁøn ÷u´©õÚ •øÓ 
Ai¨£øh°À 10% Ãu® Á¸hzvØS ÷u´©õÚ® 
PnUQh¨£kQÓx. 

 
———————— 


